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33121180/506 winjwils Guguwl swihdwl uwnp (innundbwnp) 9L hwin 4200 80 336.0
33141110/509 Yhpwlwwbip L hwin 48.7 30000 1461.0
33141110/510 Yppwlwwbp < huwin 97 1000 97.0
33141111/501 Yy uwybnwupubp G< hwn 103 6000 618.0
33141115/501 pdoluljul puipwly 9< hwn 172 5000 860.0
33141129/506 nhuwly SL hwwn 5.976 50000 298.8
33141129/507 nhuwly T huwin 85 1000 85.0
33141131/503 Upjnit Yepgubint dwwwybu wdpwlubipny (dgnun) a< huitn 270 100 27.0
33141136/523 Yupbinbplbp Q< huin 39.2 1000 39.2
33141136/524 uwpbinbputp 9z huitn 38.8 6000 232.8
33141136/525 Juwphinbptibp qc huin 37.8 15000 567.0
33141136/526 upbwnbpubp 9< huwin 40.9 15000 613.5
33141136/530 Lwpbwnbpubip <L hwin 8000 70 560.0
33141138/501 Luiupnyus L huwin 105 1000 105.0
33141138/502 Lty L hwin 293 200 58.6
33141142/509 bpuwplhstbip q< hwtn 125 30000 375.0
33141142/511 Ubpwplhstbp qc hwtn 8.75 20000 175.0
33141142/512 ubipwiplhsubp G< hwin 23 100000 930.0
33141142/513 tibipuwiplyhstbp ac huwitn 14 60000 840.0
33141142/514 Ubipwplpstbp 94 hwin 15.5 100000 1550.0
33141142/515 ubpuiplhstibip ac hwin 20.75 60000 1245.0
33141142/516 Ubpwplhsutp S< hwin 22.7 30000 681.0
33141142/517 Ubpuiplhstibp q< huwn 58.9 30000 1767.0
33141142/518 ubpuplhsutin 9< huwn 68.9 500 345
33141144/510 pdowljuwit wubnubp SL hwn 13.85 30000 415.5
33141144/511 pdoywljwi wubinubp G hwin 20 300 6.0
33141144/512 pdoluljul wubinubp < huwin 6.5 10000 65.0
23141144/513 pdoluilut wutintbp q< huin 4.7 40000 188.0
33141156/502 pdolwlwl dbnungubp < hwin 8.7498 400000 3499.9
33141158/502 yphpwpnidwlwl sbntinglbp < qnuq 75 20000 1500.0
33141160/502 unungh| 250,0 YL huwiwn 189.84 500 94.9
33141178/508 nbnGph Ubpwpldwl hwdwlwpgtp qc huwwn 38.9 50000 1945.0
33141178/509 nbnbph Ubpwplydwt hwdwlwpgbp qc hwin 130 40000 5200.0
33141211/687 pda4wilwt wy| gnpdhplibp — wwpwgwubp < hwun 95 15000 1425.0
33141410/501 nwpw wuwhgh hwdwp untphy, 1004 < hwin 39.984 500 20.0
33141410/502 inwpi wuwihgh hwdwp unbphpy, 1004 Q< hwun 42 8000 336.0
33161220/504 swjwinb thwjinb L hwun 3.2 4000 12.8
33191260/501 wipwu hnfutibpwpliwb sunwwnpdutp < hwwn 13900 30 417.0
33191310/527 thnpawunpubp q< hwiwn 16.8 120000 2016.0
33191310/528 thnpawlnpubp ac hwwn 16.8 50000 840.0
33191310/529 \hnpawlinpUbp a< huwin 25 10000 250.0
33191310/530 thnpdwunpubp QL hwiwn 39 25000 975.0
33191310/531 thnpdwbnpubin QL huwin 38 2000 76.0
33191650/504 pdoywlwl hwgnuwin QL hwn 135 15000 2025.0
33191650/505 pdolwljw hwgnitn o< huwin 6 7000 42.0
33691423/501 |wpnpuitnnp wanwbmpbp (nbwgbtinibp) pugiulndynubum Qg [ntuljuagul 2600 100 260.0
38411200/509 oliptwswthtin G hwin 600 50 30.0
38431720/513 Ywpnghlutiph Suypuwljwutip a< huwiwn 1.59 80000 127.2
38431720/514 Lwpnghlubipp dwypwljwubp 9 huin 0.63 350000 205
24311530/503 onwdLh whpopuhn q< jhinp 599 300 179.7

CrpaHuia 1




31651200/506 EYS dwwwybl prine < huun 639 600 383.4
33141110/511 Uppuwiluugtp q< huwin 850 3000 2550.0
33141111/502 Guysn il uwjbinuuputip a< huwwn 140 15000 2100.0
33141111/503 Luysnits uwybnwiuhbp < huwin 83 1000 83.0
33141118/506 wudkinnghlubp 9L huwtn g.3 60000 558.0
33141118/507 wudknnghlubp 9L huwin 4.1 70000 287.0
33141143/501 ulwph$hljwinnp Q< huitn 3.33 30000 99.9
33141144/514 pdolywljwl wubinubp G< hwin 1130 1000 1130.0
33141144/515 pdoluluw wubinubp < huwin 6800 300 2040.0
33141144/516 pdoluluwt wubinubp 9 huwitn 10000 200 2000.0
33141144/517 pdolulyuits wubinubip q< hwin 7500 25 187.5
33141144/518 pdsoljwljwl wubnubp q< hwn 4750 800 3800.0
33141144/520 pdoywlyut wubinubp qC hwiwn 1500 1000 1500.0
33141144/525 pdoljwljut wubnubp 9< hwwn 1500 300 450.0
33141144/526 pdolwiljwl wubnubp Q< hwitn 1500 300 450.0
33141144/527 pdolwljut wubnubp G hwin 250 1000 250.0
33141144/528 pdoljwluil wubnubp q< huwin 400 50 20.0
33141211/710 pdawlwl w) gnpshpubip — wwpwgqwlbp QL hwwn 1960 15000 29400.0
33141211/ pdohwlwl wy gnpdhplbip — wWwpwgwubp QL huwin 1345 1000 1345.0
33 21/712 pdawlwl wyj gnpdhpubip — wwpwgwbp < hwwn 6280 96 602.9
33141211/713 pdplulwil wy gnpdhplbip — wuwipwgwlbp q< hwin 1680 200 336.0
33141211/714 pdolwlw wy gnpdhplbp — wwpwgwbp GL huuwn 200000 72 14400.0
33141211/715 pdalwlwi wyj gnpdhpubip — wwpwguwubp Q< hwn 100000 300 30000.0
33141211/716 pdalulwty wyj gnpdhpubip - wwpwguwubp q< hwn 6800 500 3400.0
33141211/717 pooluiluit wyj gnpdhpubip — Wwpwgwubp < hwin 8800 500 4400.0
33141211/719 pdaywlwl w)| gnpdhpubp — wwpwgqubp SC hwn 425 3000 1275.0
33141211/7 21 pdolwlwl wy) gnpdhpubip — wwpwgwubp 9L " huin 179.41 5000 897.1
33141211/722 pdalwlwl w)) gnpdhpubip - wwpwagwubp 9L huin 67 15000 1005.0
33141211/729 pcalwliuit wy) gnpdhpubp - Wwpwgwtp < huwwn 3300 100 330.0
33141211/730 peplwliwl wy gnpdhpubp - wWwpwgwbp L hwwn 102000 1 102.0
33141211731 pdalwlut wy| gnpdhpubin — wWwpwgwbp < hwin 160000 3 480.0
33141211/732 pdoljwlput wy| gnpdhpubp — Wwpwqwbp <L hwwn 99.48 4000 397.9
33141211/733 pdolwluit wy| gnpdhpubp — wwpwgwubp RS hwwn 696 100 69.6
33141211/734 pdoluwilwl wy| gnpdhplbip — Wwpwgwubp QL hwin 104 1000 104.0
33191310/532 thnpawunpubp qL hwin 11.5 40000 460.0
33191310/533 thnpéutinplbn q< hwn 14 18000 252.0

Utinhwuppht MediScreen 10/Utigh dbg quningh, wpjw,

uwhinwlymgh, pH, Yawnnuubph, wbuwyuwpwn Yonh,
33211110/502 Wit ilrighabtin, AEARRURGEG — phifanihh G hwin 2472 40 98.9

npngUwl phue unphwubph hwdwpwsdnt
33631241/504 pinphtipupnhup jnidnyp 9L |htnp 1350 800 1080.0
33631241/505 pinphbipuhnhup (ndnyR < hunp 1150 400 460.0
33631250/504 Lpwn| d08ax08, v03abl6, v03az01 L [htnp 1100 700 770.0
33631250/505 bpwun d08ax08, v03ab16, v03az01 G< |htnp 970 1000 970.0
33691167/501 Jwpnpwinnp edwtinwl — ghnwlwt Wnyebp 9L hwun 15000 120 1800.0
33691167/502 Jwpnpwinnp odwtnwly — ghnwlwy nyabip L hiun 12000 180 2160.0
33791300/522 JWpnpwnnp wywljw wpnwnputp 9L huwn 14200 500 7100.0
38431491/501 wwwlj whinphh puu q< hwin 33.7 10000 337.0
39821100/501 Uwppnn Unyabip wdnuhwlh hpdph dpw A< hwwn 100 30 3.0
44423600/503 Yuysnil dwwwybulibp < hwiwn 3.28 20000 65.6
18311190/503 fuwpup qc hwwn 447 100 44.7
33141114/501 pdobwliwl pwugh (wpyw) (wiunyainiup’ 90ud L dbwnp 68 2000 136.0
33141121/503 Uhpwpnidwlywu phijbp QL hwin 315 30 9.5
33141121/504 Yhpwpnidwlyw phjbp QL hwn 315 30 9.5
33141121/505 Uhpwpnidwlyw phybp < hwn 315 100 31.5
33141121/506 Uhpupniduiljwl phibp a< hwwn 315 100 315
33141121/507 Uhpwpnidwlwl phbp L hwn 140 30 4.2
33141121/508 Uppwpnidwljwt phbp S< hwn 140 30 4.2
33141121/509 Uhpwpnidwlywl ph)bp 9L huwin 140 300 42.0
33141121/510 ppwipnidwlul ehjbn oc huwin 140 300 42.0
33141121/51 Uppwpnidwlw phibp 9L hiutn 140 50 7.0
33141121/512 Yhpwpnidwlwl phjbp < huitn 20 0.0
33141121/513 yhpwpnidwlwl phjbp QL huitn 20 0.0
33141121/514 Yhpwpnidwlwl phibp 9L huwin 30 0.0
33141136/534 Yuwpbinbplbp qc hwtn 50 0.0
33141157/502 Upunwipubip — uwypbip L huwin 23 200 4.6
33141157/503 Upunwplbip — uwypbip <L hwwn 23 200 4.6
33141173/501 dbgh wnwpwlubp Q< huwin 102 700 71.4
33141173/502 dbgh wnwypwlubp a1 huwwn 32 500 16.0
33141182/503 hputhnntp (apBuwdtbn) q< hwtn 20 0.0
33141182/504 hpwihnntip (npbuwdubip) q< hwin 15 0.0
33141182/505 Uhpwihnnbip (npEuwdutp) Q< hwun 15 0.0
33141182/506 Uppwithnntp (npbwdutip) < hwn 18000 20 360.0
33141184/501 Uhpwihnnbiph (npbuwdubiph) wwpwawubp < hwtn 4000 50 200.0
33141202/504 Pdoljwlw bEwpnnubp GL hwitn 2 0.0
33141211/735 pdouiljuiy wyj gnpdhpubip — wwpwguwubp < hwtn 550 30 16.5
33141211/736 pcbolwiljwits wyj gnpdhpubip — wwpwgwbp Q< huwwn 550 30 16.5
33141211737 pdoluiljwi wyj gnpdhpubip — wwpwgwbp QL hwwn 5000 10 50.0
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33141211/738 pdolwlwl wy gnpdhpubp — wwpwguutp < hwn 10500 5 52.5
33141211/739 pdayuiywits wy) gnpdhplbip — wwpwquibp L hwn 11000 2 22.0
33141211/740 pdowiljuiti wyj gnpdhplbip — wwpwguwbp QL hwin 45000 1 45.0
331412117741 pdolulyut wy) gnpdhpubp — wwpwguwubp 9L hwwn 1790 20 35.8
331412114742 pdalwlju wy| gnpdhpubp — wwpwgwbp < hwn 1795 30 53.9
33141211/743 pdolwlu wy| gnpdhpubn — wwpwgwbp 9L hwiwn 5 0.0
33141211/744 pdoluilwl w)) gnpdhpubip — Wwpwgwubp L hwn 1300 5 6.5
33141211/745 pdolyuwlywls wy gnpdhpubip - Wwpwgqwltp 9L huwin 800 150 120.0
33141211/746 poolwiliuity wy) gnpdhpubip — Wwpwgwbtp YL hwn 64920 24 1558.1
33141211/747 pdalwlwi wy gnpdhpubip — wWwpwgwhbp Q<L huwin 54960 24 1319.0
33141211/785 pealwilw wy gnpdhpubip — Wwpwgwttp 9L hwiwn 49920 24 1198.1
33141211/786 poolwliw w) gnpdhpubip — wwpwgwlbp QL hwwn 45000 24 1080.0
33141211/787 pdoljwliut wy| gnpdhpubp — wWwpwgwbp QL hwwn 3 0.0
33141211/788 pdaluwilwili wy| gnpshpubp — wwpwgwubp QL hwn 200 0.0
33141211/789 pdalwlwl w) gnpshpubip — wwpwgwubp L hwn 100 0.0
33141211/790 pdaliwlwit wy gnpdhplbip — wwpwgubp G< hwwn 6960 100 696.0
33141212/512 pdaljwlput wy Ynyatip < huwin 30 0.0
33141221/501 Uhpwthnnbip (ppbuwdubinh) pwquiwlndunubun wwpwquitibp < (rwlwgd 1992.43 40 79.7
33141223/545 pdolwlwt wy gnpdhpubn — wwpwguibp pugiwlndwnubu, 9L (nwljuqud 3500 100 350.0
33171400/521 Ubpwlbunuwiwgdw nhdwly 9L huwin | 0.0
33171400/522 Ybpwlblinwlwgduiu nhdwl a< huwin 1 0.0
33171400/523 Ubpwlbinwuwgdwu nhdwy L hwin 1 0.0
33171500/503 Fughnnipu) wlgquiwgiwl hwwpwdniibp Yud hwphbpubp Q< huwwn 2706 10 27.1
33791300/523 |wpnpwnp wwywljw wpnwnpuip < hww 6 15000 90.0
33791300/524 WpnpWnhp wwywyjw wpnwnputp L hwn 1.26 100000 126.0
39299110/501 wwywlyl updwltibp L hwin 142 5000 710.0
33141136/536 Ywpbwnbpubp QL hwwn 167 20 3.3
33141136/537 Ywpbwnbpubp L hwwn 167 20 3.3
33141136/538 Ywpbwnbpubip YL hwiwn 167 20 3.3
33141136/539 Ywpbnbptbp qc hwiwn 167 150 25.1
33141136/540 uwpbwnbpubp L hwiwn 167 200 33.4
33141136/541 Yuptinbpubp YL hwn 167 180 30.1
33141136/542 Yuwptinbpubip L hwiwn 167 20 3.34
33141136/561 Lwpbnbpubp q< huwin 202 20 4.0
33141183/518 gnuntip &< huwtn 65 20 1.3
33141183/519 qnlinbip qc huwtn 65 30 1.95
33141183/520 qntintip a< huwtn 65 30 1.95
33141183/522 qnuntip < huwin 65 30 1.95
33141183/524 qnlintip 9< huwtn 65 30 1.95
33141183/525 qnunbip 9L huin 65 40 2.6
33141183/526 antintip 9 hwtn 65 5 0.3
33141202/505 Pdoljwlwl bblwpnnubp <L huin 29.5 6000 177.0
33141207/522 Punnipwghwih wwpwgwubp 9< huwin 10 0.0
33141207/523 hunnipwghwh wwpwguwibp L hwwn 10 0.0
33141207/524 huwnnipwghwih wwpwguwibp L hwn 20 0.0
33141207/525 huwnnipwghwih wwpwgwtip 9 hwwn 1000 10 10.0
33141207/526 huwnnipwghuwh wwpwgwubn < huin 1000 20 20.0
33141207/527 huwnnipwghuwh wwpwgwubp QL hwin 1000 20 20.0
33141207/528 huwnnipwghwih wwpwgwubp QL hwwn 1000 20 20.0
33141207/529 Punnipwghuh wwpwgwubp G hwin 1000 20 20.0
33141207/530 Punnipwghwih wwpwguwtip < hwin 1000 50 50.0
33141207/531 huunnipwghuwih wwpwgwlbp qc hwin 1000 100 100.0
33141207/532 Punnipwghuwih wwpwguubp < hwwn 1000 10 10.0
33141211/791 pdawlwl w) gnpshpubp — wwpwgutibip < huwn 15000 30 450.0
33141211/792 pdalwlwl w) gnpdhplbp — wwpwgquubp QL hwin 18000 50 900.0
33141211/793 pdowilwi wyj gnpdhpubip — wWwpwguubp 9L hwn 549 500 274.5
33141211/794 pdowljwts wy| ghpdhpubp — wwpwgqwubp QL hww 549 1000 549.0
33141211/795 pdolwlwl w)| gnpdhpubp — wwpwgqwubp < huwin 549 500 274.5
33151220/501 pRYwduW U nhuwy < hwin 260 500 130.0
33151220/504 pRUwslw b nhdwl a< hutn 350 100 35.0
33151220/505 PRUWSUWAY nhuwl q< huwin 480 100 48.0
33171400/527 Ybpwybtunwiwgdwl nhdwy 9L hwin 7000 2 14.0
33171400/528 Ybpwhbtunwuwgdwu nhdwly < hwun 7000 2 14.0
33171400/529 UbpwlEtunwliwgdwl nhiwl q< hwin 7000 20 140.0
37411330/502 nhdwlubp, jwuwnbp Gund suswnwlwy unpndwlubp QL hwtn 800 10 8.0
37411330/503 nhuwlubn, (wunbp Gud suswnwlwt unnndwiubn q< huitn 800 10 8.0
37411330/504 nhdwlubin, (wuwnbp Gud sbswnwlwl unnndwubp 9L hwin 800 10 8.0
15991700/501 $Phpnph e 9E Yhingpuwd 6000 2 12.0
24311530/504 opwdlh whpopuhn L pup 600 10 6.0
24311570/502 Bnpwd gnip L hinp 799.9 500 400.0
31651200/502 EY4S dwwui|bl pnine < hwwn 1490 15 22.4
33141136/501 Ywpbwntpubp 9L hwn 70 100 7.0
33141136/511 Lwpbwnbpubp 9< huwtn 70 100 7.0
33141136/512 Ywpbwnbputn qc hutn 158 250 39.5
33141136/514 luwpbnbpubp oc hwwn 7999 100 799.9
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33141136/515 Yuwphinbpubp QL huwwn 11800 100 1180.0
33141144/501 pdoljwliwt wubinubp 9 hwtn 1.9 2000 23.8
33141144/502 poauwlwi wubinubp QL hwn 5200 100 520.0
33141202/502 Pdaoluilyuts Eblunpnntbp ac hwin 33 2000 66.0
33141211/502 pd2lwljwt wy gnpdhplibip — wwpwgqwlbp QL hwn 540 400 216.0
33141211/503 pdolwljut wy gnpdhplibp — wwpwgwlbp 9L hwn 12000 10 120.0
33141211/504 pd7wlwt wy gnpdhputip — wwpwgwubp < hwin 390 500 195.0
33141211/505 pdolwlwl wy ghpdhplbip — wwpwqwubp 9L hwin 127 5000 635.0
33141211/506 pdaywlwl wy| gnpdhplibp — wwpwawubp QL hwn 48 5000 240.0
33141211/507 pdaywluiti wy) gnpdhplbip — wwpwqwubp QL hwn 45 1000 45.0
33141211/508 pdolwliwl wy gnpdhplbip — Wwpwgwubp <L hwin 45 3000 135.0
33141211/509 pdalwiljut wy gnpdhplbin — wwpwguwlbp 9L huwwn 858 200 171.6
33141211/510 pdolwliwl wy gnpdhplubip — wWwpwgwubp 9< huwtn 858 200 171.6
33141211/511 pdaljulpwt wy| gnpdhplbp — wwpwgwlbp 4L huwin 858 200 171.6
33141211/512 pdolwlwl wy gnpdhplbip — wwpwgwlbp QL hiutn 60000 2 120.0
33141211/515 pdolwlwl wy gnpdhpubp — wwpwqubnp < huitn 24.51428571 7000 171.6
33141211/516 pdolwljwl wy) gnpdhpubip — wwpwguwbp a< huuwn 12.98 7000 90.9
33141211/517 pdlwlw wy gnpdhpubin — wwpwquiibp 9L huwin 150 1000 150.0
33141211/518 pdolwlwl wyj gnpshpubip — wwpwquitiip 9< hwin 2300 2 4.6
33141211/520 pdobwlwts wy) gnpdhpubip — wwpwguwbp 9< hwin 370 6000 2220.0
33141211/52 pdalwlywt wy) gnpdhpubip — wwpwguiibp L huwin 124 15000 1860.0
33141211/522 pobolwlwt wyj gnpdhpubp — wwpwgwbp L huwiwn 35000 30 1050.0
33141211/523 pdalwlyut wy| ghpdhpubp — wwpwgwbp L hwwn 1270 800 1016.0
33191310/504 thnpawbinpubp qc huitn 350 6000 2100.0
33191310/505 thnpéwnpubp < hwun 32 7000 224.0
33191310/506 thnpwtinputp qc hwin 66 2100 138.6
33191310/507 thnpdwunputp < hwin 98 500 49.0
33691176/584 w)| nbnnpwjp QL hwin 70 100 7.0
33791300/504 [Wpnpuwnnp Wwwljw wpunwnpuup L hwn 98 16000 1568.0
33791300/505 Jwpnpwnnp wwwljw wpnwnputp G hwin 4 12000 48.0
33791300/512 JwpnpWnnp wwwljw wpnwnputp G hwin 1.8996 5000 9.498
3511320/501 dhgniyuiht — nwnhninghwlwl wwonwwunipiwt hwgniun qc hwwn 177000 3 531.0
38431710/502 Luwpenghliubp qc hwn 14 8000 112.0
38431710/503 Ywpenghljubp qc hwin 16899 6 101.4
38431710/505 Lwpenghlutp qc hwwn 16899 6 101.4
38431720/501 Luwpnghljutinh duypuiljuwutbn qc hwmn 13.625 42240 575.5
38431720/502 Yuwipnghlubph dwipwlwiubn QL hwn 12.375 42240 522.7
38431720/504 Yuwpnghlubiph dwipulwitbp ac huwin 0.8 30000 24.0
38431720/507 Lwpnghlubiph dwjpwlwubp QL hwun 0.45 25000 11.3
38431720/508 Ywenghlubph dwipwlw)utp 8L hwwn 84 19200 1612.8
33131220/501 winwduwpnidwlywl niubhubp L huin 1430 3 4.3
33141143/502 uljwph$hlwnnp < hwn 80 1000 80.0
33141157/504 tgtnwplibip — uwpbp 9L huin 990 2 2.0
33141182/507 Jhpwihnnbp (nphtwdubp) q< hwn 8800 15 132.0
33141182/508 yhpwihnnbin (npbuwdutip) < huin 8800 15 132.0
33141202/506 Pdalywlyw jllpnpnnubp < hwwn 5000 2 10.0
33141 211/527 pcholjuilwit wy| gnpéhpubip — wwpwgwubp 9L hwwn 6900 200 1380.0
33141211/528 pdaoywljwl wy| gnpdhpubp — wwpwgqwubp L hwun 8900 100 890.0
33141211/530 pdolwlwl wy| gnpdhpubp — Wwpwgwubp QL hwwn 468 5 2:3
33141211/531 pdoluilwit wyj gnpéhpubip — Wwpwgwbp G< hww 62 2000 124.0
33141211/532 pdolwilyut wy| gnpdhpubp — wwpwgwbp 9 hwin 12000 1 12.0
33191310/509 thnpswlinpUtp qc hwin 2.52 2500 6.3
33191310/510 thnpawunpubp G hwin 27 600 16.2
33191310/511 thnpawlinptp qc hwn 23.84 100000 2384.0
33191312/501 wwwyl Ynpw G< hwin 2500 3 7.5
33191312/502 wiyulyb Ynjpw < huwin 3000 3 9.0
33191312/503 wuywll Ynpw SL hwtn 5000 3 15.0
33191316/501 wwyuwyl swihhs daugniplu’ hnyyws Yghyny Q< hwiwn 2256 4 9.0
33191318/501 wwwlb swihhs pudwl pudubswihny 1000 ac huwtn 500 2 1.0
33191318/502 wuywll swihhs pudwl pudubswihng 1004 o< huwtn 648 2 1.3
33191318/503 wiwlb swihhs pudwy pudubswihng 1004] S< hwin 900 2 1.8
33191318/504 wiywlb swihhs pwdwl pwdubswting 1004 < huwin 1400 2 2.8
33191318/505 wiuywlyt swphs pudwl pudtibswihng 1004, 9< huwin 1600 2 32
33191318/506 wywyl suiphs pwdwly pwdubiswding 1004 Q< hwin 1800 2 3.6
33191318/507 wuywilyls swihhs pudwly pudtibswihng 1004 9< huwtn 1500 2 3.0
33191560/501 Fusgoritgjull) grigswingb fotiubhusl BT o< hwtn 2300 30 69.0
hulynnnienit hpwywtwgubnt hwdwp)
33691160/691 phupwlw wgnwunipbp (nbwgbuwnubp) L huwin 1399 20 28.0
33791300/513 |wpnpwinnp wiywlbjw wpnwnpwlp AL huwin 1200 2 2.4
33791300/514 |Wpnpwtnnp wwwljw wpnwnpuup < hwiwn 2000 2 4.0
33791300/515 Jwpnpwinnp wwwljw wpinwngpwip q< hwiwn 1440 d 5.8
38311100/501 | Gltnpnliughl Gobnplbn — wwpwgquiibp qc hwin 29500 2 59.0
44163112/502 npbuwduiht hwdwlwpgtp q< huwun 33000 20 660.0
q< 0.0
ququjht bymphlp
24111160/501 pdolwljwt htnnily wanu qc fud 470000 9 4230000.0
33691141/502 pRUwahl v03an01 qc huin 2300 3000 6900000.0
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nennpuwyp

33611130/504 winpnuhu a03ba01, s01fa01 9< hwin 69.9 1500 104.9
33611170/501 npninwybipht a03ad02 qc huwin 375 1500 56.3
33611170/502 npnunwybpht al3ad02 < huwin 6 500 3.0
33611310/507 huunyhu S< hwin 4999.8 10 50.0
33611320/501 Ubpwpldwt htunyhl (jniddnn) alOab 9L hwn 5199 60 3.9
33611320/502 ubipwpldwl huunypt {jndynn) alOab G< hwiwn 5499 30 165.0
33611472/504 Shghipny, dndhlubip 9L hwin 90 400 36.0
33611472/505 Shatipn|, dndhlubip G hwin a7 200 17.4
33621160/501 wihuwlwwpnuwpent b02aall < hwin 800 200 160.0
33621360/506 gqlhgbiphy Enupwnpwin (Upinpngyhgbiphy) c01da02, c05ae01 9L hwn 799.8 200 160.0
33621390/501 wihnnwpnt c01bd01 9L hwin 196 150 29.4
33621720/501 phunwpnin) c07ab07 9L hwwn 9 400 3.6
33621740/501 wdjnnhughl c08ca01 qc hwn 5.6 800 45
33621761/501 wghwnhjuw|hghjwepnt, dwqtiighnwh hhnpopupn BO1AC30 G< hwin 10.5 10000 105.0
33631180/501 wpdwsh uny$wnhwghud06bali Q< hwin 1080 20 21.6
33631370/501 wunpwlniphnd phghjwin m03ac04 9L hwwn 270 150 40.5
33631410/501 winuyniphting m04aa0i Q< hwn 44 20000 880.0
33631430/505 nbpuliinnupndbit (nbipuljitinupndblh ipndbinwdn)) MO1AET7 G hwin 187 2400 448.8
33631430/506 nepuybnnupndbu (nbpultinnuypnblih tpndbinwdngy MOTAET7 | 9< huwin 129.9 300 39.0
33651111/501 wiopuhghiht j01ca04 q< huwin 168 500 84.0
33651112/503 widopuhghiht+pjwyni-jwbwpent j01cr2 QL huiwn 1480 5 7.4
33651125/501 wghppnuhghl j01fal0, s012a26 9 huwtn 258 500 129.0
33651163/502 wilhwghu d06ax12, j01gb06, sO1aa2l G hwin 1520 700 1064.0
33661115/503 priwghywlwght n01bb01 L huwin 229 70 16.0
33661142/501 wdpwnppupnpih n06aa09 QL huin 9 300 2.7
33661151/501 wghlynyhp d06bb03, j05ab01, s01ad03 qc hwtn 14.6 40000 584.0
33661151/502 wghljndhp d06bb03, j05ab01, s01ad03 L hww 2499 100 249.9
nbpuwdbipwgnu a0lac02, c05aa09, d07ab19, d07xb05, d10aa03,
33661153/503 h02ab0d2£ rmadl?smsmgzmbssm%bm‘ 502ba06, 503ba0! L hwin 21.3 30000 639.0
nbpuwdbpwgnu a0lac02, c05aa09, d07ab19, d07xb05, d10aa03,
33661153/504 hgzabodzt; rU}adt?SbSUlba_m,_smcbOl. $02ba06, s03ba0l < hwin 36.8 50000 1840.0
ntipuwdbpugnu a0lac02, c05aa09, d07ab19, d07xb05, d10aal3,
REAIRae0n h02ab02, r01ad03, s01ba01, s01ch01, s02ba08, s03ba01 s e =5 i 1647
33671114/501 wihunhiht ro3da05 qc hwn 35.72 1500 53.6
33671125/502 wuppopun| (wdppepunih hhnnnpinphry)  ROSCBO6, ROSCB QL hwwn 15 300 4.5
33671130/501 nhptuhhnpwihl d04aa32, d04aa32 qc hwin 21.9 20000 438.0
33691121/501 w|pbunwgn|p02ca03 QL hwn 171 30 5.1
33691136/504 uwinppnwh pinphry al2ca0l, b05cb01, b05xa03 G< huwn 213.9 1000 213.9
33691136/505 Uwwinppnwdh pinphry al2ca0l, b05cb01, b05xa03 G huwtn 220.9 4000 883.6
33691136/506 bwwnphnuh pinphn al2ca0l, b05¢b01, b05xa03 q< huwtn 226.8 90000 20412.0
33691136/507 twwnphnwh prphry al2ca0l, b05cb01, b05xa03 o huwtn 1300 2000 2600.0
33691136/508 Lwwnphnuwh pinphn al2ca01, b05cb01, b05xa03 9< hun 237.8 4000 951.2
33691136/509 twwnphnwh ppnphn al2ca01, b0Scb01, b05xa03 G hwwn 1400 5000 7000.0
33691136/510 uwwnphnwh pinphry al2ca01, b05cb01, b05xa03 < huwin 530 200 106.0
33691138/504 guniyng bOSex01, v04ca02, v06dcOl < huwin 237.9 9000 2141.1
33691138/505 qyniyng b05cx01, v04ca02, v06dc0l L hwwn 231.9 2000 463.8
33691176/569 w)| nbnnpwp < huwn 29980 150 4497.0
33691176/571 wj nhnnpuwp 9L hwn 4200 500 2100.0
33691176/572 wy| nhnnpup QL hww 88.8 1000 88.8
33691176/573 wy| nbnnpup q< hwwn 2200 700 1540.0
33691176/574 wy)| nbnnpwip QL hwn 516 2000 1032.0
33691176/575 wy| nhnnpwjp G< hwtn 227.8 1500 341.7
33691198/503 wnbdbinhnuht - A16AA02 < huin 1899 5000 9495.0
33691727/501 nbpuinpng (nbpuinpngh dnunhhnpuin) VOGDCOT, BOSCXO1 o huwtn 36.22 10000 362.2
33691731/501 nhnudbljinpin AO7BCOS L huin 149 2100 312.9
33691811/501 phuwlnnhy 9L huwin 36 700 25.2
33141166/501 hbwjwiphu GL hwin 974 1000 974.0
33611100/501 oubiypwgn| a02bc01 L huwitn 9.2 70000 644.0
33611120/503 $wdnnhnhu AO2BAO3 GL huwitn 368 3000 1104.0
33611140/503 olnwbubiinpnu a04aa01 G& huwin 270 30000 8100.0
33611140/504 ounwlubnpnt a04aa01 G< hwin 649 2000 1298.0
33611160/501 dbwnnlnupwihry a03fa01 q< huitn 40.98 1500 61.5
33611420/507 Luwighnuwih gymynuwwn al2aa03, d11ax03 9L huwin 87 10000 870.0
33611420/508 Yughnuwh gyniynbwn al2aa03, dilax03 9L huitn 129 10000 1290.0
33611470/502 wwhnnwpwgn a< huin 33.21 2000 66.4
33611470/503 wuwlnnwpuigng 9 huitn 1290 800 1032.0
33621120/501 Luopuwuwwpht b01ab05 G huwin 1069 13000 13897.0
33621230/503 Hnjwppnt b03bb01 a< huwitn 5 1500 7.5
33621590/501 bnipnubidhn c03cali g< huwin 22.286 20000 445.7
33621610/504 dwlhwnng a06ad16, b05bc01, b05cx04, r05ch1f < huwin 512.7 1500 769.1
wpbmuhgninl a07eall, c05aa04, d07aa03, d07xa02, h02ab06,
E r01ad02, sO01ba04, s01cb02, s02ba03, s03ba02 o i S e chis
33651118/501 gbtnphwpunt j01dd04 q< huwin 103 8000 824.0
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unybwdbipopuwgn| + tphdbenuyphd j01es01, j01ee02, j01e205,

33651131/504 016607 9< hwin 13.2 40000 528.0
33651131/507 ll.lorllqﬁ:;;dh[aopqunL + wphdbpnuphd j01ee01, j01ee02, j01ee05, ac T 567 50 8.4
iOlee
33651134/502 ghwpn$lopuwght j0Ima02, s01ae03, s02aal5, s03aa07 L hwn 27 10000 270.0
33651138/501 |-n$iopuwghts j01mal2, s01ae05 S< hww 79.8 5000 399.0
33651140/502 ghibtiughd j01de01 QL hwwn 399.8 10000 3998.0
33651143/504 dbpnwbubd j01dh02 L hwin 2132 200 426.4
33651143/506 dtipnwbubd j01dh02 Q<L hwn 1970 1000 1970.0
33651150/503 byniinuiwgn) d0lacl5, j02ac01, j02ac0] qg hwin 3390 500 1695.0
33651150/504 $yniynuwgny d01act$, j02ac01, j02ac01 qL hwin 54 30000 1620.0
33651150/505 byniyntiwgn) d0lact5, j02ac01, j02ac0l QL hwwn 99 8000 792.0
33651318/503 Lhtibignipn, q< huwin 4500 400 1800.0
33661112/501 wnnundn) n01ax10 9L hwin 444.9 1500 667.4
33661114/502 bhunwuhy n01ah01, n02ab03 QL hiutn 450 400 180.0
33661116/505 [hnnYwihts c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac it 720 200 144.0
s0tha07, s02da0l
33661116/506 il'g:;lj{t}u;hiﬁr;ﬁlb{l;]@l. c05ad01, d04ab01, nG1bb02, r02ad02, 9¢ huitn 2694.9 20 539
{hnnbuwghts c01bb01, c05ad01, d04ab01, n01bb02, r02ad02,
33661116/507 ﬁ?1h30?h50%d|bb101 R —— 9 huitn 94.8 200 19.0
nnljwjht ¢ , c05ad01, ab0l, n , r02ad02,
33661116/508 $01ha07, s02da01 < huwin 37.8 3500 132.3
33661120/504 Unphht n02aa0l QL huwu 450 400 180.0
33661120/505 unpdhu n02aall L huwin 6000 150 900.0
33661122/506 Wwpwghbitnwidng n02be01 < huiwn 2200 1000 2200.0
33661122/507 wuwpwgtitnwing n02be DL huwin 6.78 2500 17.0
33661127/501 Ubwnwdhgn| (snwdhgnih bwwnphnd) NO2BB02 q< hwwn 34.7 10000 347.0
33661135/503 Upnwgniwd n05cd08 S hwwn il 300 153.3
33661185/501 Ybnnpnjwy (Yannpnpwlh npndbuwdng < hwun 89 1500 133.5
33691112/505 utnpnuhnwany adlabl7, dO6bxO1, g01af0l, j01xd01, pO1ab0t ac huwtn 212 2500 530.0
33691112/506 dtwnpnupinwqn| adlab17, d06bx01, g01af01, j01xd01, p01ab01 9L hwun 5.02 800 4.0
33691112/508 Utnpnupnwany adlabl?7, d06bx01, g01af01, j01xd(1, pO1ab01 9L huwitn 1600 150 240.0
33691135/502 wwnphnwh phljwppntwin b05xa02 QL hwin 960 20000 19200.0
33691145/501 ;i;ﬁt:ﬁghmdh uni$pwn a0bad04, al2ccl2, b05xa05, dl1ax05, ac it 0.8 3000 89.4
33691154/501 hnhtipunv08ab02 < huwin 8700 700 6090.0
33691176/576 wj| nbnnpw)p Qe hwn 6888.8 400 2755.5
33691176/577 wy nbnnpwip a4 hwin 333.8 5000 1669.0
33691176/578 wy)| nbnnpw)p < hwn 77 1000 77.0
33691176/579 wj| nbinnpwip &L huin 147.85 2000 295.7
33681176/580 w)| nbnnpw)p S< hwn 1388.8 1500 2083.2
33691176/581 wy| nbinnpw)p 9L huin 1857 150 278.6
33691176/582 wij| nEnnpwip 94 huwtn 89 2100 186.9
33691202/502 Finwdghjwin - BO2BX01 L huwwn 154 15000 2310.0
33691202/503 Furnwdghpwwn - BO2BXO GL huwin 34.8 6000 208.8
33691226/507 tnpwdwnn| (npwdwnnih bhnpnpinphn)-N02AX02 < huin 17 100 11.7
33691226/508 thpwidwnn) (npwdwnnih bhnpnpinphn)-NO2AX02 < huwun 56.7 200 1.3
33691226/509 inpwdwnn| (npwdwnnih hhrpnpnphn)-NO2AX02 Q< hwuwn 154 1500 231.0
33621290/503 twhubdbphu (wnpbuwihu) a0lad01, b02bc09, cO1ca24, rOlaald, ac Kt 94 1000 94.0
r03aall, s01eall
33621330/502 Uhlbpwihn RO7ABO2 qc hwwn 152 50 7.6
33621360/502 glhgtiphy ntipwnpwin (Upnpngihgipht) c01da02, c05ae01 RIS hwin 660 100 66.0
33621730/501 bpuwiwywidhy c08da0t q< huwin 88 50 4.4
33651124/501 gbpunwghnhd j01dd02 qc hww 2997 100 299.7
33651126/505 qhtunuwdhght d06ax07, j01gb03, sOlaall, s02aal4, s03aa06 a4 hwn 67 3000 201.0
33651137/501 Jutiyndhght a07aa09, j01xa0l qc huwtn 1420 800 1136.0
33651224/501 Ubpnunpbipuuwin 101ba01, 104ax03 < huwin 90 100 9.0
33651224/502 Ubpnupbipuwwn 101ba01, 104ax03 G< hiun 3990 100 399.0
33651224/503 Ubpnunptipuwn 101ba01, 104ax03 9< huwin 13999.8 600 8399.9
33651224/504 Ubpnunpbpuwwn 101ba01, 104ax03 9< huwin 22500 100 2250.0
33651227/502 nulwnpuight: 101ax04 q< huwin 2000 0.0
33651230/503 nopunnniphght 101db01 9z huitn 13397 200 2679.4
33651230/504 nopunnniphghts 101db01 q< huitn 5724 500 2862.0
1800 0.0
33651231/501 Fuinwnghn [01cb01 q< huwin 3150 200 5300
33651232/501 Jwppnujwwnht 101xa02 < hwun 800 0.0
33651238/502 ghln$nudwhn 101aa01 QL huwn 1000 0.0
33651238/503 ghlynpnudwipn 101aa0 9L hwwn 2000 0.0
33651238/505 ghlyn$nupwdhn [01aa01 < hwwn 700 0.0
33651239/502 ghinwpuiphl 101bc0] a< huiun 1999.8 300 599.9
33651239/503 ghwnwpwphl 101601 < huitn 4190 2000 8380.0
33651242/501 nngbinwpuby 101cd02 L huwwn 300 0.0
33651243/501 wwyhuwputi) 101cd01 i hwn 14899.8 500 7449.9
33651245/502 ghughinwphts 1016c05 q< hwin 6588.8 600 3953.3
33651248/503 opuwhugwinpt 101xa03 9L hwiwn 17499.9 800 13999.9
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33651248/504 opuihugwnpl 101xa03 QL hwin 3160 100 316.0
33651251/501 Lwghnuih $nihtiwnl01cbO1 9L hwin 1000 0.0
33651256/502 ghynuwnphli 104ad01, s01xal8 9< huwn 60999.9 40 2440.0
33651312/502 pynInwPWphl 9 hwin 28300 20 566.0
33661115/502 priwghywlwht n016b01 oc huwtn 319.8 70 22.4
33661115/504 prtwhywlwiht n01bb01 q< huin 1999.8 50 100.0
33661136/503 nhwqbwwd n05ba01 q< hwtn 101 200 20.2
nhipuwdbpwant a0lac02, c05aa09, d07ab19, d07xb05, d10aa03,
SERY h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ba01 88 e o0 o
33661159/501 pbuphiEdppu ($bupESphuh bhnpnpinphn) CO1CAQE 9L hwin 77 150 11.6
33691133/502 Ubpwipldw onip vO7ab 9< huitn 22.9 6000 137.4
33691176/505 wy| nbnnpw)p 4L hwitn 15297 100 1529.7
33691176/506 wij nbnnpuwip QL hwn 25900 90 2331.0
33691176/507 wi| pbnnpuwp aL hwiwn 262.5 800 210.0
33691176/508 wy| nbEnnpuwp < huwin 200 0.0
33691176/509 wy| nbnnpw)p < huwin 45000 350 15750.0
33691176/510 w)| nnnpwip 9L hwwn 600 1000 600.0
33691176/514 wj| nEnnpwp SL hwn 6840 500 3420.0
33691176/515 w)| nbnnpup 9L hwin 8460 600 5076.0
33691176/516 wy| nbnnpuwp oL huwin 13299 800 10639.2
33691280/501 ghuwjwnhti 1 dg/u) 50 U QL hwn 6800 450 3060.0
33691500/504 npwbbpuwdwppnt YL hwn 375 1500 562.5
33691500/505 npwlibpuwdwppnt < hwin 1899 3000 5697.0
33611180/502 |wlnnyng al6adll L hwin 1690 1500 2535.0
33611390/502 whphnopuhts althad2 G< hwn 29.9 1000 29.9
33611474/502 Uhubitnhlynt < hwtn 28 1000 28.0
33611474/503 Uhubwinhlnt G< huwin 1370 150 205.5
33621100/502 hbujwpht bwwnphnut bO1ab01, c05ba03, s01xal4 L hwwn 3395 30 101.9
33621510/501 Yuwinnuphy ¢09aa01 aL huuwn 2.5 2000 5.0
33621620/502 ulghpntnpwlunnu c03da01 L hun 47.94 1000 47.9
hhnpnynpunhgnu a0lac03, a07ea02, c05aall, d07aa02, d07xa01,
33621640/501 h023b09. s01ba0?. sO1ch03. <O S< huwiwn 216 10 2.2
33621690/503 Ywipytnhing c07ag02 L hww 13.2 1170 15.4
33621760/503 Fuwpwuwphy c09aa02 < huin 4.4 100 0.4
33621777/502 Mhywpopuwpwt < huwin 157.1 252 39.6
33621783/501 Unpwnpbuwihl nwpupun QL huwwn 1790 100 179.0
33631200/501 pipwdbbihlyng, dbphinipwghy DO6C < hwiwn 239.7 120 28.8
33631230/501 u:}rlnih;gnn Jjnrp d08ag02, d09aal09, d11ac06, glaxll, r02aal5, ac i 2900 70 203.0
5
33631290/501 hpnuypn$bl c0lebl6, g02¢c01, mOiae01, m02aal3 YL hwwn 4.1 1000 4.1
33631290/502 ppnuypndbl c01ebl6, g02cc01, mOlae0l, m02aal3 L hwwn 649 50 32.5
33631310/502 nhlynbblwy dilax18, m01ab05, m02aal5, s01bc03 q< huwn 14 150 17.1
33631310/503 nhlynbbuwy dilaxl8, mO1ab05, m02aalb, s01bc03 qc hwin 69 200 13.8
33631360/501 unpuwdbpnupnd m03ab01 qc huwn 189.9 200 38.0
33631460/501 Yhpuujuwiipbng DO3AX03,ROTAX10 9z hwwn 3500 50 175.0
Plinwdbpwgnt (phnwdbpwgnuh nhypnwhntiwen),
43631470502 Yunuphtwgny, qbunwdhght (giutnwihghuh uny$uwin) DO7CCol | T b iy i o
33642220/505 Ubphjwpbnuhgnint d07aa01, d10aa02, h02ab04 9L huitn 7900 10 79.0
33642250/503 Untnbyniywun < huwin 247.91 150 37.2
33651117/501 gti$hpupd j01dd08 q< hwin 333.9 1000 333.9
33651128/501 upipn$nipwinnht j01xe01 < hwin 1 200 0.8
33651134/503 ghuypnopuwght j01ma032, s01ae03, s02aal5, s03aa07 qc hwin 374.9 300 112.5
33651134/504 ghuypndjopuwght j01ma02, s01ae03, s02aal5, s03aal07 <L hwwn 414.8 30 12.4
33651148/501 Yininphdwgn a01ab18, d01ac01, g01af02 < hwwn 576 10 5.8
33651148/502 Lninppdign| a01abl8, d01acOl, g0laf02 qc hw 192 10 1.9
33651195/501 dwpnnt unpdw) hdniungynpnyht j06ba < hwin 48000 50 2400.0
33651280/503 Uh%nipopuughn AO7AX03 < hwwn 89.5 1000 89.5
33651280/505 uh$nipopuwahr, AD7AX03 q< hww 1999 70 139.9
33661110/501 hqninipwt n01ab06 q< huwtn 78000 10 780.0
33661122/501 wwpughnwidng n02be01 L huin 26.4 400 10.6
33661122/504 wwpwghnwdng n02be0l L huwin 360 50 18.0
33661128/501 Yuwppuwiiwgbuht n03afol q< huwin 20 1000 20.0
33661137/501 [npuigbiuwd n05ba06 G huwtn 14 100 1.4
33661147/502 ubinuinhquhu n07aa01, s01eb06 < hin 49.8 150 7.5
33661149/501 wgtitnwgniwihns0lecO 4L hwwn 76.2 300 22.9
33661170/502 Tpnlwiht (wpnlughth hhnpnpinphn) NOTBAO2 a9 huwtn 550 100 55.0
33661181/502 Ulin$|nipui qL hun 48000 15 720.0
33661183/502 ghuwwnpwynippnd (ghuwwpwyniphnud phighiuwin) G< hin 960 100 96.0
33671113/503 uwipnunwidng rO03ac02 S huwin 1190 15 17.9
33671116/505 puhindbwnwgnihu r01aa07, r01ab086, s01ga03 9L hwwn 468 100 46.8
33671124/502 wnnppwihghti, nhpuwdbpugnt S01CAO q< huitn 1009 50 50.5
hupwwnpnwhnuh ppndhn. (hwpuinpnwhnuwh ppndhnh
33671139/501 drtunhpapun), Sttminbnn (Gtumnbpn hhnpnpandhn) qc huwtn 4026 10 40.3
33691112/507 dnpnupnwgn a0labl7, d06bx01, g01af01, j01xd01, p01ab01 qc hwwn 480 20 9.6
33691176/517 wy| nbnnpuyp L huwin 1537 40 61.5
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33691176/559 wy) nbnnpuyp q< hwin 864 20 17.3
33691176/583 w)| nhnnpup <L hwn 7050 560 3948.0
33691191/503 pnudnihuhntitin (fubuighw)-ESL_A05C q< hwwn 590 280 165.2
33691198/504 wnkidbinhnlpl - A16AAD2 QL hwtn 462 1500 693.0
33691199/501 uhihuupht - AOSBAO3 q< hwn 20.63 5000 103.2
33691201/501 Yuwnduwfuninh ngbipnywd - NOSCMO09 pnuwluwt dwadw ntin G hwin 125 100 12.5
33691212/502 nhnudht, hbuwtiphnht-CO5CAS3 4L hwin 74.5 120 8.9
33691223/501 bwnpnuwphtuh Yuyghnuwwlwl wr- BOTABO6 QL hwin 874.9 100 87.5
33691223/502 wnpnupwphup uighnwwlwl wn- BOTABO6 QL hwwn 1254.9 100 125.5
33691231/503 Yuwighruip Ywppnuwuwn, funbluygh$tipng A12AX QL hwin 45.05 2000 90.1
33691236/502 E‘SEQT&’S”M (RITEIRARIGT hEORPRR: REBACRS, 9¢ huitn 107 500 53.5
33691600/501 |-bunppwgbnwd QL hwn 109 1000 109.0
33691730/503 bplywph hhnpopuhnh nbpunputiwhts hwdwihp BO3AC QL huww 668 200 133.6
GL huun 0.0
(wpnpwnnp b phdhwlwl wqnuwiyniebp (nkwqbinbbp)
33141211/689 pdalwlwl wy gnpdhpllbip — wwpwqubp < hwin 84000 4 336.0
33141223/529 pd2lwlwl w)) gnpshpubp — wWwpwquubp pugqiwyndunubun < Inwiluqu 40000 60 2400.0
33141223/530 pdolwlpwt wy gnpshpubin — wWwpwgwlibp puqiwinduntbun < g 39999 2 80.0
33141223/531 pdohwlwl wy| gnpshpubip — wwpwgwbp puqiwlnduntbun 9L Inwluwqu 39999 2 80.0
33141223/532 pdalwlw wy gnpéhputip — wwpwgwubp pwgdwlndwnttun < Inulwgyd 849999 2 1700.0
33141223/533 pdalwlyut wy) gnpdhpubip — wwpwguwbp puguwyndwnubin q< Inwluqy 240000 2 480.0
33691162/1136 |wpnpwinnp wgnuwnebp (nbwgbmnutp) QL hwn 72999 2 146.0
33691162/1137 |wpnpuinnp wgnwlnyatip (nbwgblunutp) L hwwn 51999 2 104.0
33691162/1138 Jwpnpwinnp wgnwniglip (nbwgbtuntbp) QL huwin 63999 4 256.0
33691162/1139 [wpnpwnnp wanwnyebp (nbwgbbnubnp) QL hwn 838000 80 7120.0
33691162/1140 |Jwpnpwiinnp wgnuwnehip (nbwgbtunttp) L huwitn 130000 80 10400.0
33691162/1141 |wpnpwinnp wgnwunekip (nbwgbumutp) QL hwuwn 50000 80 4000.0
33691162/1142 |wpnpuiinnp wgnwbnyetip (nbwgblntbp) L huwn 539000 80 4720.0
33691162/1143 |wpnpwinnp wgnwnyatp (nbwgblnlbn) 9L hwiwn 138999 2 278.0
33691162/1144 Jwpnpwinnp wgnwniphp (nbwgbtunubp) < hwiwn 91999 4 368.0
33691162/1145 {wpnpuwiinnp wanwuniabip (ntiwgbtnutn) < hwtn 67998 2 136.0
33691162/1146 Jwpnpwinnp wgnwuniebp (nbwgbtntibn) QL hwin 104000 3 312.0
33691162/1147 |wpnpwinnp wgnwniekp (nbwgbtnutbp) QL hwin 64999 ] 325.0
33691162/1148 Jwpnpwinnp wgnwuniehp (nbwgbnubp) < hwwn 61999 4 248.0
33691162/1149 |wpnpuinnp wgnuwujnystip (nbwgbunubp) Q< hwn 798000 4 3192.0
33691162/1150 Jwpnpwinnp wgnwunyehip (nbwgbtunbp) QL hwin 60000 3 180.0
33691162/1151 Jwpnpwinnp wgnwnyebp (nbwgbitiinubip) < hwin 84999 2 170.0
33691162/1152 Jwpnpwinnp wgnwnyekp (nbwgbnmubp) QL hwin 84999 2 170.0
33691162/1153 wpnpwinnp wanwniehip (nbwgbtnttn) G hwitn 84999 2 170.0
33691162/1154 Jwpnpwnnp wgnwuniphbp (nbwgbinubp) QL hwn 33075 2 66.2
33691162/1155 |wpnpuwtinp wanwnyabp (nbwgbunutip) < hwn 84000 2 168.0
33691420/639 |wpnpwwnnp wgnwinebn (nbwgbiinutp) puqduyndynubun q< [nuwilywqu 69000 1 69.0
33691420/640 (wpnpwwnnp wgrnwynyebn (nbwgblnbibn) pugiulndyntbue G4 [Pwiljugy 42000 3 126.0
33691420/641 [wpnpwwnnp warwnipbp (nbwgbunubp) pugiwlnduyntbun Q< (gl 69000 3 207.0
33691420/642 (wpnpuwwinp wgnwbniebp (nbwgbtnubn) pugduyndunubun &< (nuiljga 69000 3 207.0
33691420/643 |wpnpwunnp wanwiyniebp (hbwgbunubn) pugiwlndwnutiin < (nwljgy 40000 3 120.0
33691420/644 |wpnpuwnnp wqnwtynielbp (nbwgblnubn) pwagdwiniunubun 9L Inwljugyd 108000 2 216.0
33691420/645 |wpnpwwnnp wanwlynyabp (nbwgblnbbp) pugdwndwntibtun q< Inwlwqu 214998 2 430.0
33691420/646 |wpnpwwnnp wanwyniebp (nbwgbunubn) pwquwyndunubln q< Inuwlywgd 36999 2 74.0
33691420/647 [wpnpwwnnp wanutynebn (nbwgbuntbn) puqiwlndwnubun < Inwluqd 33000 2 66.0
33691420/648 |wpnpwnnp wanwynyebp (nbwgbunubp) pwgdwlndunubunm q< Inwljwqu 69000 5 345.0
33691420/649 |wpnpwwnnp wanutyngebp (nbwgbtnubp) puquwlndunubun q< Inwlwqd 32499 5 162.5
3369!420[550 \wpnpwnnp wgnwtynyetp (nbwgblnubp) pugdwlndwnubumn 9L Inwlugdd 32499 5 162.5
33691420/651 \wpnpwinnp warnubgnieptin (nbwgbunubp) puqiwlndunubum 9 Inwluqd 42000 2 84.0
33691420/652 |wpnpuwnnn wgnwlynuyetip (nbwgbnutn) pwqiwlndwntblun g Inwiljugd 42000 2 84.0
33691420/653 |wpnpwinnp wanubympbp (nbwgbunubp) puqiwyniuyntbun q< Inwljwgy 55998 2 112.0
33691420/654 [upnpunnn wanwbnuyatip (nbwgblnubn) puwgiwndwnubun Q< Inwlwqu 76998 2 154.0
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33691420/655 |wpnpwinnp wgnwiynebp (ntwgbunutp) pugdulndynubiun QL [nwiljgqd 42000 5 210.0
33691420/656 |wpnpuinnp wgrwgnipbp (nbwgbtntbn) puqdulnduynubun < [nwiljugd 47000 3 141.0
33691420/657 |wpnpwinnp wgnwunebp (nbwgbtnutp) puqiwlndunubun 3L (nuwibjugu 42000 2 84.0
33691420/658 [wpnpuwiinnp wgnwnypbin (nbwgbnttn) puqduyndwnubiun < (nuwlwigd 104000 3 312.0
33691420/659 {wpnpwnnp wgnwympbp (ntwgbnutp) puqdulndynubun 9g Inwiljuuqu 202000 3 606.0
33691420/660 [wpnpwinnp wgnwgnpbn (nbwgbitiiutp) puqiulndynubun QL [nwilugd 202000 3 606.0
33691420/661 (wpnpwnnp wanwlgniptn (nbwgbunubp) pugdwlndyntibtin q< Inwljugud 35499 2 71.0
33691420/662 (wpnpwwnnp wgnwtynipbn (nbwgblnbibn) pugdwlnduntbun q< Inwlwqud 103998 2 208.0
33691420/663 [wpnpwwnp wqnuwtynyetin (nbwgblnltn) puqiwlniwntbun 9< nwluwiqu 58998 2 118.0
33691420/664 {wpnpwinnp wanwnyebp (nbwgblnlbp) puquwlndwntbtin 9L Inwlwqua 354999 4 1420.0
33691420/665 {wpnpwinnp wgnwbnptn (nbwgbtunubp) pugdwlndynbbion < Inwljuwigd 99999 2 200.0
33691420/666 {wpnpwinnp wgnwbnetn (nbwgblntbn) pugdwndwnbiGn < [nuljwgy 63000 2 126.0
33691420/667 [wpnpwinnp wanwnyatin (nbwgbunmutbn) pugiwndwnubiun Q< Inwljwgd 32000 60 1920.0
33691420/668 lwpnpuinnp wgnwnysbp (nbwgbbntbn) pugdwindwntbun QL [nwljugd 32499 10 325.0
33691162/1156 [wpnpwnnp wanwunyebip (ntiwgbnttbn) 9L hwin 470 200 94.0
33691162/1157 Jwpnpwinnp wgnwuniehp (nbwgbinutp) QL hwwn 470 200 94.0
33691162/1158 Jwpnpwnnp wgnwunipbp (nbwgbtintbp) QL hwn 700 200 140.0
33691162/1159 |wpnpuiinnp wgnwnyabp (nbwgbUnubp) G< hwn 1980 10 217.8
33691162/1160 Jwpnpuwinnp wygnwnyatip (nbwgblntibp) QL hun 1650 100 165.0
33691162/1161 Jwpnpwnnp wgnwuniehp (nbwgbiintbp) QL hwn 900 230 207.0
33691162/1162 |wpnpwwnnp wgnwunipbp (nbwgbunutn Q< huwwn 5280 20 105.6
33691162/1163 |wpnpuwinnp wynwnyebp (nbwgbunubp) L hwwn 2040 20 40.8
33691162/1164 |wpnpwunnp wgnwinyetp (nbwgbunubp) ag hwun 4600 20 92.0
33691162/1165 |wpnpwwnnp wgnwuniphp (nbwgbunubin) QL hwn 1150 100 115.0
33691162/1166 |wpnpwuinnp wgnwnyebp (nbwgbuwntbn) SL hwn 2800 35 98.0
33691162/1167 |wpnpuunp wgnuunyebp (nbwgblnutn) L hwn 12000 30 360.0
33691162/1168 |wpnpwwnnp wgnwyniphp (nbwgbunubn) S< hwn 67000 10 670.0
33691162/1169 |wpnpwnnp wgnwniphp (nbwgbunubn) L hwin 6600 2 13.2
33691162/1170 |wpnpwnnp wgnuwnuyehn (nbwgbuwnubp) Q< hwtn 21000 2 42.0
336911621171 |wpnpwinnp wgnwtynyabip (nbwgbunubp) G< huwin 30000 2 60.0
3369116211172 |wpnpwunp wgnwniebn (nbwgbunubp) SL hwun 15600 2 31.2
3369116211173 |wpnpwnnp wgnwynipbp (nBwgbunutn) < huin 35000 2 70.0
33691162/1174 |wpnpwnnp wgnuwynyebp (nbwgbbnutp) < huwwn 22800 2 45.6
33691162/1175 |wpnpuwnnp wgnwinebp (nbwgblnltp) QL hwwn 57000 2 114.0
3369116211176 Jwpnpwinnp wgrutynysbip (nbwgbtinttp) G< huwin 47000 2 94.0
336911621177 \wpnpwnnp wgnuwuniphp (nbwgbunutbp) QL hwwn 18000 2 36.0
33691162/1178 [wpnpwnnp wgrunyetip (nbwgbunutp) G< hwwn 48000 2 96.0
33691162/1179 |wpnpwnnp wgnuwnipkp (nbwgbntp) QL hwwn 34800 2 69.6
33691162/1180 |wpnpwnnp wgnwbnyatip (nbwgbtnutp) < hwitn 33000 2 66.0
33691162/1181 Jwpnpwnnp wanwnyetp (nbwgblntbn) Q< hwin 97000 2 194.0
3369116211182 |wpnpwinnp wgnubnysbp (nbwgbbnbp) L hwn 2 0.0
33691162/1183 |wpnpwiinnp wgnuwniehp (nbwgbtnubp) QL hwin 20000 2 40.0
33691162/1184 |wphpuwiinhp wgnwjnebp (ntwgbuwntip) QL hwun 21600 2 43.2
33691162/1185 |wpnpuwwnnp wgnwnyetp (nbwgbUwntbp) QL hwn 24000 2 48.0
33691420/669 |wpnpwwnnp wgnwumpbn (nbwgbnutp) pugduyndynubun < [nwljwqd L :g 2]%43'0
1210000 20 24200.0
33691420/670 |wpnpwnnn wgnwiniebn (nbwgbunbbp) pugqduwyndunubun G< [nuwiljuigd 20 0.0
33691420/671 |wpnpwwnnp wanwnpbp (nbwgbtinutn) pugdwindynubun QL (g 215000 8 1720.0
33691420/672 [wpnpwwnnp wgnuwugnyebp (nbwgbnutn) puqdulyndynubun G< [nwiluqd 151200 “ 604.8
33691420/673 |wpnpwwnnp wgnwunipbp (nbwgbnutp) puqiulndynubun e [nwljug 363000 1 363.0
33691420/674 [wenpwuinnp wanwnipbn (nBwqbntubn) pwgdwlndwnubun Q< Inwlwqu 175998 1 176.0
33691420/675 (wpnpuwwnnp wqrutgnyebp (nbwgbbintbn) pugdwlndyntbun < (nwlwqd 157998 1 158.0
33691420/676 |WpnpWWnp wgnwgnietin (nbwgbunutp) pugdwlndunbbun q< Inwlwiqu 85999 4 344.0
33691421/522 |wpnpwnnp wqnwnyebp (nbwgbunubp) hbnnily L [hwp 05 0.0
33691422/568 |wpnpwwnnp wqnutnipbp (nbwgbunubn) thngh Ywd gpuunyubp 9L Yhingpuwd 0.5 0.0
33691422/569 (wpnpwennp wgrwtynuebip (nbwgbUnubn) dingh Ywd gpuwtingubp < Yhingpud 1200000 0.1 120.0
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33691422/570 |wpnpwinnp wgrwnyebp (nbwgbtnubn) thnoh Gud gputnyubp Uhingnpuwd 1140000 114.0
33141211/690 pdolwljul wy| gnpdhplibip ~ wwpwgwbbp hn 246000 1968.0
33141211/691 pdolwlwl w)| gnpshpubip — Wwpwgwubp hwun 110300 441.2
33141211/692 pdalwlwi w)| gnpdhpubip — wwpwgqwibp hwn 6100 366.0
33141211/693 pdobwlwl wy gnpdhpubip - wwpwgwbp huwwn 57100 114.2
33141211/694 pdalwlwit wy gnpdhplbip — wwpwguwbp hwwn 2500 10.0
33141211/695 pdlwlwl w)) gnpdhplbp - wwpwgwlbp hwtn 1000000 1000.0
33141211/697 pdalwlwl w) gnpdhpubip - wWwpwgwbp huwin 960000 1920.0
33141211/698 pdalwlwl w)) gnpdhpubip — wWwpwguwttp hwwn 246000 1476.0
33141211/699 pdoywliwl wy| gnpdhpubip — wwpwgwbp hwwn 1195000 2390.0
33141223/534 pdoywlwl wy gnpshpubip — wwpwqwbn puqiwyndunubn Inwlwaqd 44600 267.6
33141223/535 pdalwlwit wy gnpdhpubin — wwpwguitibp pugqiulndynubn Inwlwqd 33300 399.6
33141223/536 pdlwlwb wy gnpdhpubp — wwpwguwbp pugdwlndunubln [nwlwaqy 648300 2593.2
33691162/1186 |wpnpwinnp wgnwiynyebp (nbwgbuntbn) huwin 19875 28 556.5
33691162/1187 [wpnpwnnp wgnwtnyebp (nbwgbunubn) hwin 7540 75 565.5
33691162/1186 Jwpnpunnp wanuwiynipbp (nEwgbunutp) huiw 13846 65 900.0
33691162/1189 |wpnpwinnp wgnwbnyabp (nbwgblnutp) hwwn 17143 70 1200.0
33691162/1190 Jwpnpwinnp wanwniebp (nbwgblnltp) hwun 14200 60 852.0
33691162/1191 {wpnpwnnp wgnwniebn (nbwgbunlbp) hwin 16800 50 840.0
33691162/1192 Jwpnpwnnp wgnwnebp (nbwgbtnubn) hwn 13875 40 555.0
33691162/1193 |wpnpwinnp wgnwunyebin (nbwgbtntibn) hwiwn 18750 12 225.0
33691162/1194 |Wpnpuinnp wgnwunyebn (nbwgblnutp) hwwn 15800 60 948.0
33691162/1195 |wpnpwwnnp wgnuuniehp (nbwgbiinutp) hwin 15800 60 948.0
33691162/1196 |wpnpuwwnnp wgnwinipbp (nbwgbiinubp) huwin 20182 55 1110.0
33691162/1197 |wpnpwwnnp wgnwuniphbp (ntwgbtnubp) hwin 32000 3 96.0
33691162/1198 Jwpnpwwnnp wanwunehp (nbwgblnutn) hwwn 14357 7 100.5
33691162/1199 |wpnpwnnp wgnpwbniphp (nbwgbiinttp) hun 31417 18 565.5
33691162/1200 |wpnpwwinnp wgnwunyebn (nbwgbUntbn) hwn 139113 75 10433.5
33691162/1201 |wpnpwnnp wgnulniphp (nbwgbunutn hun 11645 55 640.5
33691162/1202 |wpnpwnnp wqnwinyetp (nbwgbUnbtn) huutn 46900 55 2579.5
33691162/1203 |wpnpwwinnp wgnwynyebp (nbwgbuwnubp) huin 15000 10 150.0
33691162/1204 |wpnpwinnp wgnwiniphp (nbwgbuntn) huin 93900 6 563.4
33691162/1205 |wpnpuinnp wgnuujnyehp (nbwgbunutp) hwn 14675 60 880.5
33691162/1206 |wpnpwnnp wanuniphbp (nbwgbunubn) huin 5308 65 345.0
33691162/1207 |wenpwunnp wgnuwlnyatbn (nbwgbuwnubp) huitn 13333 45 600.0
336911621208 |wpnpwwnnp wgnwunipbp (nbwgbunutp) hwiwn 27300 70 1911.0
33691162/1209 |wpnpwiinnp wgnwynystp (nbwgblunubn) huwin 8375 12 100.5
33691162/1210 |wpnpwwnnp wgnubyniphbp (nbwgbunubp) huwn 40000 5 200.0
33691162/1211 |wpnpwunnp wgnuwtynystin (nbwgbuwntip) huwiwn 27500 8 220.0
33691162/1212 |wpnpwwnnp wgnwbynuyabip (nbwgblnubp) hwwn 26700 15 400.5
33691162/1213 |wpnpwinnp wanwbnygabp (nbwgblunltn) hwun 15750 2 31.5
33691162/1214 Jwpnpwnnp wgnuwnipbp (nbwgbtnutbp) hwwn 25875 2 51.8
33691162/1215 |wpnpwinnp wgnuwbngatip (nbwgbtiinlibp) hwn 20500 7 143.5
33691162/1216 Jwpnpwnnp wgnwnebip (nbwgbtnttbn) hwiwn 18370 15 275.6
33691162/1217 |wpnpwitnnp wgnuiuniehp (nbwgbtunbin) hwiwn 10125 4 40.5
33691162/1218 |wwpnpuwinnp wgnwujniplp (nbwgbuwnubn) hwn 43600 3 130.8
33691162/1219 [wpnpunnp wgnuwyniabip (nbwghbiiinubip) hwin 77400 1 77.4
33691162/1220 |wpnpwnnp wgnwunyebp (nbwgbitunttin) hwn 50500 4 202.0
33691162/1221 |wpnpwiinnp wgnwniphp (nbwgblnnutin) hwn 40100 6 240.6
33691162/1222 |wpnpwwnnp wgnwnyelbn (nbwgbunutbn) hwwn 133100 6 798.6
33691162/1223 |wpnpwinnp wgrwlynyebp (nbwgblnutbn) hwtn 263400 6 1580.4
33691162/1224 |wpnpwwnnp wgnwiniphbp (nbwgbunutn) huwin 329400 6 1976.4
33691162/1225 |wpnpuwwnnp wgnwunyekp (nbwgblnutp) hwwn 159900 16 2558.4
336911621226 |wpnpwwnp wgrwtynyebp (nbwgbmubn) huwn 138600 8 1108.8
33691162/1227 |wpnpwnnp wygnwynyebp (nbwgbuwnubn) huwn 120800 8 966.4
33691162/1228 |wpnpwwnnp wanwbyniebip (nbwgbtnubp) hwn 124400 8 995.2
3369116201229 Jwpnpwwnnn wgnwtngetin (nbwgblnubp) hwwn 172400 72 12412.8
33691162/1230 |wpnpwuwnnp wgnwingetp (nbwgbunubp) hwun 15100 6 90.6
33691162/1231 [wpnpuwwnnp wgnulnipbp (nbwgbUnbn) hwiwn 24720 2 49.4
336911621232 |wpnpwnnp wgnwtynyabp (nbwgblnutp) hwwn 22500 2 45.0
33691162/1233 |wpnpwunnp wanwynyatp (hBwgbunubp) hwn 41550 10 45.5
33691162/1234 |wpnpwinnp wanwbynyebp (nbwgblinubpn) huwwn 66000 5 330.0
33691162/1235 Jwpnpwnnp wgrubnpbp (nbwgbunubp) huwitn 38000 15 570.0
33691162/1236 \wpnpwiinnp wgrnubnhp (nbwgbtnutp) hwn 67000 1 67.0
336911621237 |wpnpwinnp wgnwbynyabp (nbwgblinltp) hwn 115000 4 460.0
33691162/1238 (wpnpuinnp wanuwiynetp (nbwgBlnutn) huiwn 73000 8 584.0
33691162/1239 |wpnpwinnp wgnwnyebn (nbwgblwntn) hwwn 250000 50 12500.0
33691162/1240 Jwpnpwinnp wquwinekip (nbwgbtnttbp) hwin 100000 1 100.0
33691162/1241 |wpnpuwiinnp wgnubnyatp (nbwgblunbn) hwun 58000 3 174.0
33691162/1242 |wpnpwinnp wgnwbnyabp (nbwagblnubn) hwwn 58000 10 580.0
33691162/1244 |wpnpuwinnp wgnwbnyabp (nbwgblntn) hwwn 27000 8 216.0
33691162/1245 |Wpnpwnnp wgnwniptip (nbwgliuunubin) huwiun 40000 5 200.0
33691162/1246 |wpnpuinnp wgnwnyebp (nbwgbUwnubp) hwtn 103000 2 206.0
33691162/1247 |wpnpwwnnp wgnwiympbp (nbwgbunubn) hwn 29000 12 348.0




33691162/1248 [wpnpwwnnp wgnuniphp (nbwgbunutp) QL hwwn 18000 40 720.0
33691162/1249 |wpnpwnnp wgnwynyetip (nbwgblnubn) < huwin 18000 40 720.0
33691162/1250 |wpnpwnnp wgrnwiynyetip (nbwgblnubp) < hww 86000 4 344.0
33691162/1251 |wpnpuwwnnp wgnutynyskp (nbwgbunubp) L hwwn 53000 7 371.0
33691162/1252 |wpnpwwnnp wgnuwtynypbp (nbwgbtnubn) QL hwwn 77000 9 693.0
33691162/1253 |wpnpwinnp wgnwbnyabip (nbwgblintbn) QL hwin 40000 9 360.0
33691162/1254 Jwpnpwinnp wgnwnyetip (nbwgbunutp) G hwin 20000 15 300.0
33691162/1255 Jwpnpwnnp wgnwiynypbip (nbwgblnbbn) GL huwin 21000 6 126.0
33691162/1256 Jwpnpwwnhp wgnwunehin (nbwgbtnttn) QL hwwn 165000 3 495.0
33691162/1257 Jwpnpwnnp wgnuwinyehip (nbwgbtuntbn) L hwin 89000 3 267.0
33691162/1258 Jwpnpwinnp wgnwnielp (nbwgbunubp) S hwin 21000 1 84.0
3369116241259 [wpnpwnnp wgnuwunielp (nbwgbunutn) QL hwwn 36000 1 36.0
33691162/1260 Jwpnpwnnp wgnwngatip (nfiwgbunutin) G< hwin 67000 | 67.0
33691162/1261 Jwipnpwiinnp wonwiyniahp (nbwgbtintbp) QL hwin 157000 2 314.0
33691162/1262 Jwpnpuwinnp wanwunehbp (nbwgbtntbp) q< hwin 170000 1 170.0
33691162/1263 Jwpnpwnnp wgnwunebip (nbwgbitinitin) 9L hwin 22500 1 22.5
33691162/1264 wpnpwnnp wgnwniphp (nbwgbiinttin) QL huwwn 40000 1 40.0
33691162/1265 |wpnpwwnnp wgnwunipbp (nbwgbtinitin) G< huwn 131000 1 131.0
33691162/1266 |wpnpuwiwnnp wanwnipbn (nbwgblnttn) 9L huwin 11000 15 165.0
33691162/1267 |wpnpwinnp wgrnwtynyskp (nbwgbuwnubp) < hwin 43000 2 86.0
33691162/1268 [wpnpwinnp warwtynyabip (nbwgbUwnutip) L huin 20000 60 1200.0
33691162/1269 |wpnpwnnp wanwuniehp (nbwgbunubn) q< huwn 4000 60 240.0
33691162/1270 |wpnpwinnp wgnutnipbp (nbwgbunutp) L hwwn 6000 5 30.0
33691162/1271 |wipnpuwwnnp wgnutnyshp (nbwgblnubp) L hwwn 8000 2 16.0
33691162/1272 |wpnpwnnp wanwnyebp (nbwgbunubp) q< huwn 17000 35 595.0
33691162/1273 |wpnpwnnp wgrnwitynyabip (nbwgbunubp) < hwin 277000 1 277.0
33691420/677 [wpnpwwnnp wgnwtynebp (hbwgbbnubn) pugquwyndwnubn q< Inuiljwgy 44100 1 441
33691420/678 {wpnpwinnp wanwunyatip (nbwqblntbpn) puquwndwyntbin R s Inuwljwgy 21400 4 85.6
33691420/679 |wpnpwinnp wanwunebp (ntwqbiinubn) puqdwlndwnutin G [nwljuqd 47800 6 286.8
33691420/680 |wpnpwnnp wanwunipbp (nbwgbunubp) pugdulndynubin QL [nbjugy 42500 12 510.0
33691420/681 |wpnpwnnp wgnwuniyebn (nbwgbuwnbbn) pugiwlndwnubiu;m Q< [nuljuugu 21700 6 130.2
33691420/682 [wpnpuinnp wgnutnpbn (abwgblnutp) pugiulndynubun 4L [nwljugd 114900 8 919.2
33691420/683 [wpnpuwnnp wgnutgngebp (nbwgblnubp) puqiulndynubun G< (g 46875 4 187.5
33691420/684 [wpnpuwinnp wgnuwtniyebip (nbwgblntbn) pugquwlniwnubun 9L IPwilugu 185200 8 1481.6
33691420/685 [wpnpuwwnp wgnuwtngebip (nbwgbUnubn) pugiwiniwnubun < Inwlwqy 185200 8 1481.6
33691420/686 |wpnpwnnp wgnwitynipbn (nbwgbunubn) pwqdwnduntbun Q< Inwljugy 37500 8 300.0
33691420/687 Jwpnpwnnp wanuwnyatip (nbwgbtntbn) puqiwlyndunttiun QL [nwlugy 19568 22 430.5
33691420/688 [wpnpwinnp wgnwunyetin (nbwgbunubp) puquwlndynubitun Q<L nwljwgy 35250 2 70.5
33691420/689 |wpnpwinnp wanwunyatn (nbwgbunmubn) puqiwlyndynutiun QC [nwluqy 270000 5 1350.0
33691420/690 |wpnpwwnnp wanwumpbp (ntwgbnutp) puqdulndwnubun QL [nwljuqy 22500 5 12,5
33691420/691 [wpnpwinnp wgnwtjniebp (nbwgbuntbin) pugiwynduynubun G4 (Pwljug 57300 3 171.9
33691420/692 [wpnpuwwnnp warnwunyebn (nbwgbunubp) pugdwindwnttiun YL [nuwbjgu 50600 3 151.8
33691420/693 |wpnpwwnnp wanuwtgnyabp (nbwgbunubn) pugquwlndunttun 9 (nwiwgd 50600 3 151.8
33691420/694 lwpnpwnnp waruuniptp (nbwgbunubp) puqiwlnduntbun 9L Inwlwqd 65600 40 2624.0
33691420/695 {wpnpwnnp wonwnyebip (nbwgbunubp) puquwyndunubnm QL (nwluqg 72500 3 217.5
33691420/696 lwpnpuwinnp wgnubnyabip (nbwgbtnubp) pugdwyndwyntibo;m q< [nwlug 72500 3 275
33691420/697 |wpnpwinnp wagnwnyetin (nbwgbtmubp) puguwyndynubiin Q< (nuwljwgy 72500 3 27.5
33691420/698 Jwpnpwinhp wanwnypbip (nbwgbuntbn) pugdwyndynubun QL [nwlugy 52100 4 208.4
33691420/699 |wpnpwinnp wanwnipbn (nbwgblntbn) pugdwyndwntibin Q< [nwljwgy 67500 2 135.0
33141211/700 pdolwlw wy gnpdhpubip — wwnwgwbn 9L huwin 44000 1 44.0
33141211/701 pdalwlwts wy gnpdhpibp — wwpwgwibp Erd hwtn 261 1000 261.0
33141211702 pdoluwiljw wy| gnpdhpubp — wWwpwgwubn 9 huwn 21000 20 420.0
33141223/537 pdalywljwl wy| ghpdhplbp — Wwpwguwubp pugdwyndynubun Q< [nwluqy 45600 40 1824.0
33141223/538 pdaljwluwt wy gnpdhpubp — wwpwguwubp puwquwlndwntitii; < [pwljuugd 46300 20 926.0
33141223/539 paalulwl wy gnpdhputip — wwpwagwubp pugiwlndyntbn L [nuwibjugu 24400 2 48.8
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33691160/559 phdhwlwu wanwinyabp (nbwgblnltbp) 9L hwin 111600 40 4464.0
33691160/560 phihwlwl wqnulynpbp (nbwgbtntbn) < hwiwn 79200 40 3168.0
33691160/561 phupwlwl wanwniatp (nbwgbtnubp) QL hwwn 252000 40 10080.0
33691160/562 phihwlwu wanwnyatip (nbwgblinubp) QL hwn 131400 40 5256.0
33691160/563 phupwbwl wgrptnyatip (nbwgblnubp) 9L huin 67500 2 135.0
33691160/564 phuhwljwt wgnwunyatip (nbwabtnubp) 9L huwin 67500 2 135.0
33691160/565 phuipwlwl wgnwiynpbn (nbwabunubp) QL huitn 283500 25 7087.5
33691160/566 phihwlwl wgnwynyebip (nbwgbunbbn) < hutn 96300 2 192.6
33691160/567 phuhwlwt wgnwinyetp (nbwabunubn) 9L huwitn 96300 2 192.6
33691160/568 phipwlwl wgnuwnyatip (nbiwabunubp) Q< hwin 239400 2 478.8
33691160/569 phipwlwu wgnwujnyatip (nbwgbiinubin) L huwin 490000 10 4900.0
33691160/570 phihwlwy wgnwujnyabip (nbwgblntbn) QL huwin 75000 2 150.0
33691160/571 phupwlwl wgnwunpbp (nbwgbunubp) 9L huwn 75000 2 150.0
33691162/1274 |wpnpwinnp wanuwnuebn (nbwgbunubn) L hwin 64320 60 3859.2
33691162/1275 |jwpnpwnnp wgnwtynyabp (nBwgblnbn) < hwun 46000 2 92.0
33691162/1276 |wpnpwinnp wgnwitynystip (nbwgblnutin) < huwn 55200 60 3312.0
33691162/1277 |wpnpwiwnnp wgnwtynyebip (nbwgblnutp) < hwin 43600 2 87.2
33691162/1278 Jwpnpwnnp wgnwbynyebp (nbwgblnubp) L huwin 118800 60 7128.0
33691162/1279 Jwpnpuwnnp wanwbnuabip (nbwgblnubn) < huwin 121280 2 242.6
33691162/1280 lwpnpwnnp wgnwunyatip (nbwgblinubin) 9L hwin 92950 60 5577.0
33691162/1281 Jwpnpwnnp wgnwunietin (nbwgbnubn) YL hwtn 58240 2 116.5
33691162/1282 |wpnpuwitnnp wgnwnyabn (nbwabtnutin) QL hwwn 69800 12 837.6
33691162/1283 |wpnpuiinhp wygnwnyebp (nbwgbtintibn) L hwtn 24000 3 72.0
33691162/1284 |pnpuithnp wgnuniebp (nbwgbtntbp) gL hwtn 98500 8 788.0
33691162/1285 |Wwpnpuinnp wgnwuinebp (nbwgbunubn) L hwtn 25600 2 51.2
33691162/1286 |wpnpuinnp wgrwbnyebp (nbwgbtnubp) QL hwn 84000 3 252.0
33691162/1287 |wpnpuinnp wgnwuniebp (nbwgbunubn) 9L huwin 56560 2 113.1
33691162/1288 |wpnpwinnp wqnwiniebn (nbwgbtnutn) < huwitn 84000 3 252.0
33691162/1309 |wpnpwinnp wgnwnyebn (nbwabunutn) q< hun 53040 2 106.1
33691162/1310 Jwpnpwwnnp wgnwumyehn (nbwgbunubn) < huwiwn 71680 40 2867.2
33691162/131 |wpnpwunp wgnwtngetn (nbwgbunubp) 9L huitn 24850 3 74.6
33691162/1312 |wpnpwuwnp wgnwtnphbn (nbwgbuntbn) 4L huwiwn 49840 2 99.7
33691162/1313 |Wwpnpwwnp wgnwunysbp (nbwgbunubin) < hwiwn 24300 2 48.6
33691162/1314 |wpnpwunp wanwnetin (nbwgbuwnubp) g hwwn 70800 2 141.6
33691162/1315 |wpnpwunnp wgnwtnyetin (nbwgbunubp) < hwwn 24300 2 48.6
33681162/1316 |wpnpwuinp wgnwtngabn (nbwgbunubp) 9L hwtn 66880 3 200.6
336911621317 |wpnpwiinnp wgnwitynyabip (nbwgblnubn) 9L hwn 23680 2 47.4
33691162/1318 |wpnpwwnnp wgnwiynyabp (nbwgbtnbbn) < hwuw 46800 8 374.4
33691162/1319 |wpnpwinnp wgnwnyatip (nbwghbumnubp) 9L hwin 24600 2 49.2
33691162/1320 jwpnpunnp wanwbnakip (nbwgblnubp) < hwwn 54240 2 108.5
33691162/1321 |wpnpuwinnp wgnwnyebp (nbwgbuwutp) < hwn 24600 2 49.2
33691162/1322 |wpnpwinnp wanwbnyatp (nbwgbtinubp) 9 huwin 14240 2 28.5
336911621323 |wpnpuwinnp wanwnebp (nbwgbnutp) QL hwin 5400 15 81.0
33691162/1324 |wpnpwinnp wgnwuniehp (nbwgbituntbn) L hwn 225000 8 1800.0
33691162/1325 Jwpnpuinnp wgnwuniphbp (nbwgbnutin) < hwwn 26500 2 53.0
33691162/1326 |wpnpunnp wguunebp (nbwgbiunutip) 9L huwn 59760 2 119.5
33691162/1327 |wpnpuwinnp wgnwinyebp (nbwgbunutbp) G hwn 349200 5 1746.0
33691162/1328 |wpnpuwwnnp wgnwuniehbp (nbwgbbnutp) g hun 36800 6 220.8
33691162/1329 |wpnpwuinp wgqnwungebn (nbwgbtnutp) GL hwn 81440 3 244.3
33691162/1330 wpnpuwwnnn wgnwngebn (nbwgBuwnln) < hwwn 24800 2 49.6
33691162/1331 |wpnpwunp wgnwiniebn (nbwgbunbp) 3L huwiwn 25280 2 50.6
33691162/1332 wpnpwnnn wgrwbnyebp (nbwgbunbp) L hwin 216554 20 43311
33691162/1333 |wpnpwnnp wgnwynysbp (nBwgblnubp) 9< huwin 264410 20 5288.2
33691162/1334 wpnpwwnnp wanuwbnesbp (nbwgblnubp) 9< hwin 357000 20 7140.0
33691162/1335 \wpnpuwwnnp wanwbynyahbip (nEwgblnlbn) 9L huiwn 239198 20 4784.0
33691400/563 phupwluwt wgnuwunyetp (nbwgblnutn) pugduindynubun L nuwljgd 96300 2 192.6
33691400/564 phupwlwt wgnuwunietn (nbwgbunubn) puqiwlndunubun C [nwlwqd 96300 2 192.6
33691400/565 phdpwlwl wanuityniebp (nbwgbunubp) puquwlnduntbn Q< [nwiljuegqd 108000 2 216.0
33691400/566 phupwlwl wanuwiynpbip (nbwgbbnlbn) puqiwlyndunutun G< (nwluwgd 96300 2 192.6
33691400/567 phdhwlwy wanwiumptn (nbwgbuinubp) pwquwlndunubnm < [nwljugu 121500 2 243.0
33691400/568 phuhwljwt wanwnyabp (nbwgbuntbn) puguwniwyntbu, 9 [nuuljugu 121500 2 243.0
33691400/569 phuhwlwt wgnwunebn (nBwgbtnutn) puqdwlndynttitin 9L (gl 106200 12 1274.4
33691400/570 phihwiljut wnwunyatip (ntiwgbuinutin) puquwlndwnubiin &< [nwiljug 45630 12 547.6
33691400/571 phuhwlwy wynwujnebp (nbwgbunubn) pugiwlndwnubunm s (nwilwgd 139500 25 3487.5
33691400/572 phuhwlwt wonwunebp (nbwgbunutip) puqiwlndwnubin GL [Pl 50000 [ 300.0
33691400/573 phuhwljwt wqnuwuymebn (nbwgbunutp) pugduyndunubun q< nwlugd 95400 25 2385.0
33691420/700 |wpnpwinnp wgnubnyabp (nbwgblnubp) pugdwyndwntibiom Q< Inwljuqy 26800 40 1072.0
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33691420/701 |wpnpwwnnp wgnumpbn (nbwgtlnutp) puqdwyndynubun QL [nwljuqd 26800 40 1072.0
33691420/702 |wpnpwwnnp wgnwinyebp (nbwgblnubn) puquwyniwnubun q< Inwljuqu 17120 1 17.1
33691420/703 [wpnpwwnnp wanwtynigabip (nbwgbUnbp) pugiwlndynubun g Inwlwqif 59760 2 119.5
33691420/704 [wpnpwinnp wnwinigbin (nbwgblntibp) pwquwyndwntbn < [nulwaqu 174640 2 349.3
33691420/705 {wpnpwinnp wanubngebip (nbwgbnubp) pugduyniwntibn < [nwlwqu 119520 2 239.0
33141211/703 pdaywlwl wy| gnpdhplubp — wwpwgwbp 9L hwuwn 80000 1 80.0
33141211/704 pdaywlwl w)| gnpéhplbp — wwpwgwubp L hwn 1230000 1 1230.0
33141211705 pdalwljuls wy| ghpdhplbp — wwpwgwubp GL hwin 215000 1 215.0
33141211/706 pdolwlw wy ghpdhpubip — wwpwawubp 9L huwin 215000 1 215.0
33141211/707 pdoljwljwt wy gnpdhplbip — wwpwgquibp Q< hwn 90000 1 90.0
33141211/708 pdolwljwit wy) gnpéhpubip — Wwpwawubp Q< hwitn 69000 1 69.0
33141211/709 pdolwlul wy) gnpdhplbip — Wwpwqwlitp QL hun 13000 1 13.0
33141223/540 pdalwlwl wy) gnpdhplbin — Wwpwqwitp puquiwlndwnubun < (Mulugd 960000 18 17280.0
33141223/541 pdolwilwt wy| gnpdhplbin — wwpwgwbn pugqiwyndwnubun &< (Puwljgu 103122 2 206.2
33141223/542 pdalwlwt wy gnpdhplbp — wwpwguibn pugquulndwnubun ag (nwluqu 108528 2 217.1
33141223/544 pd2lwlwl w) gnpdhpubip — wwpwguubp puqiwlndunubn q< Inwlwgd 60000 2 120.0
33691162/1336 Jwpnpwnnp wanwbynyabp (nbwgblnubn) g huwiwn 38000 3 114.0
33691162/1337 |wpnpwnnp wgnwbynyabp (nbwgblitnlbp) Q<L huwiwn 87700 1 87.7
33691162/1338 Jwpnpuwnnp wgnwnuebp (nbwgbbntbn) QL huwin 24000 1 24.0
33691400/574 phupwlwt wgnwnyatn (nBwgbunutp) pugdulyndwnubun QL Inwlwgu 190000 3 570.0
33691400/575 phihwlwl wgnuwnystip (nEwgblnutp) pugdwlndunubun qc Inwlwqy 95000 3 285.0
.0
33691400/576 phdhwlw wgnwyniptip (nbwgbunutn) pugdwlinduntin QL [nwluqd 7400 ? 107 2
9 0.0
33691400/577 phdhwlwu wynwiynyeabn (nbwgbunubp) pwgdwlyndynubnm Q< [nwiljuqu
37200 1 37.2
33691400/578 phupwlwu wanwnyebp (hbwgblntbn) pwguwyndunubuen < [nwljuqu 8 0.0
33691400/579 phdhwlwu wanwiynyetn (nbwgbumubp) puquwlndynubn e [nwljugu 115000 4 460.0
33691400/580 phihwlwu wanwiynyetn (ntwgbunubp) puquwlndwnubtn &< (nuwljpugd 1 0.0
3 0.0
33691400/581 phihwywl wanwiynebp (nbwgblnlbn) puguiwyndunubtn < (nuwiljugl
53000 1 53.0
33691400/582 phupwljwt wnwunipbp (nbwgbunutn) puqiwlndwnubiun QL [nwlwgd 1 0.0
33691400/583 phupwlwt wonuwynipbp (nbwgbuntbp) pugdwyndwynubun < (nwlwgd 1 0.0
33691400/584 phdhww wgruynipbn (nbwgblnutn) pugqdulndynubiu;m < Inwlwgd 10 0.0
33691400/585 phidhwlwl wgnwunuyetip (nbwgbumubn) pugdwlndwnubunm < (nuwiljwgy 446000 4 1784.0
33691400/586 phipwlwl wanwnuyebp (nbwgbunutp) puwgdwlndwnubun L Inwluqy 189000 1 189.0
33691400/587 phihwluwl wgnuwiynipbp (nBwgbunubn) pugdwlnduntibtn QL [nwljugd 145000 1 145.0
33691400/588 phihwlwy wanwinyatn (ntwgbunubn) pwquwlndunubun G (g 145000 1 145.0
33691400/589 phihwlwl wanwiunetbn (nbwgbnubn) pugdwlndunubom QL Inwlwgd 1 0.0
33691400/590 phdpwluwt wqnuynpbp (nbuwgbunubp) pugdwlyndynubten 9L (g 141000 1 141.0
33691400/591 phihwlwt wgnwunyebp (nbwqbuntbn) pugquwyndwnubinm QL Inwlwqu 150000 1 150.0
33691400/592 phiuhwlwl wanwunptp (nbwgbntbn) pugdwyndunubum qc (nwiluqd 205000 1 205.0
33691400/593 phuipwlwy wanwunyzbp (nbwgtunubn) pugduyndynubun < (nwyugy 180000 1 180.0
33691400/594 phupwlwt wqnuinebn (nbwgbunutp) pugduyndynubiun q< Inwlwgd 341000 10 3410.0
33691400/595 phupuwlwt wonwunyebp (nbwgbunttp) pugdulndynubin 9L Inwlwaul 290000 2 580.0
33691400/596 phuhwlwu wgnuiynipln (nbugbunutp) puqdulyndynubun < (pwljwgy 33800 50 1690.0
33691400/597 phihwlw wanwynyabp (nbwgbuntbn) pugdulndynubu,m L Inwljuugy 32500 2 65.0
33691400/598 phupwlwl wanuiynipbp (nbwgbbnubp) pugqiwlndynubun QL (g 88000 2 176.0
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33691400/599 phdhwyw wanwuniptip (nbwgbunutbp) pugiuwlndwynubun g< Inwlwqud 32500 2 65.0
33691423/502 |wpnpwwnnp wanwiyniphin (nbwgblnubn) pwgdwndunibun q< Inwlwqu 36852 14 515.9
33691423/503 |wpnpuwwnp wgnwiynyebp (nEwgbUnubn) pugiwyndunutbitin QL [nwlwqy 40935 16 655.0
33691423/504 |wpnpuwnnp wgnwibgnatin (nwgbuntbn) puquwyniuyntitin < [y 71400 20 1428.0
33691423/505 [wpnpuwwnnp wgnubynyebp (hbwgbuntbn) pwqdwlynduntibn q< nuiljugy 91as 18 1641.4
33691423/506 lwpnpwinnp wanwnyestin (nbwgbtnubn) puqiwlndynttitun 9 Inwljqd 76500 24 1836.0
33691423/507 [wpnpuwnhp wonwibniplbp (nbwqbuntbp) pugqdulyndwnubo, G< [nwlyuqd 121992 24 2927.8
33691423/508 |wpnpwinnp wonwunetn (nbwgblnubn) pugdulndynubun L [nwljgy 44000 2 88.0
33691423/509 (wpnpuwwnnp wanwnipbp (niwgbunubp) puwgdwlndwnubun Q< [nwljuqd 30000 5 150.0
33691423/510 (wpnpuwnnp wanwnptbp (nhwgbunubp) pugdwlyndwynubun 4L [nwlwgd 255000 7 1783.0
33691423/511 [wpnpuwnnp wgnwunyebp (nbwgblnutn) pugiwlndynubtin G< [nwiljuig 140000 7 980.0
33691423/512 [wpnpwwnnp wgnutnpbp (nbwgbunubn) puqiwlniwnubun k2 gy 140000 5 700.0
33691423/513 (wpnpuwwnnp wgrutyniebp (nBwgbbnbn) puguwyndunubn Qg (nwlwqu 85000 3 255.0
33691423/514 |wpnpwwnnp wgnwiynuyebn (nbwgbtnlbn) pugdwynduynubln < [nuwlwgd 265000 3 795.0
33691423/515 (wpnpwnnp warwbnebp (nBwgbtnutn) puqiwbnduntibon Q< [nwljugd 260000 16 4160.0
33691423/516 lwpnpwinnp wgnwnyebip (nbwgbtntibn) pugqdwlndwnubiun QL nwljuqd 189000 24 4536.0
33691423/517 lwpnpwnnp wanwiunyatin (nbwgbunubn) puquuyndynubiun Q< [nwlwqd 345000 8 2760.0
33691423/518 |wpnpwinnp wanwnebn (nbwgbunubn) puqdulndwnutun G [nwlwqy 85000 3 255.0
33691423/519 wpnpwnnp wgnwupnpbn (nbwgbunutn) puqdulndwnubm QL [nwljugy 590000 5 2950.0
33691423/520 |wpnpuwwnnp wgnwuympbn (nbwgbunutp) puqduyndynubun G< [nwljug 93000 3 279.0
33691423/521 |wpnpwwnnp wgnwinipbp (nbwgbtnubp) puqiwlndynubun QL [nuwljugdd 150000 4 600.0
33691423/522 |wpnpwwnnp wgnutyniehbp (nbwgblnubp) pugiwlndunubun G [nwbjugd 627000 20 12540.0
33691423/523 [wpnpwnnp wgnwungetp (nbwgbUnubn) puquwlnduynubun e [Pwiljuigy 300000 4 1200.0
33691423/524 (wpnpwwnnp wanwunueatin (nbwgbunubp) pwguwyndunubtn < (nuljwgd 258000 6 1548.0
33691423/525 lwpnpwnnp wgrpwbnyatip (nbwgbumnubp) pugdwlndunubian QL Inwluqd 890000 4 3560.0
33691423/526 \wpnpwnnp wanwynyabp (nbwqblntbn) puquuwindyntbie Q<L Inwluqd 445000 5 2225.0
33691423/527 {wpnpwinhp wanwunyatin (nbwgbnubn) pugduyndwnubun Q<L [nwluqy 225000 1 225.0
33691423/528 {wpnpwinnp wanwunetn (nbwgbinubn) pugdwlndynubiun Q<L [nwlgy 215000 3 645.0
33691423/529 [wpnpuiwnnp wgnwuynpbn (rbwgbtnutn) pugiwndynubun < (g 122298 1 122.3
33691423/530 |wpnpwwnnp wgnwbnipbp (nbwgbnubp) puqiwlndynubun QL Inwibjuuqu 108528 2 7.1
33691423/531 (wpnpwwnp wgnutgnyebp (nbwgbnubn) pugwlnduynubun q< [nwluigu 1800000 1 1800.0
24311129/501 quiliwqul wiopgwlwlw phuhwljw Unyebp 9< gpwd 20 1000 20.0
24311129/502 quitiuguill wiopguwlw phdpwlwt Unyebp GL g 90 160 14.4
24311129/503 quitiwqul whopquiiwlwl phuhwlwt Uniyelp q< qpud 15000 20 300.0
33691160/573 phuhwlwl wgnwlynybip (nwgbtnltn) qc huwwn 45900 80 3672.0
33691160/574 phuhwluwl wgnwniebp (nbwgblnltn) ac huitn 151200 20 3024.0
33691160/575 phuhwlwl wgnwynyetip (nbwgblnubp) q< hwun 30240 20 604.8
33691160/576 ppupwlw wanwiyniphn (nbwgbunubn) C hwin 129600 20 2592.0
33691160/577 phuihwlwt wgnuwunyebp (nbwgbuntbp) G hwin 45900 140 6426.0
33691160/578 phuhwlwl wqnuwnipbp (nbwgblnubn) QL hwin 22100 100 2210.0
33691160/579 phdhwlwu wgnwuniebp (nbwgbnubp) < hwin 22000 10 220.0
33691160/580 phupwlwl wgnwuniphp (nbwgbunubp) Q< hwn 21600 100 2160.0
33691160/583 phuhwlwl wgnwynipbp (nbwgbunlbp) QL hwwn 12996 15 194.9
33691160/584 phupwlwl wgnwunipbp (nbwgbunubnp) qL hwn 340 30 10.2
33691160/585 phupwlwl wgnuwnipbp (nbwgbunubp) L hwn 44700 40 1788.0
33691160/586 phihwlwl wgnwnyebp (nbwgblnubn) < hwn 76400 40 3056.0
33691160/587 phuhwlwu wgnwunpbp (nbwgbtnubp) < huwn 44500 20 890.0
33691160/588 phupwlwl wanwiynyebp (nbugbitnltp) a< huin 39200 10 392.0
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33691160/589 phdhwlw wgnwtynystip (nbwgbuwnubp) QL hwin 42480 1 42,5
33691160/590 phdpwlwl wgnwynietbip (nbwgbunubp) G hwin 248400 2 496.8
33691160/591 phupwlwl wanwnisbp (nbwgbuwntbp) i hwn 25920 30 777.6
33691160/592 phipwlwy wanwiynyabp (nbwgbunbp) QL hwin 51840 3 155.5
33691160/594 phupwlwl wonwlyniebp (nbwgbuntbp) QL hwn 70000 2 140.0
33691160/595 phipwywl wgnwiynipbp (nbwgblnubp) QL hwn 762300 & 1524.6
33691160/596 phdpwywl wqnwnptip (nGwgblntbp) ¢ huwn 59200 1 59.2
33691160/598 phuhwlwl wanwlynyelip (nbwgbuinlbn) 9L hwn 93000 45 4185.0
33691160/599 phipwlwl wqnwiynsbp (nbwgbunubp) QL hun 54000 8 432.0
33691160/600 phdpwljwl wgnwyniebp (hBwgktinubn) G< huwitn 27000 156 4212.0
33691160/601 phupwlwl wanwtynipbp (nbwgbtnlbnp) QL hwn 642000 2 1284.0
33691160/602 phupwywl wgnwlynisbp (nbwgbunubp) < huwiwn 184800 5 924.0
33691160/603 phihwlwu wgnwnebp (nbwgblnutp) QL huitn 184800 5 924.0
33691160/604 phuhwlwl wgnwtynypbp (nbwgbtnubn) 9< huin 47345 30 1420.4
33691160/605 phupwlwl wanuiynyabin (nbwgblnlbn) < hwin 51561 25 1289.0
33691160/606 phuhwlwl wanwynebp (nbwgblnlibp) < hwin 51561 10 515.6
33691160/607 phdpwlwl wgnwuynplp (nbwgblnubp) QL hwiwn 212290 9 1910.6
33691160/608 phuhwlwl wanwunpbp (nbwgbtntibn) Q< hwin 12155 2 24.3
33691160/609 phuihwlwl wqnwiynysbip (nbwgbnubp) 9 hwn 67150 2 134.3
33691400/600 phdhwlw wanwunyebip (nbwgbuwnubn) puguwlndwyntbtn 9L Inwlwqy 162000 15 2430.0
33691400/60 phuhwiywy wanwujnyebn (nbwgbtnttn) pugiwlndiynibun qc (nwuigy 97200 15 1458.0
33691400/602 phihwlwl wanwuniptn (nbwgbunutn) pugquwlndwynubun < [Pulugy 486000 15 7290.0
33691400/603 phuihwlwl wgnuwynietp (nbwgblnubp) puwgiwlnduwnubun Q< INluugy 270000 18 4860.0
33691400/604 phdhwlwu wanuwyniebp (nbwgblnbn) pugdwlndyntbn G [nwiljusqu 129600 12 1555.2
33691400/607 phipwlwt wgnwinyatin (ntwgbtinubp) pwquwlndunubtn G (nwiljugu 25000 1 25.0
33691400/608 phihwlwt wanwiynetn (nbwgbunubn) puquwlndunubm < [nuwljugu 53040 1 53.0
33691400/609 phupwlwl wanwnpbp (nbugbtntbn) puguwyndwnubun qg Inwlwqy 53040 1 53.0
33691400/610 phupwlwu wanwumptp (ntwqbunubn) puqiwlndynubtn q< (nwilugu 53040 1 53.0
33691400/611 phuhwlwl wanuwiynyebn (nbugblnbbp) pugiwyndynubun g Inwluqu 50000 4 200.0
33691400/612 phdhwlwt wanwunipbp (nbwgbuntbp) puqdwlndwynubun 9L Inwlwiqu 36000 4 144.0
33691400/613 phupwlpwt wgnuwynyebn (nBwgblnubn) pugdulndynubun QL il 387000 2 774.0
33691400/614 phdhwluwl wgnwynietin (nbwgbunitp) pugduinduyntbun G (nwluqu 78000 4 312.0
33691400/615 phupwlwl wgnuwgnystip (nbwgbUnubn) puquwlnduynutun Q< [nwlwqd 78000 4 312.0
33691400/616 phdpwlwl wanuiynietp (nEwgbtnubn) pwguwlnduyntbn S< [nuwiljuiqud 114000 4 456.0
33691400/617 phuhwlwl wanwunyetip (nbwgbunibn) puguiwlndunuttin a< Inuwbjuuqu 114000 4 456.0
33691400/618 phipuwlwl wanwynipbp (nbwgbuntbn) pugduyndynubun 9< [nwluq 240000 3 720.0
33691400/619 phihuwljut wqnuuniptp (nbwgbunutp) pugdulndynubiin qc Inwlwq 600000 1 600.0
33691400/620 phuhwlput wqnuungetn (nbwgbunutp) pugduyndynubun Q< Inwluqy 270000 3 810.0
33691400/621 phuhwlwy wanuynpbn (nbwgblunutn) pwugqdulndwnubnm 9< Inwilwigd 210000 1 210.0
33691400/622 phupwlw wanwyniebn (nbwgbunutn) pugdwlndwnubn < (nuljgy 16500 1 16.5
33691400/623 phuhwlwt wgnuwniyetn (nbwgbunubp) puqiwlndunubun GL [nwywqd 51000 1 51.0
33691400/624 phuhwlwl wanuiyniebp (nbwgbunubp) pugdwlndunutiun QL [nwlwgd 73920 3 221.8
33691400/625 phubwiluwl wanuitynipbip (nbwgblnbibn) puqiwlniuyntibn ac Inwljwgqy 85000 i 85.0
33691410/503 phupwlwl wgrwungebip (nbwgblnubp) hbnny < |htnp 19900 7 139.3
33691410/504 huhwlwu wgnwynpbp (nbwgbUwubn) htnndy QL {hinp 1780 10 17.8
33691410/505 phipwlwl wgnuitynabip (nBwghlinubp) hlinniy Q<L |hnp 2500 2 5.0
33691410/506 phupwlwy wqnuwymptp (nBwgblnlbp) hbinndy G< thinp 3500 1 3.5
33691410/508 phipwlwt wqnwnetp (nbwgbtnubp) henn gG< [hinp 1698 10 17.0
33691160/501 phuhwlwl wanwbjnyatp (nbwgblintbp) 9z huitn 170100 1 170.1
33691160/502 phuhwlw wgnwunyebn (nbwgblnubin) a< huwin 105900 7 741.3
33691160/503 phupwlwl wgnwunyebp (nbwgblnubn) AL huwin 708000 2 1416.0
33691160/504 phupwluwy wgnwujnabp (nbugbnubp) L huwin 147800 2 295.6
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33691160/610 phupwlwl wgnwiynysbin (nwghtinlbin) 9L hwin 162000 5 810.0
33691160/611 phihwlwu wgnwinyetip (nbwgbnubp) S< hwin 205400 3 616.2
33691160/612 phvhwlwl wgnuwiynebp (nbwgblunlibp) G< huin 141000 3 423.0
33691160/613 phipwlwu wqnwympbp (nbwgblnubp) 9L hun 18000 4 72.0
33691160/614 phdpwlwl wgnwyniptp (nbwgbtnubp) < hwin 220000 12 2640.0
33691160/615 phipwlwl wgnwiynystip (nbwgbtnutn) < hwwn 39000 40 1560.0
33691160/616 phupwlwt wqnwniplip (nbwgbintibn) < huin 225000 4 900.0
33691160/617 phublwl wanwljnyztip (nbwgbiintbn) G< hwwn 36000 20 720.0
33691160/618 phdpulw wgnwnplip (nbwgbnubn Q<L huwiwn 137700 1 137.7
33691160/619 phupwlwy wonwiynipbp (nbwgblntibp) QL huiin 60000 3 180.0
33691160/620 phuhwluit wanwlyniphp (nbwqbbntbp) qc huitn 60000 3 180.0
33691160/621 phupwluit wornwlynipbp (nbwgklntbn) q< huwiwn 495000 3 1485.0
33691160/622 phupwlwi wonwynipbp (nbwgblnubn) G< huwiwn 480000 2 960.0
33691160/623 phupwlwl wgrwlynipbp (nbwgblnbp) QL hwin 415000 2 830.0
33691160/624 phupwlywi wonwlynipbp (nbwgbunbp) Q< hwwn 414000 2 828.0
33691160/625 phupwlyw wgnwlyniptip (nfwgbunubp) Q< hwin 414000 2 828.0
33691160/626 phipwlwl wanwtynipbp (nbwgbunltp) QL hwun 415000 2 830.0
33691160/627 phuhwlwl wgnwnyatbp (nbwgbunubn) G< huin 485000 2 970.0
33691160/628 phuhwlwt wgnuiyniebp (nbugblntbp) G hwin 415000 2 830.0
33691160/629 phdhwlwl wanwlynyelp (nbwgbtnubp) L hwin 415000 2 §30.0
33691160/630 phdpwlwl wgnuwynypbip (nbwgblnubp) 9L huin 415000 2 830.0
33691160/631 phupwlwl wgnwynyabp (nbwgblnubp) L hwn 525000 2 1050.0
33691160/632 phdpwlwl wgnwynyabp (nbwgblntibn) L hwwn 485000 2 970.0
33691160/633 phipwlywt wanwinyetin (nbwgblntibin) QL hwin 415000 2 830.0
33691160/634 phuhwlwl wanuwtynyatp (nbugbtnbibp) q< huwin 415000 2 830.0
33691160/635 phupwlwl wonwlynypbp (nbwgbntbn) L hwwn 445000 2 890.0
33691160/636 phupwlwl wonwlyniplbp (nhwgbuntbp) < hwwn 415000 2 830.0
33691160/637 phupwlwl wgnuwyniphp (nbwgbuntbp) Q<L hwwn 54000 8 432.0
33691160/638 phupwyw wgnwlynipbp (nbwgbunubp) QL hwwn 165600 2 331.2
33691160/639 phuhwyu wanwtyniphp (nbwgktintbn) qc huwin 13000 8 104.0
33691160/640 phupwhwl wgnwlynipbp (nbwgbUnubp) G hwn 66000 2 132.0
33691160/641 phihwlwl wanwlynipbp (nbwgblunlbnp) QL hwwn 22500 12 270.0
33691160/642 phdpwlwu wanwynyabip (nbugblnubn) Q<L hwin 55000 2 110.0
33691160/643 phipwlwu wanwtynyetip (nbwgblnutp) <L hwin 152200 7 1065.4
33691160/644 phihwlywu wanwnetp (nbwgbunlbp G huutn 490000 1 490.0
33691160/645 phdpwlwl wgnwynyabip (nbugblntbn) < huwtn 410000 1 410.0
33691160/646 phupwlwl wgnuilynpbp (RbwqGbnlbn) 9 huwtn 410000 1 410.0
33691160/647 phupwlwl wgnwiynyatip (nbwqbunbn) G huitn 410000 1 410.0
33691160/648 phupuwliwt wqnwlnetn (nbugbntbn) q< huitn 410000 1 410.0
33691160/649 phupwlwu wgnwniplp (nbiwgbunubp) QL hwun 410000 1 410.0
33691160/650 puhwlwl wgnwynysbp (nbwgblintbn) <L hwiun 15000 12 180.0
33691160/651 phuhwlwl wgnwiynyebp (nbwqbunubp) 9L hwn 15000 12 180.0
33691160/652 phuhwiljwl wanwiynyetip (nbwgbntbp) 9L hwiwn 120000 3 360.0
33691160/654 phdhwlwt wanwuniptp (nbwgbunutp) QL hwin 18400 6 110.4
33691160/655 phupwlwl wgnuwtynipbp (nbwgbuwbp) Q< hwwn 30000 3 90.0
33691160/663 phupwlwl wgrwnipbp (nbwgblnttp) 9L hwun 360000 6 2160.0
33691160/664 phuhwlwt wanwlynipbip (nbwgBlnlbp) q< hwn 86600 1 86.6
33691160/665 phupwlwl wgnwlympbp (nbwgblunubp) 9L huwiwn 90000 1 90.0
33691162/501 wpnpwwnnp wanwuniehp (nbwgbtnutp) GL huun 143100 3 429.3
33691162/502 |wpnpwwnnp wgqwniphp (nbwgbunubn) G< hiutn 114000 3 342.0
33691162/503 |wpnpwnnp wanwniphbp (nbwgbunubn) 9L huin 124200 3 372.6
33691162/504 |wpnpwinnp wgnutyniphbp (nbwgbnutp) QL huwin 435000 10 4350.0
33691162/505 |wpnpwwnnp wanutgniebp (nbwgblnubn) <L hwwn 183600 10 1836.0
33691162/506 \wpnpwwnnp wanwunuyabip (nbwgblnlbp) < hwwn 42600 3 127.8
33691162/507 {wpnpwwnnp wgnwbnyatip (nbwgblnttp) < hwwn 39200 4 156.8
33691162/508 |wpnpwinnp wgnuwnyebn (nbwgbnutp) Q<L hwin 684000 10 6840.0
33691162/509 Jwpnpwwnnp wgnwlnipbp (nbugblnbibn) qc hwtn 190400 4 761.6
33691162/510 lwpnpwinnp wonwniebp (nbwgbtiinutn) < hwn 699000 3 2097.0
33691162/511 {wpnnwinnp wgnwunipbp (nbwgbntbn) QL huwn 699000 3 2097.0
33691162/512 wpnpwinnp wgnwniphp (ntwgbitiinutin) Q< hwn 300000 3 900.0
33691162/513 |wpnpwiinnp wgnwujniplp (nbwgbuwnubip) S< huwin 199800 10 1998.0
33691162/514 |wpnpwiinnp wgnwunipbp (nbwabitintbn) G< hwtn 197100 2 394.2
33691162/515 lwpnpuwinnp wgnwnipbn (nbwgbunubp) < hwin 174800 1 174.8
33691162/516 wpnpwwnnp wgnwuniehp (nbwgbinubn) 9L huin 143100 6 858.6
33691162/517 wpnpwwnnp wgnwniehbp (nbwgbunutp AL hwwn 206600 3 619.8
33691162/518 {wpnpuwiwnnp wgnwyniptip (nbwgbunutp) a< hwin 108350 8 866.8
33691162/519 (wpnpuwinnp wgnwlngabip (nbwgbuwnubp) QL huwin 180900 4 723.6
33691162/520 |wpnpwunnp wgrwgnuyabp (nbwgbunutn) L hwun 52000 2 104.0
33691162/521 |wpnpwwnnp wgnwnipbp (nbwgblnubn) QL hwwn 330000 2 660.0
33691162/522 |wpnpwuinnp wgnwynuyabn (nbwgbunubn) < hwn 190400 6 1142.4
33691162/523 [wpnpwwnnp wgnwbyniebin (nbwgbunubp) G< hwin 126000 6 756.0
33691162/524 {wpnpuwnnp wgnwnuyatip (nbwgblnutbn) G hwwn 193800 8 1550.4
33691162/525 [wpnpuinnp wgnwniebp (nbwgblntbp) QL hwn 206600 6 1239.6
33691162/526 |wpnpuwinnp wgnwynieln (nbwgbUnubp) QL hwtn 130900 6 785.4
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33691162/527 {wpnpwnnp wgnwnebn (nbwgbtntitbn QL hwin 197100 5 985.5
33691162/528 Jwpnpuinnn wanwuniphn (nbwgbiinubn) 9 hwn 189000 3 567.0
33691162/529 wpnpwinnp wgnuniehp (nbwgblnmutn) G hwn 143100 10 1431.0
33691162/530 {wpnpwinnp wanwunipkn (nbwabtiintbp) GL huwn 128900 2 257.8
33691162/531 Jwpnpwinnp wgnwnyebn (nbwgbitnutin) L hwin 345000 10 3450.0
33691162/532 {wpnpwinnp wgnwniebp (nbwgbUnubp) 4L huwin 136400 10 1364.0
33691162/533 [wpnpuinnp wanunyehp (nbwgblntbp) S< hustn 124200 10 1242.0
33691162/534 [Wpnpwwnnp wanwnuyebp (nbwgbunibp) 9L hwwn 155900 10 1559.0
33691162/535 |wpnpwinnp wgnwuniphp (nbwgbnutn) 9L huitn 138000 16 2208.0
33691162/536 wpnpwwnnp wgnwuniehp (nbwabunutn) L huwin 39200 10 392.0
33691162/537 {wpnpwinnp wygnwnyatip (nbwgbnttip <L hwwn 540000 2 1080.0
33691162/538 |wpnpuwinnp wanwniphp (nbwgbtiintbp) 4L hwin 141800 2 283.6
33691162/539 {wpnpuwinnp wgnwnipbp (nbwgbuwnubp) G< hwin 145000 8 1160.0
33691162/540 |wpnpuwinnp wgnwjniplip (nbwgbunutp) L hwwn 111400 8 891.2
33691162/541 (wpnpuwwnnp wanuwlynipbp (nbwgblnubp) < huwn 187700 8 1501.6
33691162/542 |Wpnpwnnp wgnwniehp (nbwgbunubn) QL huwin 147200 8 1177.6
33691162/543 |wpnpuwinnp wanutniphbp (nbwgblnubn) q< huwtn 144000 8 1152.0
33691162/544 [Wpnpwwnnp wanwniptp (nbwgblnutn) QL hwin 168000 5 540.0
33691162/545 Jwpnpuwinnp wqnwinyatp (nbwgbunltbp) QL huwin 157900 5 789.5
33691162/546 Jwpnpwinnp wgrwlnypbp (nBwgblnubp) < hwiwn 126000 3 378.0
33691162/547 \wpnpwinnp wgnwlnyatip (nbwgblinltbp) < hwin 111000 12 1332.0
33691162/573 \wpnpwnnp wgrpwbnetin (nbwgblnttbp) L hwn 178200 5 891.0
33691162/574 |wpnpwnnn wanwlniphbn (nbwgblintbn) qc huwn 150000 8 1200.0
33691162/575 \wpnpuwinnn wonwbynyetip (nbuwgbtintbn) L hwn 159900 2 319.8
33691162/590 {wpnpwnnp wagnwunetip (nbwgbtinutbn) q<L hwin 58000 3 174.0
33691162/654 [wpnpwnnp wgnwnyebp (nbwgbtinutn) QL huwwn 64000 3 192.0
33691162/666 {wpnpwinnp wgnwniphn (nbwgbtinutin) < hin 155900 3 467.7
33691162/713 |wpnpwinnp wgnwnupbn (nbwgbUuntbp) S< hwin 148500 3 445.5
33691400/501 phuhwlwu wgrwnyebp (nbugbtntbn) pwquulndunubuen QL [nwlwgd 174000 i@ 696.0
336914007502 phipwlwl wgnwyniebp (nbwgbinlbn) pugdwyniynutiin QL Inwljuqud 85000 3 255.0
33691400/503 phuhwlwl wgnwiynipbp (nbwgbuntbn) puqdwyndyntibiin G< (nwljugud 195000 2 390.0
33691420/501 |wpnpuwnnp wanwniebp (nbwgbunubn) puwgdwlndunubun < \nwiljuqd 525000 B 4200.0
33691420/502 (wpnpwinnp wgnwtyniptn (nbwgbunubn) puqiwlniyntbun qg \nwluugd 525000 4 2100.0
33691420/503 (wpnpwwnnp wanutynipbp (hbwgbUnubn) puguuwlnduyrubun 4L Inwljuqu 148700 460 68402.0
33691420/504 |wpnpuwwnnp wgnwbnyabip (nbwgbunutin) pwqdwindwnubun G< Inwlwgd 46080 400 18432.0
33691420/505 |wpnpwinnp wanwbmptn (nbwgbunubp) pugiwlndwnubim < Inwlwqu 240000 5 1200.0
33691420/506 [wpnpwinnp wanwnyetn (nbwgbtnutn) puquwindwnubun QL [nwlwqd 100000 1 100.0
33691420/507 lwpnpwnnp wgnwunyabin (nbwgbUnttin) puwquwyndwynubun G (nwlgy 114000 1 114.0
33691420/508 (wpnpuinnp wgnwunpbn (nbwgbunutp) pugdulndynubun < (g 210000 8 1680.0
33691420/509 {wpnpwinnp wanwgmebn (ntwgbtnutp) pugdwindynubun 9L inwluqu 240000 7 1680.0
33691420/510 wpnpuwwnnp wgnwtniebn (nbwgbunbibin) puqiwlnduyntbun < Inwlwqd 66000 1 66.0
33691420/511 |wpnpwwnnp wgnutnipbp (nEwgbunubn) puquwlndunubun Q< Inwljwgy 416667 3 1250.0
33691420/512 |wpnpwinnp wgnwbnpetn (nbwgbunubp) pwqiwlniynubunm Q< Inwiljwgy 416667 3 1250.0
33691420/513 |wpnpwinnp wgnubnipbnp (nbwgbbnubp) pugdwyndyntibton L Inuljwgy 288000 1 288.0
33691420/514 |wpnpwiinnp wqnwnetn (nbwgbuinubin) pugdwlndujnutiti; Q< Inwluqu 61200 5 306.0
33691420/515 |wpnpuwwnnp wanwbnyebp (nbwgbtnubn) pugdwyndwntibton < [nwljwgy 61200 5 306.0
33691420/516 lwpnpwnnp wanwlnyatin (nbwgbunubn) pugiulndynttitun QL [nwluqgd 61200 5 306.0
33691420/517 (wpnpuwinnp wanwinialp (nbwgbtnubn) pugdwyndwnubem < nuwiljwqy 36800 5 184.0
33691420/518 |wpnpwinnp wqnwumptn (ntwgbunutn) pugdulndynubun Qg [nuwljugu 540000 2 1080.0
33691420/520 {wpnpwinnp wanwumpbp (nbwgbnubp) pugdundynubun 3L [nuwiljuigqud 26000 5 130.0
33691420/521 wpnpwinnp wgnwunptp (nbwgbtnutn) puqiwyndynubun Q< [nwlywqd 397500 4 1590.0
33691420/522 [wpnpwwnnp wanutynpbn (nbwgbtnubn) pugdwlndwynubun < Inwljwqu 360000 1 360.0
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33691420/706 |wpnpwnnp wanwinyebp (nbwgblnutn) puqiwlndunubun < (nwlwgd 330400 1 330.4
33141211/501 pdouiljwl wy| gnpdhplbip — wwpwqwbp QL huwn 582 12 7.0
33141223/506 pdalwlwt w) gnpshpubn — wwpwguubp pugdwyndunubun qg inwlwqu 51000 15 765.0
33141223/507 pdalwlwl wj gnpdhpubp — wwpwguwubp pwqiwlyndunubtin <L Inwluqd 25999.5 4 103.998
33191310/503 thnpdwlnpubp QL huwin 116.667 12000 1400.0
33211140/501 Phihanphtu Bilirubin /Cunhwunigy — ninhn phihnniphtih npngdwt ac B 2028 6000 1917
phup-hwwpwdnt
33211150/501 Uhquiuynie Urea-Col/Uhquiujnysh npngdwu phup-hwwwpuént Q< hwin 2.3 5000 106.5
33211160/501 ity CREol TanaumbUp nmet Mg 9¢ huitn 9.57 5000 47.9
hwiwpuwidnt
33211230/501 M- mupprt RER CARBON (UpShuf rawgduds phup- 9¢ hwitn 109.375 12480 1365.0
huwiwpuwéni/
Cowywinpin B dhpnwuh wwnhgblh npwljuljwt hwjinbwpbpdwt
33211320/50 3
/502 itk L hwn 105 9600 1008.0
<hi G
33211321/501 i G gn i aneon AN R | o, huin 97.88 9600 939.6
rhup-hwlwpwdnt
33211321/502 “tayunapin G qap s ekt sty hapnlapGnil 9c hwith 105.36 8000 842.9
mhup-hwywpwdnt
33691160/666 phdhwlwu wgnwuniptp (nbwgbnubp) QL hwin 12.6 2000 25.2
33691160/667 phdhwlwu wgnwinpbp (nbwgbtinubp) < hwn 18.0 30000 540.0
33691160/668 phdhwlwu wanwnyetp (nbwgbnubp) QL hwn 178.2 1000 178.2
33691160/669 phuipwlwl wgnwnypbp (ntwgbunubp) < hwtn 18.0 5000 90.0
33691160/670 phuhwlwl wgnwtynyabip (nbugblnubn) QL huun 26.4 1400 37.0
33691160/672 phupwlwl wgnwiynyebp (nbwgktnubn) Q< hn 7.536 3000 22.6
33691160/673 hlhwlwu wgnuwiynysbp (nbwgblinubp) Q<L huwin 8.76 2000 17.5
33691160/675 phihwlwl wgnwnyetp (nbwgbtnubp) G hwin 33 800 26.4
33691160/676 phipwlwl wanwunyatin (nbwgbunubip) q< hwtn 26.4 1400 37.0
33691160/677 phuhwlwl wgnwiynatip (nbwgbtntbn) G< hun 26.4 1000 26.4
33691160/678 phuhwywl wgnwynystip (nbiwgbuwtp) L hwn 19.68 20000 393.6
33691160/679 phupwlwl wanwtynystn (nbwgbtnlitp) a< huin 83.28 15000 1249.2
33691160/680 phihwlwl wgnwiynyebip (nbwgbUnbbp) < hwwn 345 192 66.2
33691160/681 phupwlwl wgnwnypbp (nbugbntbp) L huwin 345 192 66.2
33691160/682 phihwlwl wanutyniebp (nEugkuinlibn) 9 huitn 393.75 960 378.0
33691160/683 phupwljwl wanwljnystin (nwgtluntibin) a< huin 393.75 960 378.0
33691162/714 |wpnpwinnp wgnwniebn (nbwgbuwnutin) GL huwin 155.13 9600 1489.2
33691162/715 |wpnpwwnnp wgnwniehbp (nbwgbtnutn) 9< hwun 1120 1152 1290.2
33691162/716 |wpnpwnnp wgrulniplbn (nbwgbunubn) < hwiwn 640 480 307.2
33691162/717 lwpnpwinnp wanwbngabip (nbwgbunubp) L huwin 640 480 307.2
33691162/718 |wpnpwwninp wanwbynyskp (nbwgblnbbp) < hwwn 640 480 307.2
33691162/719 |wpnpwinnp wigrwtyniyzbp (nbwgblntn) Q< hwuwn 153.75 5760 885.6
33691162/720 {wpnpwnnp wgnuwuniphp (ntwgbnutbp) QL hwn 69.36 8000 554.9
33691162/721 {wpnpwnnp wgnuwunplp (nbwgblunutbp) < hww 405.6 600 243.4
33691162/722 Jwpnpwnnp wgnwbnetp (nbwgbunutp) QL hwwn 118 600 70.8
33691162/723 {wpnpwnnp wanwinyetip (nbwgblnlbp) 9< hwiwn 33.84 1800 60.9
33691162/724 \wpnpwinnp wgnwljnyatip (nbwgblintbn) Q< hwin 1000 60 60.0
33691420/707 lwpnpwinnp wgnwnyatp (nbwgbunubn) pugdulnduntbn QL Inwluqy 74000 25 1850.0
33691420/708 |wpnpwinnp wanubnysbp (nbwgblnubp) pugdwlyndwnutitin GL |nulgy 62000 15 930.0
33691420/709 |wpnpwinnp wgnwinyebp (nbwgbbntbp) pugdulndwnubue QL [nulyugu 48000 150 7200.0
24311360/502 twinphnwih pinphun 4L Yhingpwd 2 0.0
24321650/501 qhgbinht a< Uhinapud 0.1 0.0
33141211/524 pdolwiljwit wy gnpdhpubip — wwpwgwubp < huwn 10 0.0
33141223/508 pdalwljwt wy gnpdhpubin — wwpwgwlbp pwgdwlniwynubm S< Inwwqd 2 0.0
33611430/501 Yuipnuih jnnhn r05ca02, sO1xa04, v03ab2i q< Lhingpwd 3 0.0
33691134/502 Ywhnwih pinphn a12ba01, b05xa01 L Yhingpwd 0.3 0.0
33691160/686 phupwlwy wanwjnpbp (nbwgblnubp) L huin 1 0.0
33691160/687 phupwywl wgnwnehp (nbwgbtunutp) L huin 1 0.0
33691160/688 phihwlwy wgnwunyatip (nbwgbuntbn) < hwin 1 0.0
33691160/689 phuihwlw wgnwujnyehbp (nbwgblnubp) A< huin 1 0.0
33691160/690 phuhwywl wgnwuinyebp (nbwgbuwnubip) 9< hwin 1 0.0
33691162/725 |wpnpwiinnp wgnuwunyebp (nbwgblnubn) < huin 1 0.0
33691162/726 |wpnpwinnp wgnwnebp (nbwgblnutbp) 9L hwwn 1 0.0
33691162/727 |wpnpuwwnnp wgnwniphp (nbwgbUnubp) YL hwwn 2 0.0
33691162/728 |wpnpwinnp wgnwbnebp (nbwgblnutp) QL huwn 1 0.0
33691162/729 |wpnpunnp wagnwlynipbip (nbwgbbnubn) < huwin 2 0.0
33691162/730 |wpnpwinnp wgnwunyatp (nbwgbbunttn) 9L hwuwn 1 0.0
33691162/731 |wpnpuwinnp wgnwnyabip (nbwgbbuntibp) < hwn 1 0.0
33691162/732 Jwpnpwinnp wanuwniatp (nbwgbunubn) 9L hwin 1 0.0
33691162/733 wpnpuwnnp wgnwniplp (nbwgbuinubp) Q< hun 2 0.0
33691162/734 |wpnpwinnp wonwuniehbp (nbwgbnubip Q< hwwn 1 0.0
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33691162/735 Jwpnpwnnp wgnuwbjniphp (nbwgbuntp) QL hwwn 4 0.0
33691162/736 Jwpnpwinnp wgnuwupnplp (nbwgbunutbp) QL hwin 1 0.0
33691162/737 |wpnpwnnp wagnwnetp (nbwgbunutp) Q< hwwn 1 0.0
33691162/738 Jwpnpuinnp wgnwjnyatip (nbwgbntbp) q< hwin 1 0.0
33691162/739 \wpnpwwnnp wgnwnyatip (nbwgblntibn) < hwn 1 0.0
33691162/740 \wpnpwnnp wgnuwuniphp (nbwgbunutp) G hwtin 2 0.0
33691162/741 Jwpnpwnnp wqnwiynplin (nbwgbnbn) gL hwwn 2 0.0
33691162/742 |wpnpwinnp wgnwiynyetin (nbwgbtnbbn) gL huwtn 1 0.0
33691162/743 |wpnpwnnp wgnwlnpbp (nbwgbbuntibn) < hwwn 1 0.0
33691162/744 |wpnpwnnp wgnwiynebp (nbwgbbuntitn) QL hwn 1 0.0
33691162/745 |wpnpuwiinnp wgnwnyabp (nbwgblwntn) QL huwtn 1 0.0
33691162/746 |wpnpuwiinhp wgnwinyebp (nbwgblntiin) QL hwn 1 0.0
33601162/747 |wpnpuinnp wanuwbniplp (nbwgbunubn) < huwwn 3 0.0
33691162/748 |wpnpuinnp wynwnipbp (nbwagbnbtp) < huwiwn 1 0.0
33691162/749 |wpnpwwnnp wgnwuniphp (nbwgbunutn) 9L huwin 1 0.0
33691162/750 [wpnpwinnp wqnwlyniebp (nbwgbunbp) L huwin 1 0.0
33691162/751 |wpnpwnnp wanwlnipbp (nbwgbunubp) a< hwin 1 0.0
33691162/752 |wpnpwwnnp wgnwunyebp (nbwgbtntin) L huwin 1 0.0
33691162/753 |wpnpwuninp wqnwnyetp (nbwgblnutn) q< huitn 2 0.0
33691162/754 |wWpnpwwnnp wgnwyniphbp (hbwgbunlbn) G< huwiwn 2 0.0
33691162/755 |wpnpwwnnp wgnwynipbp (nbwgblnubn) 9 hwwn 2 0.0
33691162/756 {wpnpwnnp wgrpubpnystip (nbwgbtmtibp) QL hwin 1 0.0
33691162/759 |wpnpwinnp wgnwbynyabp (nbwgblunttp) QL hwwn 1 0.0
33691162/760 \wpnpwinnp wgnwlnyatip (nbwgblntbp) i huwin 1 0.0
33691162/761 Jwpnpwnnp wgnwnyetp (nhwgbumubp) G< hwn 1 0.0
33691162/762 Jwpnpwinnp wgnuwniphp (nbwgbwubp) QL hwn 1 0.0
33691162/763 |wpnpwnnp wgnwinyetp (nbwgbtuntibp) G hwn 1 0.0
33691162/764 Jwpnpwwnnp wgnwuniebp (nbwgbtnttbn) QL hwn 2 0.0
33691162/766 Jwpnpwnhp wgnwunietp (nbwgbtintibn 9L hwin 1 0.0
33691162/767 |wpnpwinnp wanwniphp (nbwgbnubp) QL hwn 1 0.0
33691162/768 |wpnpuwwnnp wgnwunipbp (nbwgbunutin) 4L hwn 1 0.0
33691162/769 |wpnpuwiinnp wgnwunypbp (nbwgbUnutp) Q< hwin 1 0.0
33691162/770 |wpnpwwnnp wgnwuniebp (nbwgbunutn GL huwwn 1 0.0
33691162/771 |wpnpwwnnp wanwniebp (nbwgbinutbin) qL huwin 2 0.0
33691162/772 |wpnpwnnp wgnwlnyabp (nbwgblnubp) a< huwin 3 0.0
33691162/773 |Wwpnpwnnp wgnwtyngebn (nbiwgbunubn) 9L hwin 2 0.0
33691162/774 |wpnpwwnnp wgnunipbp (nbwgbunutn) qL hwwn 1 0.0
33691162/775 |wpnpuwnnp wgnuwtynipbp (nbwgbUnubn) < hwwn 1 0.0
33691400/504 phdhwlwt wgnwinipbp (nbwgbnibn) pugdulndyntbum 9< (nwljwqu 1 0.0
33691410/509 phupwlpwt wgnuwuyniptp (nbwgbunutp) hbnmy < hup 0.5 0.0
33691410/510 phupwlwl wgnwynpbp (nbwgbbnutp) hbnmy QL (huip 0.1 0.0
33691410/511 phupwlw wgnwunyebp (nbwgbtnutp) hinny QL hup 20 0.0
33691410/512 phupwlwt wgnuwunyatp (nbwgblnubp) hbnnly QL jhwp 20 0.0
33691410/513 phupwlwl wonwlyniptbp (nbwgbunubp) hbinny QL |hunp 1 0.0
33691411/503 phipwluwts warpwlynipbp (nbwgbunbp) gingh Gud gputngubp L lhingpund 0.5 0.0
33691411/504 phihwlwu wanwynebp (nbwgblntbip) tingh Ywd gputnytbp < Yhingpwd 0.5 0.0
33691411/505 phdhwlwu wanwnyetin (nbwgbtintbp) thngh Yud gpuungutp &< Yhingpwd 0.5 0.0
33691411/506 phuhwlwl wanwljnyabip (nbwgbtnubn) tingh Ywd gpwunyubn L Lhingpwd 2 0.0
33691411/507 phuhwljwt wognwunetn (nbwgbtnutin) gingh Yuwd gpuunyubp < Yhingpuwd 2 0.0
33691411/508 phupuwlpwt wgnwuniebp (nbwgbumutp) tingh Gud gputngutbp < Yhingpuwd 3 0.0
33691411/509 phipwlw worwlympbp (nbwgbumubn) tingh Gwd gputingubp < Yphingpuid 30 0.0
33691411/510 phihwlwl wgnwynyetin (nbwgbumutn) tingh Yud gputingutip < Yhingpuwd 40 0.0
33691420/710 |wpnpusnnp wanwiynielbp (nbwgbunubn) pugdwyndwnubunm QL [nuljugd 1 0.0
33691420/711 wpnpwinnp wqnwneln (nbwgbunubn) pugdwindwnubtn G< [nulylug 1 0.0
33691420/712 {wpnpwinnp wanwnpkn (ntwgbinubn) pugdulndwnubiun QL [nwljug 1 0.0
33691420/713 {wpnpwnnp wanwnipbp (nbwgbnubp) pugduyndynubun QL g 1 0.0
33691420/714 |wpnpuwnnp wgnwinyebp (nbwgbbnttbn) pugdulndwnubunm G [wilyuug 30 0.0
33691420/715 wpnpwnnp wanunpbp (nbwgbuntbin) pugiwlndynubun ag [nwlugd 4 0.0
33691846/501 Yhwpnuwppny (hinuwppnt qL Yhingpwd 0.5 0.0
33141211/534 pdolwlwl w) gnpdhplbip — wWwpwgwtp GL hiiwn 5700 800 4560.0
33141211/535 pdalwljwl w) gnpshpubip — wWwpwgwltp G< huwin 5700 800 4560.0
33141211/541 pdolwljul wy gnpdhpubin — wwpwgwbp L huwin 5700 550 3135.0
33691160/692 phuhwlwy wgnwinyetp (nbwgblnubn) < huiwn 600 120 72.0
33691160/693 phupwlwt wgnwiynipbp (nhwgbunubp) 3L hwn 49800 5 249.0
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33691160/694 phuhwlwu wgnwujnyztp (nbwgbuwnutin) L huwin 3400 2 6.8

33691160/695 phuhwljwt wgnwunyebp (nbwgbunubp) a< huwitn 48000 2 96.0
33691160/696 phuhwlwt wgnwinpbp (nbwgbunubp) 9L huwin 58000 2 116.0
33691162/776 |wpnpwunp wgnwbnipbn (nbwgbunbbp) S huitn 16.8 1000 16.8
33691162/777 |wpnpwnnp wgnwiyniebp (nbwgblntin) q< hwin 16.8 1000 16.8
33691162/778 |wpnpwwnp wgnwynyabp (nbwgbunubp) Q< huwwn 16.8 1000 16.8
33691162/779 [wpnpwiwnnp wgrubnipbp (nbwgbunutn) G< hwtn 16.8 1000 16.8
33691162/780 (wpnpwnnp wgnuibynihp (nbugbunubp) 9L huwin 16.8 1000 16.8
33691162/782 |wpnpwwnnp wgnuuniphp (nbwgbunubn) QL hwwn 16.8 1000 16.8
33691162/784 [wipnpuwinnp wgnwlynipbp (nbwgblntubp) 9L hwin 16.8 1000 16.8
33691162/785 |wpnpwnnp wgnwinyebn (nBwgbunubn) L hwwn 16.8 1000 16.8
33691162/786 |wpnpwwnnp wgnwtynyebip (nbwgblnubp) 9 hwin 16.8 1000 16.8
33691162/787 |wpnpwwnnp wqrnwtgnystp (nbwgbunubp) 9L hwwn 16.8 1000 16.8
33691162/788 |wpnpwwnnp wgrwunyetip (nbwgbunubn) QL hwwn 16.8 1000 16.8
33691162/790 |wpnpwwunnp wgnuwiynyekp (nbwgbunubn) Q<L hwwn 16.8 1000 16.8
33691162/791 (wpnpwwnnp waruwtynebp (nbwgbunlbp) G hwin 16.8 1000 16.8
33691162/792 |wpnpwnnp wigrnwtynyabip (nbwgblnubp) G< hwin 16.8 1000 16.8
33691162/793 |wpnpuinnp wgnwnielbp (nbwgbunubn) GL hwin 16.8 1000 16.8
33691162/794 |wpnpwinnp wgnwtynyabip (nbugbtnubn) QL hwin 16.8 1000 16.8
33691162/798 |wpnpwnnp wgrubnetp (nbwgbumutp) QL hwn 16.8 1000 16.8
33691162/799 Jwpnpwinnp wgrubnebin (nbwgbtiinttp) G< hwin 16.8 1000 16.8
33691162/800 Jwpnpwinnp wgnuwnyeskip (nbwgbtintbn) L hwin 16.8 1000 16.8
33691162/801 Jwpnpwinnp wgnuwnyestip (nbwgbnltp) QL hwin 16.8 1000 16.8
33691162/802 Jwpnpwinnp wgrubnyesbip (nbwgbitiintibip) L hwin 16.8 1000 16.8
33691162/803 {wpnpwinhp wgnuwuniphp (nbwgbunutp) QL hwwn 16.8 1000 16.8
33691162/804 Jwpnpusnnp wanwbynyabip (nbwgblnubp) a1 hwin 16.8 1000 16.8
33691162/807 Jwpnpwinnp wgnwnyztip (nhwgbnutbn) QL hwin 16.8 1000 16.8
33691162/810 |wpnpuwinnp wynwbnyabp (nbwgbbntbn) 9L hwwn 16.8 1000 16.8
33691162/811 Jwpnpwinnp wanwnighp (nbwgbitiinubp) L hwun 16.8 1000 16.8
33691162/813 |wpnpuwinnp wgnwinipbp (nbwgbUuntbp) QL hwtn 16.8 1000 16.8
33691162/814 Jwpnpwinnp wgnwuniebp (nbwgbtinutin) G<L hwin 16.8 1000 16.8
33691162/815 Jwpnpwinnp wgnwnuyekip (nbwgbtintibn) Q<L hun 16.8 1000 16.8
33691162/816 Jwpnpwinnp wgnwunielp (nbwgbiinubp) QL hwn 16.8 1000 16.8
33691162/817 Jwphpwinhp wgnuuniplp (nbwgbtinttbp) < huwn 16.8 500 8.4

33691162/818 Jwpnpwinnp wgnwniebp (rbwgbtintbin) G huin 16.8 1000 16.8
33691162/819 |wpnpwinnp wgnwunebp (nbwgbtuntbn) Q< huin 16.8 1000 16.8
33691162/820 |wpnpuinnp wgnunyatp (nbwgbtwnubp) QL hwn 16.8 1000 16.8
33691162/821 Jwphpwwnnp wgnwniplp (nbwabtnubnp) QL huwwn 16.8 200 3.4

33691162/901 |wpnpwiinnp wgnwunyehp (nbwgbtnutp) G< hwn 16.8 400 6.7

33691162/903 |wpnpuwinnp wgnwnystp (nbwgbuwnbp) QL hwn 16.8 1000 16.8
33691162/904 |wpnpuwinnp wgnwunyebp (nbwgbUwnubp) L hwtn 16.8 500 8.4

33691162/908 Jwpnpwwnnp wgnwuniphp (nbwgbiinubp) 9L hwn 16.8 1000 16.8
33691400/505 phihwlwu wanwinyatn (nbwabuinubp) puquwlndynubun G< [nwlugd 40000 2 80.0
33691400/506 phuhwlwl wanwunetn (nbwgbnutbn) pugiwlndynubiun QL (Mg 24000 4 96.0
33691400/507 phupwljwu wgnwunptn (nbwgblnubn) puguuyndynubun i (nwljuugu 28800 2 57.6
33691400/508 phihwlwt wgnwiynyebp (nbwgbbntbn) pugdwlndwntibim qc Inwljugy 14400 2 28.8
33691400/510 phupwljwt wgnwiymebp (nbwgblnutp) pugdundynutun Q< Inwlwuqu 18000 3 54.0
33691400/51 phuhwljwy wgnwuympbn (nbwgblnutn) puqdwiyndynubn < (nuwljwgy 23000 3 69.0
33691400/512 phuhwljut wgnwunyelnp (nbwgbunubp) pugdwlndynubun 9 nwlugyd 16800 8 134.4
33691410/514 phuhwlw wgnwiymniebp (nbwgbtuntbp) hbnny QL hwp 1500 3 4.5

33691410/516 phupwlwy wgnwumnipbp (nbwgblnubp) hbnny Q<L hwp 3000 30 90.0
33691411/511 phuhwlwt wgnwumipbn (nGwgbnttn) tingh Ywd gpuwnyubp Q< Lhingpwd 41800 25 104.5
33691411/512 phuhwlwl wonwuynyebn (nbwgbuwnubp) tingh Gud gpuitingubp < Yhingpuwd 38800 1 38.8
33691411/513 phuhwlwt wanwnyatin (nbwgblnubp) gingh Ywd gputnyutp 9 Yhngpwd 44000 3 132.0
33691411/514 phupwlwl warnwnipbn (nbwgbumubp) tingh wd gputinyutp QL Yhngpuwd 40000 3 120.0
33691411/517 phihwlwl wanwynyebp (nbwgbunubn) thngh Ywd gpuwtingubp QL Yhingpud 49600 0.5 24.8
33691411/518 phuhuwlwls wanwtynyzbn (nbwgbtnttn) thngh Yuwd gputingubp a<c Yhingpuwd 37000 4 148.0
33691411/519 phihwlwt wanwnyebn (nbwgbuwnutn) tngh wd gpwtingubp L Yhingpuwd 42000 3 126.0
33691411/520 phupwlwl wgnuwunyebp (nbwgbunubp) gingh Gud gpuunyutn Q< Yhingpwd 80000 0.25 20.0
33691411/521 phuhwlwl wgnuwtgnetip (nEwgbunubn) tinzh Yud gpuunyutn Qg pngpuwd 99200 0.25 24.8
33691411/522 phuhwlwl wgnuwiynystp (nhwgbuntbp) thngh Yud gpuwunyutn 4L Yhpngpwd 49600 0.5 24.8
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33691411/523 phupwlwt wqnuwunietn (nbwgblnutn) tingh Yud gpuwunyutbp 9< Uhingpwd 4600 2 9.2
33691411/524 phupwlwt warwlyniebp (nbwgbnubn tingh Yud gputingubp G Lihingpwd 28800 25 72.0
33691411/525 phupwlwl wgnuwuynipbn (nbwgbUnlbp) thngh Yud gpuunyutp G< Yhingpwd 44800 2 89.6
33691411/531 phihwlut wanwyniptip (nbwgbtntbn) tngh Yud gputingutp 4< Uhingpwd 34800 1 34.8
33691411/532 phupwlwl wgnwiynietip (nbwgbnubp) ghingh Yud gpuunyutp GL Ypingpwd 34800 0.5 17.4
33691411/533 phdhwlwl wgnubnyetip (nbwgbunubn) tingh Yud gpungttip G U ngpuwd 40000 0.5 20.0
33691411/534 phihwlwl wanwnatp (nbwgbunlibn) gingh Yud gputngutip Q< Yhingpuad 100000 0.25 25.0
33691411/535 phihwlwl wanwiynyetip (nbwgbituntbin) gingh Yuad gpuungutp < Yhingpuwd 47000 1.5 70.5
33691411/536 phdhwlwu wanwunipbp (nbwgbiutn) thnoh Yuwd gpwtingutp 9 Yhingpwd 4000 1 4.0
33691411/537 phihuiljwt wqnwtynysbn (nbwgbtnutp) thngh Yud gputingubp q< Yhingpu 10000 2 20.0
33691411/538 phuhwljwu wgnwiymniebn (nEwgbtnutp) thingh Gud gpuwtinglbn G Yhingpwd 3000 5 15.0
33691411/539 phupwlwt warwbynipbp (nbwgbnubp) thingh Gwd gpuungubp QL Uhingpwd 3000 5 15.0
33691420/718 \wpnpwnnp wanwnyatn (nbwgbtnubn) pugdulndunutin < [nwbjgy 66000 2 132.0
33691420/719 {wpnpwinnp wgnuwunysbp (nbwgbunubn) pugdwlndwnub;m Q< [nwljugd 30000 1 30.0
33691420/720 [wpnpwwnnp wgnwuniebp (nbwgbnutn) puqduyndwnubiun g [nwlwgd 168000 1 168.0
33691420/721 |wpnpwnnp wgnwymphbn (nbwgbtnutp) puqdwlndynubun Q< [nwiljuwgud 168000 1 168.0
33691420/722 |wpnpwwnnp wanwuniebn (nbwgbunubn) pugdwlnduntibn < (nwljuwgd 168000 1 168.0
33691420/723 [wpnpwnnp wgnwtnyebn (nbwgbunbbp) pugdwynduynubun R (nwlwgy 90000 5 450.0
33691420/728 (wipnpwnnp wgrwnueabip (nbwgbunubn) pugquwyndwnubun q< Inwlwqy 40000 2 80.0
33691420/729 |wpnpuwwnp wgnutynyebp (hbwgbtnubp) puguwyniyntbtn Q< Inwlwqu 40000 2 80.0
33691420/730 lwpnpwinnp wgnwbnuetin (nbwgbtinubp) pugiwlndynubun QL nwlugy 40000 2 80.0
33691420/731 lwpnpwnnp wanwnyetin (nbwgbtnubp) pwguwyndwnubun Q< Inwlwqu 40000 2 80.0
33691420/735 {wpnpwinnp wanwngatbin (nbwgbunubn) puwqdwindwnubitm G [nwluqd 25000 1 25.0
G 0.0
pd2jwljwt vwppwynpniudtibp
33181110/506 htinnhwihgh uwnpbip 9 huwtn 5692500 { 5692.5
33181110/507 hbinnhwihah uwpptp q< hwn 6355900 { 6355.9
33181110/508 hbadnnhwihgh uwppbip < hwn 717600 1 717.6
33161200/503 Funnulynulibp QL huwwn 13600000 1 13600.0
33111340/501 u”‘url’n”;';gnzd““t‘ QA (b b gy <aniii a< huitn 13700000 i 13700.0
33171700/501 wugqujwgiwl uwppbp q< hwin 1 0.0
33191520/501 wijub thnfubibpwpldwi uwppbp < huwin 1 0.0
38511220/501 :jhlul{ULUjh'U {dnhnunluu':z::]:uwd bphwluwht {phunlnigwn} ac Bedi 1 0.0
niuwihl dwbnwnhuw
38591200/501 phupwlwl jwpnpwnnphwnd Yhpwnynn uwppbip L hwn 1 0.0
33121200/501 upwnh wauwnwph hulnnnyajwt uwppbp < hwwn 13 0.0
33121200/503 upnp wipfuwinwiiph huljnnnyajul uwppbip Q<L hwin 1 0.0
funtwdwgywéd prywsdth dwnwlwpwpiwt uwppbp, npnup
33151270/501 30 0.0
o Uhpwnynud Bu ppywdtwhu phpwwhugng R hutn
42121310/501 pdolwlw Uywuinwlutpny Yhpwnynn wndwbp < hwwn 9 0.0
42121310/502 pdalwlwt bwywinwlubipny Yhpwnynn wndwbp < huwn 18 0.0
42931100/501 (wpnpwinnphuljwl ghiinph$nigibip — wwpwgqubp G hun 1 0.0
42931100/502 Jwpnpwnnphuwlwy gatunph$nigubp — wwpwgwbp < huuwn 1 0.0
0.0
Upuwnwhwiihs tynipbip
24451140/502 futnwhuwtihs Wnieb qc y =a! oy
RS it i 2100 15 315
24451141/516 wiutnwhuwlihs hbnnty tynietp a< (hip 2100 500 1050.0
24451141/518 wuwnurhwiihs hbinnil Uynystip L (hwnp 1615 200 323.0
24451141/520 wiunwhwuhs hbnnuy uinyetip 9L lhinp 2500 20 50.0
24451141/521 whinwhwths hinnd Unipbn ac {hinp 1493 525 783.8
24451141/522 wuwnwhwuhs hnniy Unipbp QL |hinp 6000 400 2400.0
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50 0.0
24451141/523 wunwihwthy hbnnuy unyatip 9L (hwp 2550 5 7T
24451141/524 wiutnwhwths hbnniy Unyebp 9L hup 3400 200 680.0
24451141/525 wluunwhwiths hnnuy Wnypkp q< {hinp 7400 100 740.0
24451141/526 wiuwnwhwuhs hbnnily Unuyatip GL thwp 1700 100 170.0
33111500/507 dpwp uinbphihqughwih gL hwitn 47 300 14.1
33111500/508 dpwip unbiphihqughwih G huwin 58 10000 580.0
33111500/509 dpwp unbiphihquighwyh GC hwn 32 3000 96.0
33111500/511 dpwip unbiphhqughwih G hwin 156 500 78.0
33111500/512 spwip unbiphihqughwih 9< huwn 26 3000 78.0
33111500/513 dpwp unbphihqughwh G< hiun 88 100 8.8
33111500/514 hunhlwinnp dwupbwgbpdywadniyajwl QL huwwn 7.8 1000 7.8
33111500/516 hunhlywinnp dwupbwgbpdywdnipiwl 9L hwin 5.8 2000 11.6
7177.5
EiEYunpuwlwt wypwiiptibp
N711620/501 Lnwwnhnnwiht (LED) (nuwwnnt G< huin 1300 5 6.5
31711620/502 Lnwwnhnnwiht (LED) (nwwnn < hiuwn 1200 20 24.0
3711620/503 Lntwwnhnnwiht (LED) (nwwtnnt 9L huwin 1500 30 45.0
31711620/504 Lnwwnhnnuht (LED) jmuuwinnt q< hwin 3900 140 546.0
31711620/505 Lnwwnpnnwhu (LED) jwidy 9< hwwn 460 50 23.0
31711620/506 Lnwwinhnnuwht (LED) jnwwinnt 94< hwin 1200 20 24.0
31711620/507 Lnwwnpnnwhu (LED) nwwinnt Q< hww 7000 30 210.0
315123607501 Lnwwipéwl) wpnuwphl qc huitn 9000 5 45.0
31512360/502 Pnnngh nwwint 9L hwitn 8544 10 85.4
3171620/508 Lnwwwnnt 60*60, 96W 6500K YL hwwn 7100 20 142.0
31711620/509 Lnwwwnt 60*60, 96W 6500K Q< hun 7820 20 156.4
31512360/503 Lnwwnhnnwihu (LED) (nwuwwnint G< hwwn 2700 20 54.0
31211180/501 Utigwinys bl unbinting a< hwin 1200 15 18.0
31211180/502 Ubigwnhs bl unbinuiny wptnwphu G< huwin 1400 15 21.0
31211180/503 Ubgwinhs bplynt uinbinuny < hwn 1500 5 7.5
31211180/504 Utiguunhy Bplyn unbinting wpunwphu G< huun 1600 5 8.0
31684100/508 Ywpnwy hnnwugnuwwihu dhwgnuing 9< huwn 1400 25 35.0
31684100/509 Hwpnwl hnnwugnuiwyht dhwgnuing wpnwphl Q< huwn 1586 15 23.8
31684100/501 Cpowliwl dbly inbin < hwwn 300 25 7.5
31684100/502 Bpowliwly bplyn. nbn q< hwin 600 15 9.0
31684100/503 Cpowlwl bpbp nbn 9< huwitn 900 5 45
31684100/504 Fupnguwly hnnwignudiny QL hwin 280 30 8.4
31684100/505 Ywpnwl hnnwugnuwing Bpwpwgdwt jwph hwdup QL huin 460 20 9.2
31231200/501 Mpnhly nnuptin Blljnpwigdtinh hudun fuptulusns a< hustn 350 60 2.0
dwuwwbiuny
31231200/502 Utlidnnbuwht bsyupwdnunwdwihl ninuh K806 GBO5 dnntih QL hwwn 125 20 2.5
31231200/503 Enugl;qblehu Cilyupwdnuinwdwht innwh K820-2 G-805 ac i 250 5 38
nnbj
31231200/504 g:rt:;j:mtilehh bl pudntinwdwiht winwh K820-3 G-805 ac il 400 10 4.0
31681700/503 Uyinndwin wugwinhgubph winwh wpiwpht wnunbugwd 2(+1) q¢ it 345 5 7
dnnnyubph hwdwp
31211180/509 Uyinndwn wgwinhy Sl huuwn 4444 4 17.8
31211180/510 Uunndwwn wlipwiinhy q< huitn 4244 4 17.0
31211180/511 Ugjinmiwwn wgwinhy < huwin 3644 4 14.6
31211180/512 Uginndwwn wgwinhs Q< hwwn 1244 12 14.9
31211180/513 Uyunndwn whigwunhy qL huwitn 1144 12 13.7
31211180/514 Ugundwun wgwinhy 9L hwwn 1044 12 12.5
44322200/501 Znuwlph dwniju < dbiunp 178 100 17.8
44322200/502 Lnuwiph dwinifu <L dbinp 238 100 23.8
44322200/503 <nuwph dwntu 9L dbnp 348 100 34.8
44322200/504 <nuwliph dwiniju < dtwnp 396 100 39.6
44322200/505 Cnuwiuph dwinifu qc Ubup 525 100 525
44322200/506 Cnuwliph dwinifu L eyl 648 100 64.8
44322200/507 Lnuwliph dwintpu QL Ubinp 614 100 61.4
44322200/508 Cnuwtiph dwinifu QL Ubnp 936 100 93.6
44322200/509 Cnuwlph dwinifu < dbwnnp 1198 100 119.8
44322200/510 Snuwbiph dwinifu L dlnp 1980 100 198.0
44521230/501 wwuwndwub PA 66 wdpwly dwinuyuh hwdwp < hwiun 440 3 1.3
44521230/504 Wwundwub PA 66 wdpwl dwiniup hwdwp L hwwn 560 3 1.7
44322550/501 Uwynifuh wunip 9L huwn 3 300 0.9
44322550/502 Uwynifuh wunip G hwin 5 500 2.5
44322550/503 Uwnifuh wlinip qc huwin 5 500 25
31651400/502 £y dtlnihs dwwwybl Q< hwin 135 50 6.8
32442400/501 huplwubndynn nbpdhtiwgught plbl(knemannk)2+2 2,544 CH-2 Q< hwn 60 300 18.0
31711770/501 ﬁ':gmuuuhu-bnjmu wutiphlyjwu fupngwlny({nepexogHik TpoitHKK) ac it 590 18 106
31681700/504 Uuindwin Ubgunnhstbph Snuh q< huitn 1200 5 6.0
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DN it (160-480°S) pUwjht TGpu Br

32351120/501 220V/40 NaanbHaa ctaHuuA (160-480°C) undpporoit gucnneil 9L huwn 21144 2 423
220%/40 naAnbHKK
32442400/502 Din  nbubp din  pelika 9 huin 425 5 2.1
32324900/501 Lhnnwnwgnyg YL hwn 150000 1 150.0
39711290/501 Uhypnwhpught Junwpuwiitibp QL hww 50000 3 150.0
32551170/503 Ubywp hbinwfunu QL hwiwn 28571 7 200.0
Spwubljwljwiht wypwpubp W unpkp
30197620/502 pninp, A4 Snpdwnp q< wnntth 20 03
1430 1500 2145.0
30197620/504 pue, Ad npdwinh huptwlwsniu pbpphbn 4L wnih 2470 9 22.2
30192800/501 hustwlusnit whinwly / quwwhuwl 304004/ G hun 1.2 10000 12.0
30192800/502 psbwlwsnit whinwl / guuwhuwl 20*3004/ ac huwin 2.1 5000 105
600 0.0
30199420/501 udniguts dwip, unub
/ e Udnipubiph hwdwp, unutdyuwdpny 9 huwin 52 300 5.6
30197322/501 luiphs, 20-50 phipph hwdwp QL hwiun 490 100 49.0
30197100/50 Yuinhsh dbinwnwwpb Yuwbp, dbé 9 wnntth 0 10 0.0
30197112/501 Yuphsh dbwnwnwiwpb Yuwtip, dheht Q<L winih a0 6.9
75 50 3.8
30197111/501 Lwphsh dbwnwnuwwnpt Gwuwbp, thnpp QL tnnuh L =
44 100 4.4
30192710/501 unuldwidwinhin, gpuubtguljwhu a< huwitn 1890 0.0
60 1000 60.0
30192231/501 ulns wnipubpught 9 huwin 0 200 0.0
30 0.0
30197340/501 9 h
/ wwuljuiphs e 105 15 1.6
39263600/501 gpswinnuh, gpuubitjwlughu <L huwn 145 200 29.0
30193200/501 thwunwenpbph hwdwp bwhwnbudwsd, ubnwuh dpw npgnn ac - 200 0.0
nwnwljwawpbp 1600 100 160.0
30192100/501 nbwnpl hwuwpuwly Qg huwin 400 i
69 200 13.8
- 150 0.0
30192133/501 q< hi
unbs e 50 75 3.8
200 0.0
39263400/501 U] bw /, dhghu 9g
wdpwy fulipbu /, dhoh winuh 39 100 39
200 0.0
39263410/501 ] by /,
/ widpwly fulynby /, thnpp &< wnu e 700 78
360 0.0
39263530/501 b b/, dtd g h
; vendul Ayt 5M 3 100 33
39263520/501 ubinduily Ayfiugutf, dhsht ac hun - 1233 ?10
200 0.0
39263510/501 anu b/, g h
/ utinuuwy /yhujut/, thnpp i 9 100 0.9
500 0.0
30192231/502
d uling i 1R 175 300 525
800 0.0
30192160/501 124 g hi
; om0 i 10 400 4.0
. 800 0.0
3019160/504 7 i hi
e 2anh 74 e 104 300
500 0.0
30192125/502 Ui b
5 wplbin q< hwwn 9 300
39241210/501 Wypuan, gpuwobulught 9¢ huin 200 Lo
140 100
30 0.0
30141200/501 hwzdwuwpp, gpuubitijwlywht Q< hwn
2700 15
500 0.0
30192130/50
1 /501 dwnpwntip ET4 hwwn T 300
3500 0.0
30192121/501 u g h
/ anhs qunhlwdnp wiwn 9 3000
30197231/501 prRwWwwwy, wnihdbpwhl punwip, $Suy e hwwn m fgggg 90
5000 0.0
30199260/501 h (VER] g
I winntly pwin huwin 38 5000
20 0.0
30192114/501 Ywpdhp pwbiwp, Yuhph pwnahyh hwdwn a< huwin e =
30192114/502 Luwnywn pwiwp, Yuhph pwpshlyh hwdwp 9L hwin 60 153 L
30192111/502 pPwlwph pupdhy gL huwin 0 20 0.0
39263200/501 ?n:uimwuwjhu ghpp, dwwnyw, 70-200ky, tnnnwth, uwhunwly qe i 1350 50 67.5
oann
22851200/501 prRwwwlwy ac huwitn 140 300 42.0
22851200/502 RErRWWwuwy G hwin 430 300 129.0
22851200/503 el q< huitn 470 200 94.0
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200 0.0
2285100/501 wpwguiljwpubp 9< huwin 50 100
300 0.0
22851200/510 pnpmulwhquhp 20 Duyny 9L hwn 330 150
22851200/512 pRwwwbwlutp 60 dwjny 9L hwiwn 580 200 116.0
30195700/502 gpwiwhunwlubph dwppdwl uwnlug Q< hwin 0 100 0.0
30192350/501 hugyhs-npwdwplnuht dapbwubiph dwwwdbuutip G< hwwn 58 1920 111.4
Sunbuwlwi b shiwpwpwlwt bywbwlnipjwl wypwlpubp
32551170/503 wljwp hnwfunuubip QL hwwn 8 0.0
31685000/501 by puljwt bplwpwgdwt jwp 9< hwiwn 10 0.0
30239150/501 nwhy uwnp, puquw$niulyghntwg QL hwwn 1 0.0
35121330/501 Gupptu Ynnbiph uwuwynpdwl uwptip 4L hwin 11 0.0
30232110/506 Lwgbipuwjht wihy 9< hwwn 6 0.0
18141100/503 woluwnwupuwhu dbntingubip 9L qnyg 124.25 240 29.8
18421130/502 abinunglbip q< anig 145 1500 217.5
18421140/502 dbljwuquidjw ogunwgnpddwls dhntingubip q< qnyg 2.996 30000 89.9
18931160/501 (wgph wwjntuwlubp 9L hwin 5499 5 27.5
18931180/504 wwpwupubiph hwebpwdnpdwlu wnwpwyubp QL hwin 12000 0.0
18931180/505 wwpwtiplitiph thupbpuwinpdul nnwpwlubn 9c hwin 12000 0.0
500 0.0
19641000/505 wnihbphifuwht wwny, wnph hwdwp Q< hun 7003 =00 3001
19641000/506 wnihkphiuwht wwpy, wnph hwdwp G< hwtn 243 2800 680.4
19641000/507 wnhkphiuwiht wwpy, wnph hwdwnp S< hwin 165 1600 264.0
19641000/508 wnihEphiEuwht wwpl, wnph hwdwp Q< hwin 140 2000 280.0
24451141/514 wluinwhutths hnniy tynpkip o< lhnp 264 500 132.0
31441000/503 dwninng, AAA inbuwilh qc huwtn 50 300 15.0
31442000/502 dwpunlng, AA inbuwlyh < huwitn 50 300 15.0
31442100/501 Ynunwlhs dwpinlngubp o< huitn 184.92 100 185
31442100/503 Ynunwlhs dwpinyngubp q< huitn 199.5 200 39.9
31685000/501 bbbl bpluwipwguut wp q< huin 1495 25 37.4
31685000/502 Eblyunpuwiljwt bplwpuwgdwt jwp a< huin 1970.4 25 49.3
31685000/503 Lilwnpwlwt splwpwgduu jwp q< huin 3990 10 39.9
33141118/501 wudbinnghyubp QL huin 370 50 18.5
33141201/502 Pufuhjutin 9< huitn 2.8 300000 840.0
33711210/502 Ubwiguwdiw oginwgnpadwl wudbnnghliubp 9L huin 390 5000 1950.0
33711480/503 ofiwn YL huwiwn 120 500 60.0
33751100/503 Ublwuguidiw ogunwgnpddwl nwlnhpubp < huwn 120 200 24,0
33751100/504 ublwugwdju oguwgnpddwl nwlnhpubp < hwn 150 200 30.0
33761000/503 gniquipwp pnina, nnynunyg L hwin 80 4000 320.0
33761000/504 qniquipwih pnine, nnynuny QL hwwn 80 2000 160.0
33761300/503 dkinph prett upphstbp < huin 148 1200 177.6
34331400/502 wynndbpBuwlibph gnpgbn qc huin 1392 50 69.6
39221190/501 fudbnt oph wwpwbp G< huwn 18438 10 184.4
39221220/501 hwgnwinh snpwungubip G hiuwn 10434 10 104.3
39221350/503 dbjwuquidjw oguwgnpddwl pwdwlubp L hwun 3.5 15000 52.5
39221410/502 wybijubp < hwin 100 0.0
39221420/502 funquiiwljubip 9L huwn 1269.6 50 63.5
39221430/502 [unquitil-uyniig wuwlh dwppbint hwdwp, nbnpub < hun 2328 10 23.3
39221480/502 qniguipwh funguiiwljubp 9L huin 449 200 89.8
39221490/502 uwntugubip < hwin 77.77 800 62.2
39224331/502 nnyj wwundwul q< huwitn 399 80 31.9
39224331/503 nnyp wiwuwndwubs < huin 171 50 8.6
50 0.0
39224342/503 wnpupln, danwnjw C huwin 5390 100 —
39224344/502 wnpuwnpyn' phpbnjw g huwitn 30 L
1188 50 59.4
200 0.0
39511130/501 uwwiititip L hwn 1549 1000 1549.0
39511130/502 uwywbibip < hwin 150 200 30.0
39511130/503 uwiywubbip QL hwitn 100 200 20.0
39513200/502 prpl wudbinnghl, tiplptpun 9< huwn 220 1000 220.0
1000 0.0
39522330/502 Jwppnr Yunnpubp Q<L hwn 735 3000 700
39713410/502 hwwnwyh dwppdwb uwppbp QL huwin 1308 100 130.8
39713410/503 hwunwlh dwppdwt uwppbp g< huin 450 250 112.5
39713410/504 hwinwlh dwppuwb uwppbp L huin 4000 100 400.0
500 0.0
39831100/503 (Jwgnn Uynyabin |htnp 58 7000 680
39831100/504 [Jwgnn tnipbp 9L [hwp 72 7000 504.0
39831210/502 uwwuph wgdwt nhnbngbuntbn q< hwin 94.96 1000 95.0
39831243/504 Ywgph thngh wijnndwin < Yhingpwd 325.03 700 227.5
39831245/502 ofiwn, hbnniy L lhup 168 1500 252.0
39831247/502 whunwhwinn htnny’ vwuhwugnygh hwdwp (unwbnye) <L lhwnp 336 1500 504.0
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1000 0.0
39831278/502 uwwuph [Jwgdwy thngh < hwtin 506 500 798
39831278/503 uwjwuph Ywgiwl thngh < hiutn 290 50 14.5
35831280/502 wwjwlh dwpptnt dheng SC |hup 276 500 138.0
39831283/503 hwnwilyh (wgdwl jwye L hwitn 876.78 1000 876.8
39831283/504 hwinwlh Jugdwl jwe Q< hwn 349 300 104.7

200 0.0
39831283/505 hwunwlh wgdwi (wp qg hutn 1000 2000 T000.0
39835000/502 hwwnwy dwpphbnt dnn, wiwundwub, twjuw G< huin 1000 50 50.0

100 0.0
39836000/502 wiyby, unynpuibjut a< huwin 950 300 790.0
39837000/502 guluwit < hwtn 350 50 17.5
42961300/502 hhgpbuhl wwpwqulbph nhuwbbubpubp G< hwiwn 3996 20 79.9
44211280/502 dnnbin L huwitn 292.8 100 29.3
44521120/504 il thwlywtiubp < huwin 10 0.0
44521120/508 i thwljwtibp q< hww 4428 10 44,3
44521120/509 nnwb thwlwtitibp G< hwin 10 0.0
42414700/501 Yapbwlubp 9L hwn 3300000 1 3300.0
44163280/1 funnnuwluiht wwpwlpubip uu hwn 46200 15 693.0
44221200/501 uwhnn nnlubip qc o 139920 30 4197.6
16311400/501 ununhudipg dbpbuwlibn a<l huwin 130000 i 130.0
18441210/501 uwnwywpuntbip Q< hwiwn 10400 1 10.4
30194220/50 gdwgpulwl dwwwikutbp QL hwwn 1380 1 1.4
3171200/501 |wpuwl thnfuwlbpuhsubp < hwin 300000 1 300.0
31442100/505 Ynunwlyhy dwipinlyngubp QL hwwn 9999 60 599.9
31681900/501 Eaunpwlw wlnups (Rnty) G huin 18000 1 18.0
33191350/502 wuywuwywlutp qc huwtn 14444 1 14.4
33191350/503 wywuwyulubp QL hiutn 25000 1 25.0
39241141/501 nwwl’ gpuwubtjwlwiht QL huin 744 10 7.4
39241141/502 il gpuubtywlwht 9L huin 135 10 1.4
39241210/503 dlpuan, gpuubywluhu 9< huwin 2250 2 45
39241250/501 duwnbiph dypwn (ublwnnp) G< huwiwn 2400 2 4.8
39712300/501 Yupuwhwprwphsubp 9L hwin 11310 2 22.6
42121430/501 quuquiht dgwlubp (Yndwpbunpubp) QL huwiwn 68000 1 68.0
4021710/501 quiquiht Yndwpbunpubiph dwubip GL huun 2300 1 2.3
42661300/501 bnwlgdwl uwppbp QL hwin 18420 1 18.4
42671100/501 gnhpdhpubiph pntihsubp < hwn 1200 2 2.4
42671170/501 onpuywnp unng < huwin 109800 1 109.8
42921240/503 hbnniywghp wwnpéwlbwyubp QL hwwn 1500 3 4.5
42921240/504 hbinnijughp winpéwbwlubp QL huwn 840 3 25
4312117 0/501 wdnifuh Ywd pwph hnpwnhsubp QL huin 39000 1 39.0
43121170/502 wdnifuh Ywd pwph hnpwnhsubip G< hwwn 18500 1 18.5
43411300/501 ptnnup Ywd hwywlgh fuwnupsutip < hwn 6300 1 6.3
43411500/501 hnlynn uwpplip 4L hwiwn 62400 1 62.4
43411500/503 hnlnn uwppbip 9L hwuwn 19680 1 19.7
43411500/504 hnlynn uwpptip QL hwiwn 15900 1 15.9
43611290/501 puwinh hnpwwnhsubiph dwubp L hwwn 2790 2 5.6
43611290/502 puwph hnpwinhsubinh dwubip L huwin 2000 2 4.0
43611290/503 puwnh hnpwinhsubinh dwubip G< huin 900 2 1.8
44112730/504 Yunpnn uywigwnwly G huitn 870 2 1.7
44411100/501 Snpwlutip < hwtn 8400 ) 42.0
44511100/501 &kinph gnpéhpubp L hwwn 2700 2 5.4
44511100/502 abinph gnpdhpubip < huwin 4444 1 4.4
44511100/503 alinph gnpdhpubin 9< huin 1200 1 1.2
44511100/504 &tinph gnpdhpltip 9L hwin 1500 1 1.5
44511100/505 abinph gnpdhpubip < hwin 790 3 2.4
44511100/506 &hinph gnpdhpubin < huwwn 19200 1 19.2
44511100/507 &tingp gnpéhplip < huwin 1860 2 3.7
44511200/501 abinph unngubip q< huitn 1944 2 3.9
44511200/502 atinph unngubip q< huitn 1550 2 EX
44511200/503 &hinph unngutip QL hwwn 1440 3 4.3
44511200/504 dtinph unngubip < hwwn 1144 2 23
44511240/501 wpgutlbp GL hww 2880 2 5.8
44511240/502 wpguuubip < hwiwn 7980 3 23.9
44511240/503 wpgwulibip G4 hwin 1344 3 4.0
44511270/502 dnipébip G hwin 7400 1 7.4
44511270/503 dnipéitip L hwn 1500 3 4.5
44511270/504 dnipétip L hwwn 1320 2 2.6
44511330/501 wnnwnwwhwubp < hwin 19700 3 59.1
44511330/502 wunnunwlwhwubp QL hwin 6500 3 19.5
44511330/503 wnnunwlwhwubp Gl hunn 690 2 1.4
445113407501 gujhlynuh uwyntip < huiwn 4444 3 13.3
44511343/501 quiyhlnt o< huin 2700 2 5.4
44511343/502 quyihlnt qc huwiwn 644 3 1.9

CrpaHuua 25




44511343/503 quy(htynt G< huwin 530 % 1.1

44511343/504 guihynt QL hwn 1200 1 1.2

44511343/505 gluyihlynt S< huwn 1440 1 1.4
44511343/506 guyihynt Q< hwin 3200 1 3.2
44511343/507 guyihlynt < huin 3880 2 7.8
44511343/508 guyihlynt L huwin 660 3 2.0
44511343/509 quyipynt SL huwin 1080 3 32
44511343/510 qujihlynt QL huwin 740 3 2.2
44511350/501 wnnwnwywhwuubiph uwpbp G< huuwn 2280 1 2.3
44511360/502 gnpdhpubiph nbnuihnjudwl dhenglibp QL huwn 4200 3 12.6
44511370/501 ghpdhpubtiph hwywpwéniubp L huwiwn 850 5 4.3
44511370/502 gnpdhplbiph hwywpwdniubp e huwwn 7300 2 14.6
44511370/503 gnpdhplbiph hwywpwéniubp QL hwn 10680 2 21.4
44511370/504 gnpdhpubiph hwywpwédniubp G< husn 1620 3 4.9
03411120/501 thwpwitniphg Wwiinpuunywsd wpnwnpuup 4L hwwn 100 0.0
14211000/504 wifwq, ghbwpuwpwliut 9< hud 30 0.0
14211111/502 dwupwfuht L fud 24 0.0
14811300/501 hnynn uywywnwlubp 3L huwin 20 0.0
14811300/502 hnynn ujwywnwyubp < hwin 20 0.0
14811300/503 hnynn uywywnwiutp GL huwin 20 0.0
18421130/503 skinungubip < qnyaq 50 0.0
18931130/502 dwupngubiph wwplybp 3L hwin 300 0.0
24911500/502 unuhd (wkpngny) < hwin 20 0.0
24911900/503 uwhlyh unuhud G< Yhingpuwd 1500 0.0
30192230/501 ulyng’ Bpllnndwuh unutidywd L huwin 10 0.0
30197323/501 Yuwphs, 50-hg wybih pbpph hwdwp G< husn 2 0.0
31211180/515 wyinndwn wigwinhsubip G< huwwn 2 0.0
31211180/516 wiyinndwwn wigwinhsubn QL hwin 2 0.0
31211180/518 wynndwwn whgwinhsubip S< huwin 20 0.0
31211180/519 wyinndwwn wiugwinhsubp QL hwtn 5 0.0
31211221501 wlgwnhsubip < hwitn 15 0.0
31221200/501 fupnglibiph bnwuhbubp — Jwpnwlubp G< huiwn 50 0.0
31221220/506 Uhwgdwl ininuptip QL hiutn 30 0.0
31221242/501 nynipkiy GL huwiwn 2000 0.0
31221242/502 nynipti| GL huawn 50 0.0
31221242/503 nynipkiy G< hiun 100 0.0
31331192/501 bilbbnpwlu duygnigu' UddS < dbnp 200 0.0
31331192/502 bynpwlwt dwinip' Ud4S &L ubnp 400 0.0
31331192/503 Faywnpuluy dwniu’ Ud4S Q< dtinp 100 0.0
31331192/504 Flbunpwlwi duyniu' Udds 9L dkinp 10 0.0
31531100/501 biblunpw i jwidwbp G< huwin 40 0.0
31641216/501 hwnnty winnunwy L huwn 1000 0.0
31641216/502 hwuwnniy wnnunwly 9L huwin 1000 0.0
31641216/503 hwwnniy wnnunwy QL hwn 1000 0.0
31641216/504 hwinnty yjnnunwly < hwin 1000 0.0
31641216/505 hwwnnily wnnunwly a< hwin 500 0.0
31641216/506 hwwnnly wununuly q< huwitn 1000 0.0
31641216/507 huwinnily wnnunwly a< huwwn 6000 0.0
31651400/503 ublniuhy dwwwykulbn 9 huitn 50 0.0
31651400/504 dblyniuhs dwwjwybutbp < hwin 30 0.0
31651400/505 uhlyniuhs dwwwdbuutn L huwitn 20 0.0
31651400/506 ublniuhs dwuwiklubp q< huitn 20 0.0
31681700/507 pudwuwpwp innih TG huin 13 0.0
31681700/508 puwdwlwpwp wntth 9L huwin 1 0.0
35111300/501 wguniguatipy — whignwlgnuew hwgnmn < huwn 20 0.0
39132220/502 ushshstbin q< huwin 60 0.0
39132220/503 Lwhihstbip q< hwwn 200 0.0
39221460/501 Unahu' ubipbwpuwpuwljut G< hwwn 20 0.0
39221460/502 Upaht' ubplupwpwlwt < hwwn 10 0.0
39221460/507 Upaht’ bbpluwpwpwlul qc huwin 20 0.0
39221460/508 ypaht' ubphuwipwpwlust qc hwwn 20 0.0
39224331/504 nnyL wwuwndwub 5< hwwn 15 0.0
39812600/501 dwppnn dwéaniyubip — thnghubip Q< hwin 5 0.0
42921240/505 htnniywghp wnpdwwlubnp q< hwwn 3 0.0
42921240/506 hbnniywghp winpéwlwlubp L hwiwn 10 0.0
42921240/507 hbnnijwghp wunp6uitiwlubp qc huwin 3 0.0
42951300/501 hwpphgunn dhpbuwubph dwubp q< huwitn 3 0.0
44111200/504 gt qc Lhinapuwd 2500 0.0
44111400/503 Yuifunyh wnwuwnwn G< pd 54 0.0
44111400/504 uwhinyph wiwunun 9 pd 100 0.0
44111412/502 ubiply, shtiwpwpwlwt L Lipngpuwd 800 0.0
44111413/505 Jniuiubipy 9L Yhingpwd 10 0.0
44111413/506 jninuitibply QL hingpuwid 15 0.0
44111417/501 Ukl a< Upngpwd 100 0.0
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44111419/501 gnuwg L hwn 15 0.0
44111446/502 dtlynwhsubip L hwtn 30 0.0
44111448/501 obipuwht dklnwhs Wynyabp QL hwwn 60 0.0
44111448/505 olipuiwht dhlniuhs Wynuyabip 9L hwin 30 0.0
44111710/502 uwhy, Yepwidhywlwy, hwnwlh hwdwp QL pu 200 0.0
44112210/501 inwupp QL pu 50 0.0
44112730/505 Lwnpnn uljwwnwy G hwin 3 0.0
44112730/506 Uinpnn ulwwnwy < hwwn 100 0.0
44112730/507 upnn uluwnwy 9< hwin 5 0.0
44141200/501 2pouwiliwlubp L hwin 50 0.0
44163400/506 yEpwnpnguwl wunipibp - wwpgniuwlubp G< hwin 400 0.0
44163400/507 Ybpwunpngdwl winipubip — wwpgniuwyubp Q<L hwin 150 0.0
44171100/508 uwihlubp (shuwpwpnyajui) GL pu 288 0.0
44171100/509 uwihlubp (2huwpwpnie)wl) < pu 288 0.0
44171110/503 uwihlyubph fuwsniy QL hwn 30 0.0
44191700/502 W) quitiwgul shuwpwpwlwl Wniyebp QL Uhingpwd 13 0.0
44191700/507 w)| quliwgqul ghtiwpwpwluwt tyneyebp QL Lhinapwd 15 0.0
44211610/501 wulynitibip 9L huwn 300 0.0
44211610/505 wulynitibin ac huwin 300 0.0
44211610/506 wulynitibp G< huwin 100 0.0
44211610/507 wiilyniuubp < hwtn 100 0.0
44211610/508 wlyntubp ac huitn 100 0.0
44311120/501 thowwnbp QL Yhingpwd 5 0.0
44311170/503 bnwligdwt wwpwgwubp 9L huwin 500 0.0
44322550/504 dwinifuh wunipubip < huwin 5 0.0
44322550/505 dwinuuh wunpubp 9L huwun 5 0.0
44322550/506 dwinifuh wunipubip qL huitn 3 0.0
44331410/506 Yutundh wnwuwnwnh ghuiwun wpn$hy QL géwubinp 60 0.0
44331410/507 Yuwhunuh wnwuinwnh ghtljwujwn wpnbhy QL gowubinp 6 0.0
44331410/508 Ywhundh wnwuwnwnh ghulwwwn wpndhy < qdwdbnp 15 0.0
44331410/509 Yuwunyh wnwuwnwnh ghtulwujwn wpnghp 9L gowdbinp 100 0.0
44331410/510 Ywunyh wnwuinwnh ghuwuwn wpndhy QL géwubiinp 80 0.0
44423480/501 wlbipbuh nnuhbp q< huitn 10 0.0
44423480/502 wlbipbuh wnuhbp q< huitn 10 0.0
44423480/503 Uwlbipbiuh tinuhbp Q<L huwin 5 0.0
44423600/504 Lusnit dwwudbutbp 9< huin 20 0.0
44511260/501 hnuwpnine 9L pd 1 0.0
44511260/503 hnywpnine 9< pd 1 0.0
44511260/504 hnlwpnue QL pd 1 0.0
44521120/510 nnwu thwlwubp q< huwin 150 0.0
44521120/511 nnwl thuslwtibp 9 huwin 60 0.0
44521230/505 wipwlubp QL hwwn 3 0.0
44531191/502 bipwiel funnngwliubp q< utnn 400 0.0
44531191/503 tplwpl unnnyuwljubp q< Utnp 100 0.0
44531200/501 ny wwpnipwlwynp wdpwgdwt nbnwtbp 9L hwin 110 0.0
44531200/502 ng wwpnipwlwidnp wdpwgdwt nhnwtbp QL hwin 220 0.0
44531260/501 wwpnipwlwdnp wdpuwgdwt nbnwiubp QL [pubjugy 50 0.0
44831500/502 \ndhsabin 9L Yhngpwd 3 0.0
44921500/501 dtipwdwshl’ ghwuwhl qc Uhingpuid 150 0.0
44921500/502 shthwiiwahly' ghuuwpt q<c hingnuid 5100 0.0
44921500/509 dhthwdwdhly' ghuuwght L Uhingpwd 1050 0.0
44921500/510 dbthwiwahly’ ghwuuhl qc Uhingpuid 150 0.0
09211631/501 hwlwynnnghnts jninbp G Uhingpwd 3 0.0
38621300/501 huybih' nhinnqulywu G< huwiwn 30 0.0
39351100/501 Ynyninpubiph dwppdwl uwppbp G< hwin 1 0.0
39722400/505 w)| Yhugwnuiht inGutplwih dwubp QL hun 50 0.0
39722400/517 W) Yeugunuih inbuthywh dwubip < huwin 100 0.0
39722400/518 wy Yatigwnuiht nblubihliugh dwabp ac hwin 100 0.0
39812500/501 opwitilniuhs Wnipbn a< huwtn 10 0.0
42131490/501 uh$n G hwin 200 0.0
44131100/501 nyninnt fughip G< huiwn 5 0.0
44131100/502 Lynynunnu fugbip QL hwn 5 0.0
44161230/512 funnnywljubph wwpwgwubp < huwin 40 0.0
44161230/513 funnnwlubiph wwpwgulbp qc huwin 40 0.0
44161230/514 funnnywlubph wwpwgqwubp qL hwwn 50 0.0
44161230/515 funnnuwlubph wwpwguwtip 9L hwwn 15 0.0
44161230/516 funnnyuwyibiph Wwpwgwubp L hwtn 40 0.0
44161230/517 funnnyulubph wwpwgwubp Q< hwwn 50 0.0
44161230/518 funnnywlubiph wwpwgqwbp S< hwin 40 0.0
44161230/519 funnnuwiljubiph wuipwguitibn qc hwin 15 0.0
44161230/520 funnnyuwijubph wwpwgwubn < hwwn 15 0.0
44161230/521 funnndwiyubph wwpwgwubp G huin 15 0.0
44161230/522 funnnywiubiph wwpwgwubin < hwin 5 0.0
44161230/523 funnnyuwlubph wwpwguwubp < huwin 20 0.0
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44161230/524 funnnyuwiljibiph wwpwagwubp < hwwn 20 0.0
44161230/525 funnnuuwlubiph wwpwgwutip < huwin 50 0.0
44161230/526 tunnnjwlubiph wwpwqwtn L hwn 20 0.0
44161230/527 funnnywlubiph wwpwgwbip QL hwitn 20 0.0
44161230/528 funnnywiubph wwpwgwubp G hwn 15 0.0
44161230/529 funqnyuiubph wwpwgwbp G< huin 15 0.0
44161230/530 funnnywlubph wwpuwguwttp G< huwtn 50 0.0
44161230/531 funnnyuluibiph wwpwquwbp gL hwin 50 0.0
44161230/532 funnnywljubph wwpwgubp 9L hun 50 0.0
44161230/533 funnnywiubph wwpwguwbp Q<L hwin 50 0.0
44163140/502 onh — gnjnpgnt funnnuwliubip &< dbnp 80 0.0
44163140/503 oph — gnnpgnt funinywlubip 4L dbnp 80 0.0
44163140/504 h = anpnpant funnnduwljubp QL ubnp 8 0.0
44163140/505 opp — gninpant lunnnywlyubn 9L dbinp 8 0.0
44163140/506 oph — gninpgnt flunnnyuwilubp G< dbiinp 16 0.0
44163200/503 funnnyuwiljubiph dhwguwl dwubp q< hwwn 20 0.0
44163200/511 funnnywlubiph dhwgdwl dwubp 9< hwwn 20 0.0
44163200/512 funnnyuwljubiph dhwguwl dwubip < hwin 30 0.0
44163200/513 funnnywlbiph dhwgdw dwubp q< hwin 30 0.0
44163200/514 funnnywiljubiph dhwgdwt dwubp 9 hwin 20 0.0
44163200/515 funnnywiljubph dhwgdwl dwutbp L hwin 15 0.0
44163200/516 funnnywijubph dpwgdwl dwubp G hwin 15 0.0
44163200/517 funnnywlubph dhwadwl dwubp Q< huwn 15 0.0
44163200/518 funnnywiubph dpwguwl dwubip < huin 15 0.0
44163200/519 funnnywlubph dhwguwl dwutip Q< hwn 20 0.0
44163200/520 funnnywlubiph dhwgdwl dwubp 9L husn 20 0.0
44163200/521 unnnyulubinh dhwgdwt dwubp QL huin 20 0.0
44163200/522 funnnduiubiph dhwgdwt dwubp 9 huitn 20 0.0
44163200/523 unnnyuwlubph dhwgdwl dwubp 9< hwin 20 0.0
44163200/524 funnnywlbiph dhwgdwt dwubp a< huwn 20 0.0
44163200/525 funnnywijubiph dhwgdw dwutip QL huwitn 10 0.0
44163200/526 funnnyuwiutinh dhwgdwl dwubp S< hwuwn 10 0.0
44163200/527 funnnywiubph dphwgdwl dwubp 9< hwn 10 0.0
44163200/528 funnnyulubph dhwguwy dwubip QL hwin 10 0.0
44163200/529 funnnywiubph dhwgdwl dwubp G hwin 10 0.0
44163200/530 funnnywljubph dhuwgiwt dwubp Q<L hwn 10 0.0
44163200/531 funnnyulubph dhwgdwl dwubp 9L huwin 10 0.0
44163200/532 funnnywlubiph dhwgiwy dwubp G< hutn 10 0.0
44163200/533 funnnywljubph Jhwguwt dusubip G< huwin 10 0.0
44163200/534 funnnyjwlubph dpwgiwl dwubp G< huin 20 0.0
44163200/535 funnnywiubiph dhwguul duubp q< huitn 20 0.0
44211610/509 whlyniuubp QL huwin 10 0.0
44211610/510 wlynwubp G< hwwn 10 0.0
44211610/511 wulyniubp < hwwn 10 0.0
44211610/512 wllynituubip Q<L hwn 10 0.0
44211610/513 wulyniutibp q< hwwn 10 0.0
44411100/502 Snpwlubp QL hwwn 30 0.0
44411100/503 dnpuwljubp L huwin 30 0.0
44411100/512 Snpwlubip 4L huwitn 100 0.0
44411300/501 (Ywguwpwitbp G hwn 25 0.0
44411300/505 (Ywgwpuwltibp Q< huwin 20 0.0
44411500/507 thwlw' gunws- aL hwwn 20 0.0
44411500/508 thwluw' qunwd QL huwin 20 0.0
44411500/509 thwlw' gurwd- GL hwn 20 0.0
44411500/510 thwlwt' gunwé— G hwin 20 0.0
44411500/511 thwlwl' gunua— G hiutn 20 0.0
44411500/512 thwljwl' glinwa— 9L hiutn 20 0.0
44411500/513 thwlul’ qunws— o< huwin 20 0.0
44411500/542 il qunwa— 9< hwin 80 0.0
44411740/501 gqniqupwliwlntip < hwin 25 0.0
44411742/501 qniquipwbiwyntiph dbfuwihgd < hwwn 50 0.0
0.0
Ukbugwnuihtt mbluthyw b wwpwqibp
30211200/503 rynipwlihp hwdwlwpghstbp QL hwwn 289998 10 2900.0
38311100/502 Ellinpnuwht Yobinpubip — wwpwgwbp QL hwwn 16800 1 16.8
38311100/503 Eilnpnuiwhty Yobinplbp — wwpwgubp Q< hwin 6950 5 34.8
51000 8 408.0
39711140/502 Ybugwnuht uwnbwpwtitn G hwin ) 00
39714210/501 onnpwyhs, 8000 BTU SL huwin 8 0.0
39714220/501 onnpwlhs, 12000 BTU G huwin 100000 8 800.0
39714220/502 onhnpwlihs, 12000 BTU 9< hunn e i 4(7);'6
39717100/501 hnhwphsubp <L hwin 5000 10 50.0
0.0
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Cwiwljwpgswiht uwppwynpnid

30211280/502 Cwdwlwpghs wdpnnen dblnud QL hin 325000 35 11375.0
30239110/501 Sughs pugquw$nitilighntiuig 9< huitn 185000 3 555.0
30239110/502 Sujhy 3-p dblynwd < huin 125000 20 2500.0
30239110/503 Sujhs thnpp q< huwtn 67000 10 670.0
30237411/501 Ulhuhly 9< huin 1600 20 32.0
30211170/501 Uhlpnunhy qc huwin 32000 2 64.0
32561600/501 Unwuwnbp L hwn 13000 50 650.0
32421300/501 Udhs/8 port qc huitn 5000 10 50.0
32421300/506 Uuhs/5 port 9L huwin 4000 10 40.0
324213000507 Udps/24 port q< huiwn 40000 3 120.0
30231100/501 WIFI uwpp 9L hwn 7560 10 75.6
30232231/501 Lwiwlwpgswih Ynon uwywnwl Q< hwwn 27000 2 54.0
32421100/502 Swhiguyhu dwynfu 9< hwn 25000.2 2 50.0
16235.6
Utlnntuwihtt wpwquibp
395181001502 Uwhunwybinbup hwdwpuwsdn L hwin 389 0.0
39141200/501 ubpplwyh bpbu qL hwin 128 0.0
39511100/501 Dwaling (wnkw], hwun) a< hwin 65 0.0
39511100/502 Twodlng (wnbwy, pupwly) < huwin 54 0.0
39516122/501 Pupa < hwn 100 0.0
39511100/506 dbpduwl (puipwl) q< huin 70 0.0
39511100/507 Ykipdwly (dhoht) q< huwin 20 0.0
39511150/502 Lwdwinpuwuply QL huin 173 0.0
39511130/511 Uwwl nh wbnuihnfubne hwdwp L hwiwn 70 0.0
39511130/514 Uwifuits < huwin 25 0.0
39514100/501 Upphs gudpnguwht GL hwn 36 0.0
39514200/501 Unphs el ac hwin 6 0.0
39514500/501 bpbuupphs qc hwwn 36 0.0
39514100/502 Upphs pwidpwljw < hwn 10 0.0
Utiniin
3200 0.0
15321200/504 huwnwgws hjmip 9 Lhtnp 575 1600 10800
5280 0.0
15321200/505 tuwnwgdwd hymip g Lhtnp 15 2640 1966.3
: 1600 0.0
15821500/504 fSuduwdpwpihp q< Ug 1430 800 11440
1600 0.0
15842110/505 Unudbitn, gnynjunwinyun Qg Lg 710 300 T585.0
8000 0.0
A1111100/501 puwth gnep 5 thwp 1753 500 376
wpwhuwynpunwiht wwypwipbp b ynipbp
09132200/3 phught, nbgnyjwp 2k} thinp 490 3000 1470.0
0913220011 phught, nbgnywp Ul [htnp 480 300 144.0
09135200/3 hbinniy quig EUS {htnp 150 1000 150.0
OUNUSNRR3NRLLLD
70311200/503 unwnwdptitiph Jupédwlwnyajwl dwnwnigniu QL npwd 17952000 1 17952.0
50311120/501 I gyl unap bt whuge bl — delinmgu a< i 1644300 1 1644.3
dwnwinip|ntuttp
792111501 wniphinnpuluw dwnuynipiniutbp SL npwd 1884000 1 1884.0
7163111011 uwnpbiph unmgdw dwnwjnipjniutbp uu nnusd 426000 1 426.0
98111121/501 winwbignupiwt wwwhnydwl dwnuwjnysniutip G< npwid 2816666 1 2816.7
50421100/503 Rk B iR — s s 9< npw 1572000 1 1572.0
duinuinueniuubn
48221400/1 PRiHBgI iy int gl hutipuigrtatl hadiiyusnagugh Spwianuani | g i 990000 | 990.0
thwipbputp
98111121/2 wynwlgnypjuwl wuwwhnydwl dwnwjnizniibp Uu rpud 480000 1 480.0
5011118011 winndbpbuwubph Yugdwu — udwbwinhwy dwnwjnieniiutn uu npwd 558000 1 558.0
50531230/501 qatiapunnnplibnh daputinnmguliol ~ wuhuubiul 9< npwy 408000 1 408.0
Swnwnienillibp
713515401 inbuthywywu hulnnnyajwu dwnwjnysgmiuin uu L 300000 1 300.0
98111140/1 htinhlwlwiht huljnnnyejwt wnwjnieiniilip uu npwd 100000 1 100.0
70311200/502 wnwpwéplbinh Ywpdwlwinyepuwl dSwnwnienitiibn Q< npwd 1 0.0
50731100/501 uwnbwpwiwiht uwppbph epwunpngdwt — wwhwwdwu a¢ I 1 0.0
Swnwnyainiulbip
bYwhnyph ybpwinpngdwt Swnwjnipniuitp
50851100/501 Ywhnuph ybpwunpnguwl — wwhwwudwl Swnuwjnygniitbn L huwin 3 0.0
50851100/502 Ywhnyph Japwinpngdwt — wwhwuwudwl dwnwnyenitbp g hwin 3 0.0
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50851100/503 Yuwhnyph dbpwunpngdwt — wwhuwwudw dwnwjnuyagniiutn qc huwin 1 0.0
50851100/504 Ywhnyph ytpwunpngiwt - wwhwwidwt dwnwnygndiubn 9 hwin 5 0.0
50851100/505 Lwhnyph dbpwunpnguiwt — wwhwwidw dwnwjnipjniiubp QL hwin 39 0.0
50851100/506 Yuhnyph Ybpwunpnguiwt — wwhwwdwt dwnwjnipgniibp 2 hwwn 5 0.0
50851100/507 Ywhnyph Ybpwunpngiwl — wwhwwdwl dwnwnyejniutbn 9< hwwn 15 0.0
50851100/508 Ywhnyph Ybpwunpnguiwl — wwhwwdwl swnwjnypgniutbp L hwn 1 0.0
Swwgpwlwl Twnwjnipjntt 1
79821180/950 nwugpuilut — pwstudwt Swnwnipiniiubp 9< npwd 39600 1 39.6
79821180/951 wnwwgnulwl — pwshudwt Swnwjnieinittbn 9< il 12600 1 12.6
79821180/952 nywgnuwl — pwofudwl Swnwniajniitbp Q< npwd 164000 1 164.0
79821180/954 nwywgpuljwl — pwsudwl dwnuynyainiutin 9L npwd 164000 1 164.0
79821180/955 nwwgnwlwl — pwsudiwl dwnwjnyaniiubp q< npud 10200 1 10.2
79821180/956 nwwgnwlwl — puhudwl dwnwnysniubbip QL npd 24750 1 24.8
79821180/957 nwwgpulul — pugudwl dwnwjnipintuttp G< npwd 19800 1 19.8
79821180/958 nwwgniljut — pugiudwl dwnwjnyiniuttip QL nowd 33000 1 33.0
79821180/959 nwwgnwlw — puzpudwl dwnwjnyeniuutp QL npwd 19560 1 19.6
79821180/960 nywgnuibiut — pwspudwl dwnwjniyejniuubp G npwd 29340 1 29.3
79821180/961 nywgpubwl — pughudwl Swnwnyenditbp 9L npwd 39600 1 39.6
79821180/962 nwgpuilul — pugpudwt dwnwnyegniiubp QL npwd 39600 1 39.6
79821180/963 unywgnpuibiut — pwgfudwl dwnwynyaniitibp < npwd 19800 1 19.8
79821180/964 nywignuibul — pugfudwt dwnwgnyagniitibp 9L npwd 41000 1 41.0
79821180/965 gl — pughuduwl dwnwjniegnittibp < o 19800 1 19.8
79821180/966 wwgpuhwl — pughudwl dSwnwniyejnitiubp 9L rpuud 39600 1 39.6
79821180/967 nwywgnuiwl — pwofudwl Swnwniejniutbip Q< g 19800 1 19.8
79821180/968 nyuignuijwl — pwohudw Swnwnuyajniitibp 9L il 42000 1 42,0
79821180/969 wwgpwhwl - pughudwl dwnwjnysniubp q< npwid 39600 1 39.6
79821180/970 nwywgpwlwl — pwgudwl dwnwynienitbp <L npwd 79200 1 79.2
79821180/971 nyuwgpuljw — pwshudwi dwnwjnieniiibp qL npwd 13120 1 13.1
79821180/972 wnywgpulwu — pugfudwl dwnwjnysniitbp L npwd 8200 1 8.2
79821180/973 nwwgpwlwl — puwshudwt dwnuynejmutibp Q< npwd 63360 1 63.4
79821180/974 nwgnuluwu — pwpudwl dwnwjniypiniittin GL npwd 1140 i 1.1
79821180/975 wwwgnuiljwl — pughudwt Swnuyneniuubp 9< npwd 2550 1 2.6
79821180/976 nwywgnwlwl — pwphudwl swnwnyniititp L npwd 1700 1 1.7
79821180/977 nwwgnuiljwl — pughudwl dwnwnyeniutibp L npud 1500 1 1.5
79821180/978 nwywgpwiliut — pwgfudwt dwnwjniyaniibn L npd 57400 1 57.4
79821180/979 wnwgnpwliwl — pugpudwl dwnwjnieniitbp G< npwd 3400 1 3.4
79821180/980 wywgnuwlwl — pwghudwl Swnwnipnditibn 9< npwd 5040 1 5.0
79821180/981 nwyuwgpubut - pwaudwl Swnwjmpniuubp &< npwd 2550 1 2.6
79821180/982 nwgpwhwl — pwgpudwl dwnwyniajntitbp < npwd 99000 1 99.0
79821180/983 wywgpulwl — pwzhudwl dwnwynipnditibp 9L npwd 19560 1 19.6
79821180/984 nwwigpuibul ~ pughudwl Swnwgnyeniiubp G< npwyd 9840 1 9.8
79821180/985 nwuwgpulwl — puwzhudwl dwnwjnip)niitbp < npwd 39600 1 39.6
79821180/987 nwywgpwlwl — puphudwl dwnuwnysniubp QL nnwd 358800 1 358.8
79821180/988 nuwgpulwt - pwgudwl dwnuwjnpnittn 9< nnwd 3800 1 3.8
79821180/989 nwwgpuluwl — pwudwl dwnwnyajniuutin 9L npwd 198000 1 198.0
79821180/990 nwwgnwlwl — pusfudwy dwnuynysjniititp 9L i 198000 1 198.0
79821180/991 nywgpwlwl — pwudwl dwnwjnipniuutn Q< npwd 99000 1 99.0
79821180/994 nwwgplut — pwoudwl dwnwjnygjniuutp BLS npwd 1296 1 1.3
79821180/998 nwywgnwlul — pugudwu dwnwjnysnitubp G npwd 39600 1 39.6
79821180/999 nujwgnuljwt — pwzhudwt Swnwjnynitiibp QL npwyd 39600 1 39.6
Sywgpuljwl Dwnwynipintl 2

79821180/1000 njugpuiliuit - pwzudwl dwnwjneniuubp < i 43020 1 43.0
79821180/1001 nwwgpulwl — pwzpudwl dwnuwjnipniiibp QL npwd 28,800 1 28.8
7982118041002 nwwgpuijwl - pwhudw Swnwnieyniutbp < npwd 6,300 1 6.3
7981180/1003 nwwgpulwl — puohudwt Swnwnuyegnittibp < npwd 1200000 1 1200.0
79821180/1004 unyuwgpulwl — pwzfudwt dwnwjnipniutbp < npwyd 35940 1 35.9
79821180/1005 nywgpulul — pwgudwl dwnwjnysjniitbp 9L npwd 35940 1 35.9
78821180/1006 nwwgpuluwt — puoudwl dwnwjnyejntuutin 9L npwd 4,200 1 4.2
79821180/1007 nwwgnulul — pwpudwl dwnwjnigjniuutip < npwd 4,400 1 4.4
7a821180/1008 nwwgplulut — pwgudwl dwnwjnipniuutbp GL npwd 8,700 | 8.7
79821180/1009 nwwgnuilput ~ puziudwl dwnwjnniuubp YL npwd 4,350 1 4.4
79821180/1010 nwugpiliut — pugudwl Swnwjnipgniuubp < npwd 116,000 1 116.0
/98211801011 nywgnubwl — pwopudwl dwnugnipgniuubip < npwd 15,000 1 15.0
79821180/1012 nwjwgpwlwl — pwapudwl dwnuynipjniutibp & npwyd 13,200 1 13.2
7981180/1013 nyuwgpulw — pwahudwi dwnwnianiutbp QL npwd 80280 1 80.3
79821180/1014 nwwgnuljwl - puphidwl Swnuyniggniutbp QL nwd 15,400 1 15.4
79821180/1015 nwwgnpuilul — pugfudwl Swnwjnyzjniubp <L npwd 29,000 1 29.0
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79821180/1016 nwywgnwlwl — pushudwt dwnwynyajniubibp QL npwd 14,900 1 14.9
79821180/1017 Wwywgpuljul — pughudwl dwnuwyniagniuubp QL npwy 88,000 1 88.0
79821180/1018 gt = puzhudwt Swnwjnaindiubn 9L npwid 282960 1 283.0
79821180/1019 nywgnwlwl — puphudwl dwnwnysgniubbp QL npuwd 300000 1 300.0
F9821180/1020 nywgnwilwl — pugfudwl dwnwjnipyniutbp QL npwud 300000 1 300.0
79821180/1021 nwwgnwljwl — pughuiub Swnwnieniitbp < npuwd 1,900 1 1.9
79821180/1022 nwwgpwlwl — pugfudwl dwnwjnyeniitibp G< npwd 9,600 1 9.6
79821180/1023 inyjugpuwluil — pwotudwl dwnwjnyzjniiubp gL npwd 300000 1 300.0
79821180/1024 nwwgpuiliut — pwgpudwt dwnwinyainiibn Q< rpwid 4,800 1 4.8
79821180/1025 nwyuwgpuibpuls — puwudwl Swnwnypjniutbp L rpuid 44160 1 44.2
7981180/1026 nuugpuibiuit - pwzpudwl dwnuwjnpnitbp G npwd 22,800 1 22.8
798211801027 niywgpuhwi — puwhudwl dwnwjnipnititibp QL npwyd 300000 1 300.0
798211801028 wywgnulwl — pugfudwl dwnuwnysjnitiubp 9L npwd 1 0.0
F9821180/1029 unyuwgnuibwt — pwgfudwt dwnwynip)niditbp G< npwyd 323400 1 323.4
79821180/1030 nywgpuwt — pwgfudw Swnwnipgnititip G< npwyd 1 0.0
798218011031 inyuwgpuljw — pugfudwl dwnwjniemttibp q< npud 1 0.0
79821180/1032 nyuwgpwlwl — pughudwi dwnuynipniitbp L npusd 1 0.0
79821180/1033 wwgpwlwl ~ pugudwl dwnuyniainiibn 9L npwid 1 0.0
7a821180/1034 nuywgpwluwt — pwoudwt dwnwnyejniutitip QL npwd 1 0.0
798211801035 nwgnuluwl — pwzidwl dwnw)nyajniititip GL npwd 1 0.0
79821180/1036 nywgpwlwl — pwoudwi dwnwynipjniiubn 4L npwud 1 0.0
79821180/1037 nwwgnpuljwl — pwpudwl dwnuwnipniuubp < npwd 1 0.0
79821180/1038 nwywignulut = pushudwl dwnwnypgniuubp QL npwd 1 0.0
79821180/1039 nwwgpluwt — pwaudwl dwnwjniejniuubp Q<L nnwd 1 0.0
7OB21180/1040 unwwgpwliwl — pugfudwl Swnwynenitbp QL npwd 1 0.0
79821180/1041 nwwgnuiliuit — pwzpudwl Swnwjnipnuubn < rpuid 1 0.0
79821180/1042 nwyuwgpulut — pwaudwl dwnwjmpniuubp G< npwd 1200000 1 1200.0
79821180/1043 nuwgpuibuit - pwziudwl dwnwjnipniuubp < npwd 1200000 1 1200.0
79821180/1044 nwwgnuiwl — pwopudwl dwnuwyniggniiubp q< npwy 22200 1 222
79821180/1045 inwyuwgpulwl — pwzhudwls dwnwgnieniibp G< npwyd 67080 1 67.1
798N180/1046 nwyugpubwl — pwpfudw dwnwnyajniiubp < npwd 22200 1 22.2
798118071047 nuyugpuibjut — pughudwt Swnwnuyegniiibp q< npwd 114,000 1 114.0
79821180/1048 nwwigpuiwl - puwoudwl dwnwjnipniitbp G npwd 132,000 1 132.0
FOB21E0/11049 nwwgpuwlwl — pugudwl dwnugnipjniibp q< i 33,000 1 33.0
Suyjwgpuljwl wypwupubp 3

22451240/501 pluuy < hwtn 2.33 50000 116.4
22451240/502 Pty q< hwn 2.45 10000 245
22451240/504 pjuitly qs hwn 6.78 15000 101.7
22451240/505 plwtly 9c huwtn 2.44 12000 29.2
22451240/506 pjtily qc huwtn 2.50 2000 5.0
22451240/507 pjutily q< huwtn 250 2000 5.0
22451240/508 pLuitily 9< hwn 2.33 20000 46.6
22451240/509 Pty YL huin 2.20 5000 11.0
22451240/512 pjwitily q< huwn 2.40 2000 4.8
22451240/513 plwy < hwin 2.47 8000 19.8
22451240514 pluty 4L hwn 2.30 5000 11.5
22451240/515 pluitil a< huitn 2,30 4000 9.2
22451240/516 pLul q< hwtn 2.30 5000 1.5
22451240/517 plutly L huwn 2.30 2000 4.6
22451240/520 Ry QL hwin 2.48 8000 19.8
22451240/521 pluly FE huin 2.48 10000 24.8
224512407524 pyualiy ac huwtn 3.47 20000 69.4
22451240/525 plusly ac huwin 1.04 40000 41.5
22451240/526 pluitily 9 huwtn 2.39 13000 31.0
22451240/527 pylily a< hwn 2.20 5000 1.0
22451240/528 Rty G huin 2.38 20000 47.5
22451240/530 plutily < hwin 2.10 10000 21.0
22451240/531 Pl < hwn 1.90 20000 38.0
22451240/533 pluty QL huitn 2.04 50000 102.0
22451240/534 pLuily q< huwiwn 1.50 15000 22.5
22451240/535 pluuy < hwun 1.55 50000 77.4
22451240/536 pluuly a< hwin 1.55 40000 61.9
22451240/537 Pl ac huwin 1.91 25000 47.7
22451240/538 plul a< hwin 85.0 1000 85.0
22451240/542 Pty q< huwn 2.50 1000 2.5
22451240/543 pruitly Y huwin 2.30 4000 9.2
22451240/544 pjualy 9< huwtn 2.30 2000 4.6
22451240/545 plutily < hwin 2.30 2000 4.6
22451240/546 pluuy L huwitn 1.90 38000 72.2
22451240/547 plwl < hwin 1.90 20000 38.0
22451240548 plul G4 huin 2.50 1000 25
22451240/549 pluuly 9L hwin 4.18 5000 20.9
224512407554 pyuliy q< huwtn 2.20 2000 4.4
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22451240/556 pruily 9¢ huwn 2.20 2500 55
22451240/558 plully &< hwn 2.46 10000 24.6
22451240/559 pluly 3L hwin 220.0 600 132.0
22451240/560 pluly 9< hwn 2.10 5000 10.5
22451240/567 pluuly q< hwn 2.46 11000 27.1
22451240/568 pluuly Q< hwn 2.38 20000 47.5
Syjwgpwwl wwpwiptbp 4
2211200/501 nwwgpuwd wy| gppbip < hwwn 3 0.0
2111200/502 unwjwgpdwd uyp gppkip QL hwwn 3 0.0
22111200/503 nwjwgpyuwd wy gppkp < hwwn 10 0.0
22111200/504 nwugnpdud wy gppbp 9L huwwn 1 0.0
22111200/505 nwwgpluwd wy appbp < hww 50 0.0
2H1200/506 nwjwigpywd w) gpphp 9L hwin 10 0.0
22111200/507 inwjwgpywd wy gpphip L huwun 5 0.0
22111200/508 nwwgpywsd w) gppbip < hwwn 20 0.0
22111200/509 nwwgpywd wy gppbip 9L hwn 10 0.0
22111200/510 nwwgnywd wy gpplip QL hwwn 15 0.0
2211200/511 nwwgpywd wy gpphip < hwwn 8 0.0
221200/512 nwwgpywd wy gpphip < hwwn 2 0.0
2211M200/513 nwwgpywd w)) gpphip 9L hwn 10 0.0
22111200/514 nwwigpywd wy gpphip Q< hwn 100 0.0
2211200/515 wnwwgnywd w) gppbip 9L hwn 100 0.0
22111200/516 wwwgnyuwd wyl gpphip QL hwn 20 0.0
2211200/517 nwwgpyuwd wy gpphip QL huwiwn 10 0.0
22111200/518 nwwgpyuwd wy) gppbp q< hwin 60 0.0
22111200/519 nwwgpywsd wy gppbip 9L huwn 120 0.0
22111200/520 nwwgniuwd wy gppbp <L hwn 12 0.0
22111200/521 nwwgnywd wy gppkp G huwn 5 0.0
22011200/522 nwywgnywsd wy gppkip G huwin 10 0.0
22111200/523 nwwgnyud wy) gppbip < hwwn 7 0.0
nwjwignduwd wy) gnpphip QL huin 2 0.0
nwwgnduwd wy gpphip Q< hwin 2 0.0
nwwgnpyusd wy gppbip QL huwin 3 0.0
22111200/527 nwwgpyuwd wyy gppbip G< huin 4 0.0
22111200/528 nwwagnUuwd wj gnppbip q< huwin 4 0.0
22111200/529 nwwgpyuwd wy gppkip QL huin 4 0.0
22111200/530 nwugnywd wyy gppbip < huin 2 0.0
22111200/531 nwwigpywd wy gppbp L huin 2 0.0
22111200/532 nwwgpywd w)) gppbip G< hwin 14 0.0
22111200/533 inuignywé wy) gppbp J< huin 60 0.0
22111200/534 inwywgpywé wy gnpphip QL huin 180 0.0
221112007535 inwyuwgnywéd wy| gppbn QL hunn 120 0.0
2211120 nwwgnywd wy gppbp G huiwn 120 0.0
22111200/537 nwwgnywd wy gppbp G hwn 40 0.0
22111200/538 uywgnywd wy) gppkip < hwin 35 0.0
22111200/539 wuwgnywd wyl gpplip < hwiwn 20 0.0
22111200/540 nwwgnpywd w) gppkip QL huwin 150 0.0
22111200/541 nywagnywsd wy gpphip G hwn 40 0.0
22111200/542 wnwwgnywsd wy gpphip L huwwn 10 0.0
22111200/543 nwwgnywd wy gppbin 9< huwtn 15 0.0
22111200/544 nwwgnywsd wy gpphip < huwin 15 0.0
22111200/545 unwjwgndwd wy gpphp G< hun 10 0.0
2211200/546 nywgpywd wy gpphp QL huwn 5 0.0
22111200/547 nwwgpywd wy gpphip Q< huwin 10 0.0
30197236/501 pnRWwwuwy' wwwnynghp q< huwwn 2000 0.0
22451240/570 plutilubp hwdwawjuwghp L huwitn 2000 0.0
22451240/571 plutlubip nhinuwnndu G< huwin 5000 0.0
30192151/501 Yuhp, wywnndwn, nipnuilyniu QL hwin 9 0.0
U juwnwpubp
45461100/501 2kupbinh, shuneinitiph pupwghly Unpnglwt wotuunnwlpttbn qc i 11830140 1 11830.1
453311111 onwithnfudwb uwppbiph wbnwnpdwt wauwmnwlptbp uu il 990000 1 990.0
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